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0001
0002
0003
0004
0005
0006
0007
0008
0009
0oio
ooll
Q012
0013
0014
0015
0016
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o018
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0020
0021
0022
0023
0024
0025
0026
0027
0028
0029
0030
0031
0032
0033
0034
0035
0036
0037
0038
0039
0040
0041
0042
0043
0044
0045
0046
00&7
0048
0049
0050
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cos52
00532
0054
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UL N e

FORMAT (12,

MAIN 05-16-72 12:26.24 PAGE (0001

3F10.5)

FORMAT(1215)
FORMAT(SF12.3)

FORMAT('"}

WRITE(4,5)

DATA ANALYSIS')

FORMAT(3F10.3)

FORMAT{ "MEAN COMPONENTS WRT EXPT FRAME?')
FORMAT ( 'DOWNWIND VECTOR?®)
FORMAT{*'TAU,USTAR,UDSHBR,VGSHBR4WGSHBR ')
FORMAT(*1AUTOCOV UDASH,VDASH,WDASH")

FORMAT(I5,3E12.3)

FORMAT('1AUTOCOR UDASH,VDASH,WDASH*)
FORMAT('1ELEV,AZIWSPD,ML ML ,UDASH,VDASH,WDASH,IC/ML")
FORMAT(*LXCOR UV,UW,VW")

FORMATI(IS,

EEl12.2)

FORMAT (8A4)

FORMAT(2F10.3)
FORMAT('ODT)
FORMAT(3F15.2)
FORMAT(4F10.1)
FORMAT(4F15.1)

FORMAT ('}
FOFMAT('1

FORMAT (IS5,

DIMENSIGN
DIMENSION
DIMENSION
DIMENSION
DIMENSIGN
DIMENSIGON
DIMENSION
DIMENSICN
DIMENSTGN
DIMENSION
DIMENSION
DIMENSION
DIMENSION
RHO=1.293
PI1=3.142
$1=0.
$2=0.
$3=0.
UW=0.
UDSHBR=0,
VDSHBR=0.

CURR=3 . OE_

AUTOCOV FM+TFMY)

XCOR FMY/TFM1,FM2/TFM2')

4E15.3)

X(100),Y(100),2(100)

XX1(1000) XX2(1000)+4XX3(1GCO) +XX4(1000),XX5(1000)
XX&(1000)

DATIME(8)
R1(100),R2(100},R3(100),R4(100),R5(10C),RE(100)
R7(100),R8(100),RG(100)
VDASH(1000)yUWDASE(L1000),XXX(100),YYY(100),222(1G0)
DOWNU(1000),CROSSU(1000),VERTU(3000}),UDASH(1000)
E(1000),A(LQ00),U(1000),FM1(1000),FM2(1000),DU(500)
X1(100),X2(100),Y1(100),Y2(1CO)
SINFI1(100),SINFI2(100),TFMI(1000),TFM2(1CC0)
FFM1(1000),FFM2(1000),FTFMi(10G60),FTFM2(1000)
XP(100},YP(100),2ZP(100)

07

EPSLON=8.8&854E-12

READ(5,17)

DATIME

WRITE(6,17) DATIME
WRITE(8,17) DATIME

READ(5,18)

RUNTIMsH

WRITE(6,18) RUNTIM,H

READ(5,21)

RRR1,PRR2,ALFAl,ALFA2

WRITE(6,21) RRR1,RRR2,ALFAL,ALFAZ
ALFAL=ALFA1%PI/180.

,—//\‘\.. .

.\////

BIVANE PROG
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0056
0057
0058
0059
0060
0061

0Qs62 -

0663
0064
0065
0066
0067
0068
006S
c070
0071
0072
0073
0074
0075
0076
0077
oo7e
0079
caso
0osl

- 0082

0083
0084
00ges5
008é
0087
pose
0089
0090
0091
0092
0093
00c4
0095
0096
0097
0098
0099
0100
0101
0102
0103
0104
C105
0106
0107
0108
0109
0110

140

141

ALFAZ=ALFAZ2*PI/180.
XMI=RRRI%CNS (Al FAl)
YMI=FRERI*SIN(ALFAY)
XM2=RRRZ*COS(ALFA2)
YMZ=RRR2*SIN(ALFA2)
REAG(5,1)11,A1,B1,C1
READ(5,1)12,A2,4B2,C2
READ(5,1)13,A3,B3,C3
READ(5,1)14,A4,B4,C4
READI(5,1)15,A5,B5,C5
READ(5,1)16,A6,B6,C¢

J=€69

K=500

N=0 —
READ(5,2)M,11,12,13,14,15,16,17,18,1¢,110,111
IF(M=9999)1371,132,121

N=N+1

COMP=703./FLOATI(M)
I1=TFIX(FLOAT(IY)%®CCMP)
12=1FIX(FLCOAT(I2)*%COMP)
I3=IFIX{FLOAT(I3)=*CCMP)
I4=TFIX(FLOAT(I4)*CCMP)
IS5=IFIX(FLCAT(IS)*CCMP)
16=IFIX(FLOAT(I15)}%CCMP)
I7=TFIX(FLCAT(I7)%CCMP)
18=IFIX(FLGAT(18)*CCMP)
19=1FIX(FLOATI(IQ)}*CCMP)
I110=]FIX(FLOAT(I10)*COMP)
TI1=IFIX(FLOAT{I11)*COMP)
ECJ)=(AY*FLOAT(I5)+R1)*(C1
E(J+1)=(AL*FLOAT(I11)+BT1}%C}
A(J)=(A2*%FLOAT(I&)+B2)%C2
A(J+I)={A2%FLCAT(I10)+B2)*C2
Fial{J)=(A3FLOAT({I3)+B3)*C3
FMY(U+3)=(A3%FLOAT(I9)+B3)*(C2
FMZ({J)={ A4%*FLOAT(I2)+B&)*C4
FM2(J+1)=(A4*FLOAT(I8B)+B4)*C4
UCJdY=(AS¥FLOAT(I1)+B5)*(5
UCJ+1)=(AS*FLOAT(IT)+R51*C5
DUIK)=(A6xFLOAT(16)+B6E)%C6

J=J=2

K=K=1

GO 70O 130
J=J+2

K=K+1

DO 140 JUN=1,4NN
ECINI=E(J)
ACIUN)I=AL(J)

FML(OJUN)=FM1(J)
FM2(JIN)I=FM2(J)
UGJINY=U(J)
J=J+1

DO 141 KN=1,N
DU (KNM)=DU(K)
K=K+}

PAGE 0002
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0111
0112
0i13
0114
0115
0116
0117
0118
0119
0120
0121
0122
0122
0124
0125
0126
0127
0128
0129
0130
0131
0132
0133
0134
0135
0136
0137
0138
0129
0140
0141
0142
0143
0144
0145
0146
0147
0148
0149

ci50
0151
0152
0183
0154
0155
0156
0157
0158
0159
0160
0161
0162
0163
0164

IV G COMPILER MAIN
L=NN/10
FNN=FLOAT (NN}
IMAX=NN

160

170

206
201

149

150

DO 160 J=1,NN

DOWNUCJI=U(J)*(COS(A(I)*

CRESSU(JI=U(JII*(SINCALY)

05=19-73

P1/7180.))
*P1/180.))

VERTU(JI)Y=ULJI*(SIN(E(J)*PI/180.))

S1=S1+00WNU(J)
§2=S52+CRASSULY)
S3=S3+VERTU(J)
S1=S1/FNN

S2=S2/FNN

S3=S3/FNN

WRITE(6,8)

WRITE(6,7) S1,82,S3
UBAR=SQRT(S1*%2+52%%2)

AVECT=(180./PI )% (ATAN{S2/5S1))

WRITE(649)
WRITE(647) UBAR,AVECT
DO 170 J=1,NN

12:29.24%

UDASH{J)=(U(J)*(COS((A(J)=AVECT)*(PI/180.))))=UBAR

UDSHBR=UDSHBR+UDASH(J)

VDASH{J)=(UCJI)X(SIN((A({J)=AVECT)*(P1/180.))))

VOSHBR=VDSHBR+VDASH(J)

UWDASH(J)=UDASH(J)*VERTU(J)

UW=UW+UWDASH{ J)
UWBAR=UW/ENN
UDSHBR=UDSHBR/FNN
VDSHBR=VDSHBR/FNN
TAU==RHO*UWBAR
IF(UWBAR)200,2C00,201
UWBAR==UWBAR
USTAR=SQRT (UWBAR)
WRITE(6410)

WRITE(643) TAU,USTAR,UDSHBR,VDSHBR,53

WRITE(6,14)
J=1
K=1

PAGE 0003

WRITE(6,3) E(J),A(JY,UCJ)yFMLOJ),FM2()),UDASH(J),VDASH(J) 4VERTU(J)

1,DU(K)
J=J+1

WRITE(6,3) E(J) A(D)ULJ)FMICJ) FM2(J),UDASH(J),VDASH(J),VERTU(J)

J=J+1

K=K+1

IF(N-K)}150,149,149
CONTINUE

CALL AUTO(UDASH,NN,L,RI)
CALL AUTO(VERTU,NNyL4R2)
CALL AUTO(VDASH,NN,yL,FE3)
WRITE(&6,11)

WRITE(6,12)(J,RICJ)IyR3(J),R2(J)yJI=1,L)

RR1=R1 (1)
RR2=R2(1)
PR3=R3(1)
DO 180 J=1,L
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0165
0166
0167
0le8
0169
0170
0171
0172
0173
0174
0175
017é
0177
0178
0179
0180
0isl

o182

0183
0184
0185
0186
0187
0188
0189
01%0
0191
0ig2
0193
0194
01g9%
0196
0197
0198
0199
0200
0201
0202
0203
0204
0205
0206
0207
0208
020¢
0210
0211
0212
0213
0214
0215
0216
0217
02i8
0219
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300

508

502

501

510
511
503

500

600

602

2000

R1(J)=R1(JI/RR1

R2(1Vy=R? (1) /RPR?

R3(J)=R3(J)/RR3

WRITE(6,13)
WRITE(6,12)(JyRL(J)4R3(J),R2(J)+J=1,L)
CALL CROSS(UDASH,VDASH,NN,L,R4,4R5)
CALL CROSS(UDASH,VERTU,)NN,L4R6,4R7)
CALL CROSS(VDASH,VERTU,NN,L+R8,R9)
DO 300 J=1,L
R4(J)=R&(J)/SQRT(RR1*¥RR3)
R5(J)=R5(J)/SQRT(RRI%RR3)
R6(J)=R6(J)I/SQRT(RRI*RR2)
R7T(UJI=RT(J)/SQRT(RR1*RRZ)
R8(J)=R8B8(J)/SQRT(RR2%ER3)
R9(J)=RI(J)/SQRT(RRZ*RR3)

CONT INUE

WRITE(6,15)
WRITE(H416)(JyR4(J)yR5(J)4yRELI)WRT(J)}),RB(JII},RG{J),J=1,L)
DT={RUNTIM*60.)/FNN

WRITE(6,19)

WRITE(E,7) DT

WRITE(8,7) DT

Q=CURR*DT

I=1

T=DT*(FLOAT(I))

FLDL1=0.

FLDLZ2=0.

I1=1

Jd=l=11+1

IF(JJ)500,500,50!
XCIT)=U(JJ)*FLOAT(IT)*DT*COS(A(JI)I*=P1/180.)
Y(II)=X({II)*(TAN(A(JII*(PI/180.)))

SZUIT)=H4 (XTI *(TAN(E(JI)*(PI/180.))))

IF(Z(II)-0.2)510,510,511
Z(I1)=0.2
IF(X{I1}~50.,)503,503,500
IT=11+1

GO 70 502
CONTINUE
MM=ITI+1

DO 600 J=2,MM
XXX(J)=x{J=1)
YYY(di=y(J-1)
227(3)Y=20J=-1)
X(1)=0.
Y(11=0.

Z(1)=H

DO 602 J=2 MM
X(J1r=XXX(J)
Y(J)=YYY(J)
Z(J)1=2220J)

DO 20G0 J=1,MM
XPUJI=x{J)
YPUJ)=Y(J)
IPtdI=2()

PAGE 0004
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0220
0221

0222
0223
0224
0225
0226
0227
0228
0229
0230
0231
0232
0233
0234
0235
0226
0237
0238
0239
0240
0241
0242
0243
0244
0245
0246
0247
0248
0249
0250
NE51
0252
0253
0254
0255
0256
0257
0258
0259
0260
0261
0262
0263
0264
0265
0266
0261
0268
0269
0270
0271
02712
0273
0274

2002
2001
2003
2004
2006
2005

2010

1000
i0C1
1002
10063

601

509

1100

1101

DO 2010 J=1,MM

TEIYPL. 1N =10.12007,200%.2002
YP{J)=10.
IF(YP(J)+10.)2003,2C03,2004
YP(J)==10.
IF(ZP(J)=20.)2005,2005,200¢
LP{J)=20.

CONTINUE

CONTINUE

WRITE(B) I +MMy(XP(J),YP(J)yZIP(J)J=1,MM)
DO 601 J=1,11

X1 =X(J)+((X{J+1)=X{J))/24)=XM)

XZ2(J)=X1{J)+XMi=XMZ

YI(IY=Y(JY+{(Y(J+L)=Y(J))/2.)=YM]
YZ(J)=Y1(J)+YMI--YM2
R1I(JY=SQRT (XL (JY*#2+Y1(J)%&2+7(J)%%2)
R2{J)=SQRTIX2(J)*%2+Y2(J)*%2+7(J)*%2)
SINFIL(J)=Z(J)/RI(JY '
SINFIZ2Z(J)=2{J)/R2(J)
RL(J)I=R1(J)*%2

R2(JI=R2(J) %2
1IF(R1(J)-1.)1000,1000,1001
R1(J)=1.
IF(R2(J3¥-1.)10G2,1002,1002
R2(J)=1.
FLOLI=FLDLLI+(Q*SINFIL(J))/(Z.*%PI*EPSLON%RI(J))
FLDL2=FLOL2+(Q*SINFI2(J))}/(2.%PI%EPSLON%R2(J))
CONTINUE

TFML(I)=FLDLY

TFM2(1)=FLDL2

I=1+1

IF(I-IMAX)508,5C8,50¢%

CONTINUE

NN1=NN-1

DO 1100 J=2,NN1
FFML(J)=0.25%FMI{J=1)1+0.5%FM1(J)+0.25%FML1(J+1)
FFM2(J)=0.25%FM2(J=1)+0.5%FM2(J)+0.25%FM2(J+1)
FTFMLI(J)=0.25%TFML(J=1 )40, 5%TFML(J)+0.25%TFMLI(J+1)
FTFM2(J)=0.25%TFM2{J=1)+0. 5% TFM2(J)+C.25%TFMZ (J+1)
CONTINUE '
DO 1101 J=2,NN1

FMI(J)I=FFM1(J)

FM2(J)=FFM2{J)

TFMYI(J)=FTFML(J)

TEM2(J)=FTFM2(J)

CONTINUE

CALL AUTO(FM1,NN,L,R1)

CALL AUTO(TFMI  NNyL,R2)

CALL AUTO(FMZ,NN,L,R3)

CALL AUTO(TFM2,NN,L,R&)

WRITE(6,23)

WRITE(6425) (JyRI(JI4R2(J)4RI(J)yRE(J)yJ=1,4L)
RR1=R1(1)

RR2=R2(1)

RR3=R3(1)

p— ——— =
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0275
0276
0277
0278
0279
0280
0281
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0284
0285
0286
0287
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0289
0290
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0292

0293

0294
0295
0296
0297
0298
02%9
0300
0301
0302
0303
0304
0305
0306
0307
0208
030¢
0310
0311
0312
0313
0314
0315
0316
0317
0318
031¢
0320
0321
0322
0323
0324
0325
0326
0327
0328
0329
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700

710

802
801

800
805
804

803
711

Q02
901

900
905
904

S03
712

MAIN 05-16-73 12:29.24 PAGE GOOQé

RR4=R% (1)
CALL CROSS(FM1,TFM1,NN.,L.RS.FA)

CaLtL

CROSS(FMZ,TFM2 yNN,L,R7,4RB)

DO 7C0 J=1,L
R5(J)=R5(J)/SQRT(RR1%RR2)
R6(J)=R&(J)/SQRT{RR1%*RR2)
R7(J)=R7(J)/SQRT(RR3*RR4)
R8(J)=R8(J)/SQRT(RR3*RR4&)
CONTINUE

WRITE(6,24)

WRITE(6925) (JyR5(J),RE(J)4RT(J),RB(J)yJ=1,L)
DO 710 L=1,NN
XXL(L)={FLOAT(L=-1)}=*DT
FMMX1=1.

DO 711 I=1,NN
TF(FM1(1)~-FMMX1)800,800,801
FMMX1=FMMX1%1.1

GO TO 802

CONTINUE
IF(TFM1(1)=FMMX1)8032,802,804
FMMXL=FMMX1%*1,1

GO TO 805

CONT INUE

CONTINUE

FMMX2=1.

DO 712 I=1,NN
IF(FM2(1)=FMMX2)S0C,500,501
FMMX2=FMMX2%1.1

GO TO S0z

CONTINUE
IF(TFM2({1)-FMMX21)902,903, 2904
FMMX2=FMMX2%1.1

GO TO 905

CONTINUE

CONTINUE

DO 713 I=1,NN

FMICI)=FMI(I)/FMMX]

TEMLOI)=TFM1(I)/FMMX1
FM2(T1)=FM2(1)/FMMX2
TEM2(U1)=TFM2(1)/FMMX2
AXLTH=(FNN%*DT}/10.0
XP0S=0.5
XP0S2=XPOS+AXLTH+2.0
XPOS3=XPCS+0.5

CALL
CALL
CALL
CALL
CALL
CALL
CALL

CALL’

CALL
CALL
caLL

PLTXMX({150.)

PAXIS{XPOS,0.54'TIME (SEC)*',~104AXLTH,0.,0,0.0,10.0,1.0)
PAXIS{XPOS,y0.54'ARB UNITS'y9,10.0,606.C4y0.0,041,1.0)
PSYMB(XP0S3,1.0,-0.1,DATIME,C.C,22)
PLTOFS(0.0410.0,0.0,0.14%XP0S5,0.5)
PLINE{XX1,FM1,NN,1+4,0,1.,0)

PLINE(XXL,TFML ,NNel,4y1,1.0)

PAXIS(XPOS240.5,*TIME (SEC)',~-10,AXLTH,0.0,0.0,10.0,1.0)
PAXIS{XPOS2,0.5,'ARB UNITS$',9,10.0,90.040.0,0.1,1.0)
PLTOFS{0.0,10.0,0.0,0.,1,4XP0S2,0.5)
PLINE(XXLyFM2,NNy1+4+2,1.0)
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0330 CALL PLINE(XX1sTFM24NNyly4,y3,1.0)
0331 CALL PLTEND

0332 ST0P

0333 END

TOTAL MEMCRY REQUIREMENTS 01BCD8 BYTES
EXECUTION TERMINATED

12:29.24%

PAGE 0007
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0001
0002
0003
0004
0005
0006
0007
0008
0009
0010
0011
Q012
0013
0014
n015
0016
0017
ools
0019
coz0
0021
0022
0023
002¢
0025
0026
0027
0028
0Q2¢
0030
0031
0032
0033
0034
00325
0036
0037
0638
0039
0040
0041
0042
0043
0044
0045
0046
0047
0048
0049
0050
0051
0052
0053
0054
0055

IV G COMPILER MAIN

e BN o)

10

b
&

13
14
15
16
17
18
20
22
23
24
26
27
28
29
30
32

- -

34

490
49
50

51

53
60

05-19-73

FORMAT(I5,3F15.5)

FORMAT(1215)

FORMAT ("OACTUAL VALUES®')
FORMAT(14,4F9.1,3F7.2,4F9,.1)

FORMAT (*1 MEANS,STD.DEV.AND COEFF.VAR')
FORMATI(F10.,2y4F10.1,2F10.2,4F10.1)
FORMAT('ORI')

FORMAT(1F11.3)

FORMAT('0ST')

FORMAT ('1AUTOCOV,FM1,FM2,FM3,FM4 ")
FORMAT(14,4E15.3)
FORMAT('1AUTOCOV,U,DU,DT"*)
FORMAT('1LAUTO-DERIVED STD DEV!')
FORMAT("IXCOR,FML/FM2,FN1/FM3,FMI/FMG4)
FORMAT(14,6E315.3)
FORMAT(*1XCOR,FM2/FM3,FM2/FM&,FM3/FM41)
FORMAT (*1XCOR¢FM1/U,FM1/DU,FML1/DT")
FORMAT(Y1XCGF,FM2/U,FM2/DU,FM2/0T")
FORMAT ("1XCORFM3/UyFM3/DU,EM3/DT")
FORMAT ( *1XCOF,FM&4/U,FM&/DU,FM4&/DT ") i

PACE 0001

DATA PROG

FORMAT (*1XCOR,U/DU,U/DT,0DU/DT")

FCRMAT (14,

3E15.3)

FORMAT ("31AUTOLENGTH?')
FORMAT(7F10.2)

FORMAT (11F10.3)
FORMAT ( 'RUNTIM')
FORMAT(1F10.1)

FORMAT (4A4)

FORMATI(IL)

FORMAT(*LDATA ANALYSIS')

DIMENSION
DIMENSICN
DIMENSION
DIMENSTION
DIMENSION
DIMENSIGN
DIMENSION
DIMENSION
DIMENSICN
DIMENSION
DIMENS ION
DIMENS ION
DIMENSION
DIMENSION
DIMENSION
DIMENSION
DIMENSION
DIMENSION
DIMENSION
DIMENSION
DIMENSIGN
DIMENSION
DIMENSION

DATIME(4) .
FM1(1000),FM2(1000),FM3(1000),FM&(1000)
U(10c0}),DU(1000),DT(1000) ‘
R1(20GG),R2(200),R3(200),R4(200),R5(200),R6(200),R7(200)
R101(200),R3102(200),R103(200),R104(200),R105(200)
R106 (200),R107(200),R1C8(200),R1C9(200),R110(200)
R111(200),R112(200)
R200(200)+R201(200),R202(200),R203(200),R204(200)
R205(200)
R2z10(200),R211(200),R212(200),R213(200),R214(200)
R215(200)
R220(200),R221(200),R222(200),R223(200),R224(200)
R225(200) _ .
R230(200),R231(200),R232(200),R233(200),R234(200)
R235(200)

R3G60C(2G0) ,R301(200),R3G2(20G),R303(200),R304(200)
R305(200)
FMS1(1000),FMS2(1000),FMS3(1000),FMS4(1000)
X1(2C0),Xx2(200)
XX1(1000),XX2(1000),XX3(1000),XX4(1000)

XX5(1000) ,XX6(1000),XX7(10G0)
R102R(2G0)+RE04R(20C) ,R10&R(200)
R108R(200),R110R(200),R112R(200)

WRITE(4,60)

READ(5,51)

DATIME

ol
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C058
NNs7
0058
005¢9
0060
0061
0052
0063
0064
065
0066
0067
0068
0068
0070
0071
0072
0073
0074
0075
Do7e
0077
0078
0079
0080
0081
o082
0083
D084
0085
0086
0087
ooss
gose
0090
0ocl
0092
0093
0094
0095
0096

- 0097

0098
0099
0100
0101
0102
0103
0104
0105
0106
0107
0108
0109
0i10

Iv G COMPILER MAIN 05-19~-73

102

104

105

106

107

108

105

110

111

WRITE(4,5%) DATIME
EEM‘\(_S:S(\.\ QUNT[M
WRITE(4,49)
WRITE(4,50) RUNTIM
RUNTIM=60.0%RUNTIM
READ(5,53) IDT
WRITE(4,9)

J=0
READ(5,6)1,A,8,C
J=J+1

G0 TD0(101,102,1C3,104,1C5,10¢4,107,1C8,109,210,111),1

Al=A
Bi=38"~
ti=C

GO TO 100
A2=A

B2=8

c2=C

GO TO 100
A3=A

B3=8B

C3=C

GO TO 100
A4 =A
B4=8
C4=C

GO TO 100
AS5=A

B85=8

C5=C

GO TO 100
Ab=A

B6=8

c6=C :
GO TO 100
AT=A
B7=8
C7=C

GO TO 100
A8=A
B8=8
€c8=C

GO TO 100
A9=A

B9=R

c9=C

GO TO 100
Al0=A
B10=8
c1o=C

GO TO 100
All=A
Bii=8
Cil=C
IF(J=-311)126,120,126

12:34,34

PAGE 0002



Dataset Limited

FORTRAN IV G COMPILER MATIN

0111
0112
0112
0114
0115
0llé
0117
0118
0i1¢°
0120
0121
0122
0123
0124
0i25
0126
0127
0128

0129

0130
0131
0132
0i33
0134
0135
0136
0137
0138
0139
0140
014l
0142
0143
0144
0145
0146
0147
0148
0149
0150
0151
0152
0153
0154
0155
0156
0157
0158
0159
0160
0161
0162
0163
0164
0165

126
120

130

131

601

600
602

P
W
Ny

140

141

05=-19~72 12:34,.34
STOP

CONT INUE

J=699

K=500

NFND=0
READ(S5,7)My11,12,12,14,15,16,17,18,16,110,111
IF(M=9999)131,122,121
NFND=NFND+1
COMP=703.0/FLOAT (M)
ULK)I=(AL*FLOAT(IY)+B1)*Cl
U(K)=U(K)=COMP
DU(K)=(A6*FLOATI(I6)+B6)#CE
DU(K)=DU(K)*COMP
IF(1=-IDT)600,6C1,5600
DT{K)=(A7*FLCOAT(I7)+B7)*C7

GO TO 602
DT(K)==(AT*FLOAT(I7)+B7)%(C7
CONTINUE

DT(K)=DT(K)*COMP
FML(J)=(A2%FLOAT(I11)+B2)%C2
FMI(J)I=FML(J)*COMP .
FM1(J+1)=(A8%FLOAT(15)+BB)*C8
FML(J+1)=FM1(J+1)*CCMP
FM2(J)=(A3%FLOAT(I10)+B2)%C3
FM2{J)=FM2 (J)*COMP
FM2(J+1)=(AG*FLOAT{I4)+RGQ)*(G
FM2(J+1)=FM2(J+1)*CCMP
FM3(J)=(A&4%*FLOAT(19)+B4)*C4
FM2(J)=FM3 (J)*COMP
FM3(J+1)=(A10O%FLOATI(I3)+B10)#C10
FM3(J+1)=FM3(J+1)%CCMP
FM4(J)=({AS%FLOAT(I8)+B5)*C5
FM&4 (J)=FM4 (J)*CCMP
FM&4(J+1)=(AL1%FLOAT(I2)+B11)%*Cl1
FM4(J+1)=FM4(J+1)%CCMP

J=J=2

K=K=1

GO TO 130

J=J+2

K=K+1

NM=2*NFND

L=NM/10

LS=L/2 i
DO 140 JN=1,NM

FML(JN)=FM1(J)

FM2{JUN)=FM2(J)

FM3(JIN)=FM3(J)

FM& (JIN)=FM4(J)

J=J+1
DC 141 KN=1,NFND
U(CKN)=U(K)

DUIKN)I=DU(K)
DT (KN)=DT(K)
K=K+1

D1=8.0

PAGE 0003
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FORTR AN

0166
0167
0i68
0169
0170
0171
0172
0173
0174
0175
0176
0177
0178
0179
0180
0181
0182
0183
0184
0185
0ig86
0187
0188
0189
0190
0191
0192
0193
0194
0165
019¢
0197
0198
0199
0200
0201
0202
0203
0204
0205
0206
0207
0208
0209
0210
0211
0212
0213
0214
0215

0216
0217
0218
0219

Iv ¢ COMPILER MAIN 0&=-19~-73

701
702

7C3
704

705
706

707
700

801
802

803
804

805
800

149

Di=01/2.0
D2=C1%*200.0
D2=D2/10.0
D3=C2%200.0
03=D3/10.0
D4=C3%200.0
D4=04710.0
D5=C4%200.0
D5=05/10.0
D6=3.5
D6=D6/2.0
D7=3.5
D7=D7/2.0
NMA=NM=1
NFNDA=NFND=1
DD 700 I1=2,NMA .
02=({FMI{I=1)+FML(I+1))/2.0)=FML (1)
IF(D2-Q2)70C1,7C2,702
FMI(I)=(FML(I=1)+FM1(T+1))/2.0
CONTINUE
03=((FM2(I-1)+FM2(1+1))/2.0)=FM2(1)
IF(D3=-03)703,704, 704
FMZ(1)=(FM2{I-1)+FM2(1+1))/2.0
CONTINUE
Q4=((FM3(I-1)+FM3(1+1))/2.0)=FM3(1)
IF(D4=-04)705,766,706
FM3(I)=(FM3(I=1)+FM3(I+1))/2.0
CONTINUE

0S=( (FM&(T=1)+FM&(TI+1))/2.0)=FM&(T)
IF(D5-Q5)7C7,700,700
FM4(I)=(FM4(I=1)+FM4(1+1))/2.0
CONTINUE

DO 800 I=2,NFNDA
Ql=((U(I=-1)+U(141))/2.0)=U(T)
IF(D1-Q1)801,802,802
UCD)=(U(I=1)+U(I+1))/2.0

CONT INUE
Q6=((DU(I-1)+DU(I+1))/2.0)-DU(I)
IF(D5-0Q6)803,8C4,804
DU(IV=(DU(I=-1)4DU(I+1))/2.0
CONTINUE
Q7=((DT(I=31)1+DT(I+1))/2.0)=DT(])
IF(D7~-Q7)805,8C0,800
DT(I)=(DT(I=-1)14DT(I+1))/2.0
CONTINUE

FNM=FLOAT(NM)

FNFND=FLOAT(NFND)

J=1"

K=1

12:34,34

PAGE CQO04

WRITE(4,10) KyFM1(J),FM2(J)FM3LJ)yFM&LI)yU(K)Y,,DU(K)DT(K),FMI(J+1

V) FM20J+1) yFMI(J+L) s FM4(J+T)

IF{K=NFND)150,151,15]
J=J+2

K=K+1

GG TO 149



Dataset Limited

WRITE(4,12) SM1,SM2,SM3,SM4&,SM5,5VM6,SMT7,SM8,SVMG,SMLO, SM11

FORTRAN IV G COMPILER MAIN 05-16~73
0220 151 SM1=0.0

0221 SM2=0.0

0222 SM3=0.0

0223 SM4=0.0

0224 SM5=0.0

0225 SM6=0.0

0226 SM7=0.0C

0227 SM8=0.0

0228 SMS=0.0

0229 SM10=0.0

0230 SM11=0.0

0231 DO 160 J=1,NM

0232 SM2=SM2+FMi (J)

0233 SM3=SM3+FM2(J)

0234 SMA=SM4+FM3(J)

0235 160  SM5=SMB+FM4(J)

0236 DO 161 K=1,NFND

0237 SMY=SM1+U(K)

0238 SM6=SM6+DU (K)

0239 161 SM7=SMT7+DT(K)

0240 SM1=SM1/FNFND

0241 SM2=SM2/FNM

0242 SM3=SM3/FNM

0243 SM4=SM4/FNM

0244 SM5=SM5/FNM

0245 SM&=SMb6/FNFND

0246 SM7=SM7/FNFND

0247 WRITE(4,11)

0248

0249 VAR1=0.0

0250 VAR2=G.GC

0251 VAR3=0.0

0252 VAR4=0.0

0253 VAR5=0.0

0254 VAR&E=0.0

0255 VAR7=0.0

0256 VARS8=0.0

0257 VAR9=0.0

0258 VAR10=0.0

0259 VAR11=0.0

0260 DO 170 J=1,NM

0261 VAR2=VAR2+ (FM1(J)=SM2) %2
0262 VAR3=VAR3+(FM2{J)=SM3) %2
0263 VAR4=VARL+ (FM3{J)=SMG4 ) %%2
0264 170 VARS5=VARS+ (FM&4(J)=SNM5) %2
0265 DO 171 K=1,NFND

0266 VARLI=VARI+(U(K)=SM1)**2
0267 VAR6=VARGE+ (DU{K)=SME) %42
0268 171 VAR7=VART7+{DT(K)=SMT ) %*2
0269 SD1=SQRT(VAR1/FNFND)
0270 SD2=SQRT(VAR2/FNM)

0271 SD3=SQRT(VAR3/FNM)

0272 SD4=SQRT (VAR4/FNM)

0272 SD5=SQRT(VARS/FNM)

0274 SD6=SQRT(VAR&/FNFND)

12:34.34

PAGE 0005
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FORTRAN IV G COMPILER

0275
D276
0277
0278
027¢
0280
0281
0282
0283
0284
0285
0286
0287
0288
0289
0290
0291
0292
0293
0294
0295
0296
0297
0238
029¢
0300
0301
0302
0303
0204
0305
0306
0307
p3e8
6309
0310
0311
0312
0313
0314
0215
0316
0317
0318
031¢
0320
0321
0322
0323
0324
0325
0326
0327
0328
0329

MAIN

SD7=SQRT{VART7/FNFND)

WRITF(4,12)

Cvi=8D1/SM1
Cv2=Sp2/SM2
Cv3=SD3/5M3
Cva=5D4/SM4
Cv5=SD5/SM5
CV6=5D6/5SM6
Cv7=SD7/SM7

WRITE(4,40)

6=9.81
T=285.0

DELZ=

7.0

GAMMA=0,01

DELU=
DELU=

SM6/DELZ
DELUH*%*2

DELT==S5M7/DELZ
RI=(G*(DELT+CAMMA) )/ {T*DELUV)
WRITE(4,13)
WRITE(4,14) RT
ST=RUNTIM/FNFND
ST=S7/2.0
WRITE(4,15)
WRITE(4,14) ST

CALL
CALL
CALL
CALL
CALL
CALL

CALL

AUTO( FM1,NM,L,R2)
AUTO(FMZ4yNM,L,R3)
AUTO(FM3,NM,L,R4)
AUTO(FM4 gNM,L4RS)

AUTO(U,NFND,LS,R1}
AUTO(DU,NFND,LS,RE)
AUTO(DT4NFNDyLS,4R7)

SMA1=SQRT(R1(1))
SMAZ2=SQRT(R2(1))
SMA3=SQRT(R3(1))
SMA4=SQRT{R4(1))
SMAS5=SQRT(R5(1))
SMA6=SQRT(R&6(11})
SMAT=SQRT(R7{1}))
WRITE(4,16)

05=-19-73

SMY.SN2,.,8N3.8N4.SNR. &P

[l

Cvi,Cv2,CV3,CV4,CV5,CVse,CVT

WRITE(4,17)(I,R2(1)4yR3(I)4R&4(T)R5(1I),I=1,L)

WRITE(4,18)

WRITE(4,32)(1991(f)pRé(I),P7(1)11=1,LS)

WRITE(4,20)

WRITE(4,12) SMA2,SMA3,SMA4,SMA5,SMAL,SMAG,SMAT

RR1=R1(1)
RR2=R2(1)
RR3=R3(1)
RR4=R4 (1)
RR5=R5(1)
RR6=R6(1)
RR7=R7(1)

DO 180 I=1,L
R2(I)=R2(I)/RR2
R3(I)=R3(1)/RR3
R4{1)=R4(1)/RR4%

PAGE 0006



FORTRAN IV C COMPILER

0330
0331
0322
0333
0334
0335
0336
0337
0338
0339
0340
0341}
0342
0343
0344
0345
0346
0347
0348
0349
0350
0321
03252
0353
0354
0355

Dataset Limited

0356
0357

0358
0359
0360
0361
0362
0363
0364
0365
0366
0367
0368
0369
0370
0371
0372
0373
0274
0375
0376
0377
0378
037¢
0380
0381
0382

i80

181

1¢0

200

MATN 08=-1G6=72

R5{1)=R5(1)/RR5
DO 181 T=1.LS

F1(I)=R1(I)/RR1
R6(T)=R&(I)/RR6
RT7T(I)=R7(I)/RRT7

CALL
CALL

caLl

CALL
CALL
CALL

CRGSS (FM1,FM2,NM,L,R101,R102)
CROSS(FM1,FM3,NM,L,R103,R104)

"CROSS(FM1,FM4,NM,L,R105,R106)

CRCSS(FM2,FM3,NM,L,R107,R108)
CROSS(FM2,FM&,NM,L,R10GS,R110)
CRCOSS (FM3,FM4,NM,L,R111,R112)

DO i90 I=1,L

RLO1(I)=R101(I)/(SMA2%SMA3)
P1O2(1)=R102(T)/(SMA2%SMA3)
PTOZ(1)=R103(1)/(SMA2%SMAG)
PLO4(I)=R104(1)/(SMA2*SMAL)
R105(1)1=R105(1)/(SMA2%SMAS)
R1061(1
R1O7(I

I

I

=R106(1)/(SMA2%SMAS)
RLIO7(T)/(SMA3%SMA4)
R
R

R108(
RIO9(

108(1)/7(SMA3%S5MA4)
109(I)/(SMA3%SMAS)
RIL1O(TI)=RIYI0O(I)/{SMA3%SMAS)
R11I(I)=RI1IL(I)/(SMA4*SMAS)
FLL12(1)=R112(T)/(SMAL%XSMAS)
WRITE(4,22)

12:34.34 PAGE 0007

WRITE(4,23)(1,R101(1),R102(1),R10O3(I),R204(1),R1I05(I)yRI06(T),y1I=1,

1L)
WRITE(4,24)

WRITE(4,23)(I,R107(I),R108(I),R109(I),RIIO(I),RIZI(]I),R112(1)},I=1,

1L)

J=1"

MNM=NM=1

DO 2CO JN=1,MNM,2
FMSL(J)=(FML(JINI+FMI(JN+1)1/2.0
FMS2(J)=(FM2 (JN)+FM2(JN+1)) /2.0
FMS3(J)1={FM3(JN)+FM3(JIN+1)) /2.0
FMS4(J1=(FM&(INI+FM4 (IN+1)) /2.0
R tas !

CALL
CALL
CALL
CALL
CALL
CaLL

CALL

CALL
CAaLL
CaLL
CALL
CaLL
CALL
caLL
CALL

CRASS(FMSI UyNFND,LS,R200,R201)
CROSS(FMS1+DUysNFND,LS,R202,R202)
CROSS(FMS1,DT,NFND,LS4R204,R205)
CROSS(FMSZ,UyNFND,LS,R210,R211)
CROSS(FMS2,DUyNFND,LS,R212,R213)
CROSS(FMS2,07,NFND,LS,R214,R215)
CROSS(FMS2,U,NFND,LSsR220,R221)
CROSS(FMS3,DU,NFND,LS,R222,R223)
CROSS(FMS3,CT,NFND,LS,R224,R225)
CROSS{FMS4,UyNFNDyLS,yR230,R231)
CROSS(FMS4,DUNFNDyLS,R232,R233)
CRCSSt(FMS44DT,,NFNC,LS,R234,R235)
CRGSS(U,DUyNFNDyLS,4R300,R301)
CRCSS(U,DT,NFND,LS,yR302,R303)
CROSS(DUDTHNFNDyLS,R304,R305)

DO 210 J=1,LS
R200(J)=R200(J)/(SMAZ2%SMAL)



Dataset Limited

FORTRAN IV C COMPILER MAIN 05~1G6-73 12:34.34 bAGE oocs

0383
03R4
0385
038¢
0387
0388
G389
0390
0391
0392
0393
0394
0395

210

R201(J)=P202(J)/(SMA2%SMAL)
R202 (1 1VY=R202 LAY/ SMADXCMAA)
R203(J)=R203(J)/(SMA2%*SMAG)
R204(J)=R204(J)/(SMA2%SMAT)
R205(J)=R205(J)/ (SMA2*SMAT)
R210(J)=R210(J)/(SMA3%SMAL)
P211(J)=R211(J)/{SMA3%SMAL)
R212(J)1=R212(J)/(SMA3%SMAG)
F213(J)=R213(J)/(SMA3%SMASL)
R214(J)=R214&(J)/(SMA3%XSMAT)
R215(J)=R215(J)/(SMA3%SMAT)
R220(J)=R22C(J)/(SMA4*SMAL)
R221(J)=R221(J)/(SMA4%SMAL)
R222(J)=R222(J)/(SMA4*SMAL)
R223(J1=R223(J)/(SMAL*SMAGL)
R224(J)=R224(J)/ (SMA4*SMAT)
R225(J)1=R225(J) /{SMA&4ESMAT)
R230(J)=R230(J)/(SMA5%SMAL)
R231(J)=R231(J)/(SMAS%SMAL)
R232(J)1=R232(J)/(SMAB%XSMAL)
R233(J)=P233(J)/(SMAS%SMAL)
R234(J)=R234(J)/(SMAS%SMAT)
R235(J)=R235(J)/(SMA5%SMAT)
£300(J)=R300(J)/(SMAL*SMAL)
R301(J)=R301(J)/(SMAL%SMAG)
R302(J)=R302(J)/(SMAL*SMAT)
R303(J)1=R303(J)/(SMAL*SMAT)
R304(J)=R304(J)/(SMA6XSMAT)
R305(J)=R305(J)/(SMA6*SMAT)
WRITE(4,26)
WRITE(4,23)(1,R200(1),R201(1),R202(1),R203(19,R204(1),R205(T),1=1,
1LS)

WRITE(4,27)
WRITE(4,23)(I1,R210(1),R211(I1)4R212(1V,R213(1),R214(1),R215(I),I=1,
1LS)

WRITE(4,28)
WRITE(4,23)(1,R220(1),R2231(1),R222(1),R223(1),R224(1),R225(1),1=1,
1LS)

WRITE(4,29)
WRITE(4,23)(1,R230(1),R231(1),R232(1),R233(1),R234(1),R235(1),I=1,
1Ls)

WRITE(4,30)
WRITE(4,23)(1,R300(1),R301(1),R302(1)4R303(1),R304(1),R305(1),1=1,
LSy

AL1=0.0

AL2=0.0

AL3=0.0

AL4=0.0

AL5=0.0

AL6=0.0

ALT7=0.0

AL8=0.0

ALS=0.0

AL10=0C.0

AL11=0.0



Dataset Limited

FORTRAN IV G COMPILER MAIN 05=16-73
0433 DO 220 I=1,L

0424 AL2=AL2+(R2(I)1*ST)

0435 AL3=AL3+(R3(I1)%ST)

0436 AL4=AL&+ (R4 (1)%ST)

0437 220 ALS=ALS+(R5(11*ST)

0438 DO 221 I=1,LS

0439 ALI=AL1I+(RI(I)%*2,0%ST)
0440 AL6=AL6+(RE(II*Z.0%ST)
0441 221 AL7=ALT+(RT(I)1%2,0%ST)
0442 WRITE(4,33)

0443 WRITE(4,34) AL2,AL3,AL4,ALS,AL1,ALG6,ALT
0444 VMAX1=200.0%C2

0445 VMAX2=200.0%C3

0446 VMAX3=200.0%C%

0447 VMAX4=200.0%C5

0448 IF(VMAX1=VMAX2)14C00,400,401
0449 400 VMAXF=VMAX2

0450 GO TO 411

0451 401 VMAXF=VMAX1

0452 411 IF(VMAXF=VMAX3)402,402,402
0453 402 VMAXF=VMAX3

0454 403 IF(VMAXF=-VMAX4)404,404,405
0455 404 VMAXF=VMAX4

0456 405 CONTINUE

0457 VMAXF=VMAXF*1.20

0458 DO 410 J=1,NM

0459 FM1(J)=FML(J)/VMAXF

0460 IF(FM1(J)=1.061606,5C0,901
0461 901 FM1{J)=1.0

0462 900 FM2(J)=FM2(J)/VMAXF

0463 IF(FM2(J)=1,C)602,902,903
0464 903 FM2(J)=1.0

0465 902 FM3(J)=FM3(J)/VMAXF

0466 IF(FM3(J)=-1.0)%04,904,905
0467 905 FM3(J)=1i.0

0468 904 FM&4(J)I=FM4(J) /VMAXF

0469 IF(FM4(J)=1.0)410,410,S06
0470 906 FM4(J)=1.0

0471 410 CONTINUE

0472 DO 420 J=1,NFND

0473 utJr=utJ) /8.0

0474 IF{U(J)=1.0)91G,510,911
0475 911 UM =1.0

0476 910 DU(JI=DU(J)/3.5

0477 IF(DU(J)=1.0)%12,512,913
0478 913 DU(JI=1.0

0479 912 DT(J)=DT(J)/2.

0480 IF(DT(J)=1.0)420,420,914
0481 914 DT(J)=1.0

0482 420 CONTINUE

0483 DO 500 J=1,L

0484 500 X1(J)=FLOAT(J=1)%ST

0485 DD 501 J=1,LS

0486 501 X2(J)=FLOAT(J=1)%ST*2.0
0487 DO 502 J=1,NM

12:24.34

PAGE G009
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FORTRAN IV G COMPILER

0488
0489
0490
0491
0492
0493
0494
0495
0496
0497
0498
040¢
0500
0501
0502
0503
0504
0505
0506
0507
0508
0509
0510
0511
0512
08513
0514
0515
0516
0517
0518
0519
0520
0521
0522
0523
0524
0525
0526
0527
0528
0529
0530
0531
0532
0533
0534
0535
053¢
0537
05328
053¢
0540
0541
0542

502

503

504

611
€10

MAIN CE-19-73 12:34.34 PAGE 0010

XX1(J)=FLOAT (J=1)=*ST

XXzt
XX31{

J)=FLOAT (J=1)*ST+(ST/6.0)
J)=FLOAT(J=1)*ST+(ST/32.0)

XX4(J)=FLOAT(J=311%ST+(ST/2.0)
DO 503 J=1,NFND

XX5(
XX6(
XX

JI=FLOAT(J=1)%*2,0%ST+(ST*0.667)
J)=FLOAT(J-1)%2.0*%ST+(ST*0.833)
JY=FLOAT(J=-1)%2,0%ST+(ST*1.833)

XTEST=X1(L)

XTES

T=XTEST/10.0

XTEST=FLOAT(IFIX(XTEST))
XTEST=XTEST*10.0

XMIN

== (XTEST+10.0)

AXLTH1=(XTEST/10.0)+1.0
AXLTHZ=(XX4(NM)/20.0)+1.0

AXLT

H3=2.0*AXLTH]

XP0S2=2.0%AXLTH1+1.0+0.5
XPOS3=3.0%AXLTH1+2.040.5
XPOS4=XP0OS2~AXLTH1

M=L

DO 504 J=1,L

R102R (M)=R102(J)
R104R({M)=R104(J)
R106R{(M)=R1CE(J)
R10BR (M)=R10B(J)

R110
k112
M=M=
DO 6

R{M)=R110(J)
R{M)=R112(J}

kY

10 J=1,NFND

IF(DT(J))611,£1C,5610

DT(J
CONT
CALL
CALL
CALL
CALL
CALL
CALL
CALL

CALL

)==DT(J)

INUE .

PLTXMX{160.0)

PAXIS(0.540.54'TIME (SEC)',-10,AXLTH1,0.0,0.0,10.0,1.0)
PAXIS(0.5,0.5¢ *AUTCCORRELATION',15,10.0490.04~1.040.2,+1.0)
pSymMB{(1.041.09y-0.1,4'DPH76 C.0D.JONES*,0.0,415)
PSYMB(3.0,1.04-0.14DATIME,0.0,415)
PLTOGFS{0.0410.09-1.040.2+0.540.5)

PLINE(X),R24L,144,0,1.0)
WPLINE(XIpP31L91149191-0)
CPLINE(XLyR&4L41494,2,1.0)

PLINE(X1)RS54Ly194,2,1.0)

PLINE(XZ24F14LS91,394,1.0)

PLINE(X24P64LSy143,5,1.0)

PLINE(X2,R7,LS,41,3,6,1.0)

PAXIS(XPOS4,0.5,'TIME (SEC)',=10,AXLTH3,40.0,XMIN,10.0,1.0)
PAXIS(XPO0S240.5+'CROSSCCRRELATION'4y16410.0490.0,4,=1.0,0.241.0)

XPO0S4=XP0S2-X1(L)/10.0

caLL
CALL
CALL
CALL
CALL
CALL
CALL

PLTOFS(0.0410.0,=-1.0,0.2,XP0S%,0.5)
PLINE{(X14R102% 4L +1,44,0,1.0)
PLINME(X14F104R L 4144,1,1.0)
PLINE(X14yF106R,L,1,44,2,1.0Q)
PLINE(X1,R1I08R,4L43+4+3,1.0)
PLINE(XL,R110R,Ly144,44,1.0)
PLINE(XLyR112R L 41 94+5491.0)



Dataset Limited

FORTR AN

05432
0544
0545
0546
0547
0548
0549
0550
0551
0552
0553
0554
0555
0556
0557
0558
0559
0560
0561
0562

IV G COMPILER

CALL
CALL
CALL
CALL
CALL
CALL
CALL

CALL
CALL

CALL
CALL
CAaLL
CALL
CALL
CALL
CALL
CALL
CALL
sSTOP
END

MAIN 05-~19-73 12:34.34 PAGE 0011

PLTOFS(0.0,10.04~1.0,0.,2,XP0DS2,0.5)
PLINE(X1,F101l,Ls1 4.,0.1.00)
PLINE(XLyR10340L4144,1,1.0)
PLINE(X1,F105,L91+4492,1.0)
PLINE(X1,R1074L41,+4,3,1.0)
PLINE(X1yR10SsLs1ly444,1.0)
PLINE(X1,R111,L,14445,1.0)

PAXIS(XPQS390.5,'TIME (SEC)',+~10,AXLTH2,0.0,0.0,20.0,1.0)
PAXIS(XPOS2,0.5,'ARB UNITS"'4%,10.0,90.040.040.1,1.0)
PLTOFS(0.G,20.040.0,0.14XP0S2,0.5)
PLTNE(XX1,FMi,NM,1,4,0,1.0)
PLINE(XX24FMZyNMylys,1,1.0)
PLINE(XX34FM3,NM,1+4,42,1.0)
PLINE(XX&yFM4yNMy1,44,43,1.0)
PLINE(XX5,DTyNFNDy1,43,4£6,1.0)
PLINE(XX64DUyNFNDy1,345,1.0)
PLINE(XX73UyNFND,31+3,4,1.0)

PLTEND

TOTAL MEMGRY REQUIREMENTS 020662 BYTES
“DFRO"™ DOES NGT EXIST.




Dataset Limited

FORTRAN IV C COMPILER

MAIN 05=-21=-73 17:26.56 PAGE 0004

0165 IDASH=X(T)%TAN(BETA)

0166 ZOI)=H+(AZ#T*SIN(2.%PI*FZ%T))

0167 Z(I)=2(1)+2DASH

0168 IF(Z(1)=-0.1)3C1,300,300

0169 301 2(11=0.1

0170 300 T=T+DELT

0171 DO 310 I=1,JMAX

0172 IF(AY)400,400,401

0173 400 Y(1)=0.0

0174 GO TO 402

0175 401 Y(I)=Y(I1)/{AYXTMAX)

0176 402 CONTINUE

0177 IF(BETA)600,600,601

0178 600 ZULVZEZ(IV/ (H+(AZ%=TMAX))

0179 GO 70 310

0180 601 ZCI)=Z (1) /7 (H+(AZXTMAX)+ (X (JMAX)=TAN(RETA)))

0181 . 310 CONTINUE

0182 AXLTH=TMAX /2.0

0183 AXLTH1=XMAX/10.

0184 XPOSI=AXLTH+3,

.0185 XPOS2=AXLTH+AXLTHL+6.

0186 CALL PLTXMX(100.)

0187 CALL PAXIS(0.540.5y'TIME (SEC)'"y=104AXLTH40.0490.0,2.0,1.0)
0188 - CALL PAXIS(0.5,0.5,'ARB UNITS*,9,10.0,90.0,0.0,0.1,1.0)
0189 CALL  PSYMB(1.0,1.04=0.1,'DPH 76 C.D.JONES',0.0,16)

0190 CALL PSYMB(1.049.0,~0.1,RUN,0.0,15)

0191 CALL PLTOFS({0.042.0,0.0,0.140.5,0.5)

0192 CALL PLINE(XXyFM1,KMAX,14440,1.0)

0193 CALL PLINE(XX,FM2,KMAX 1 9441,1.0)

0194 CALL PLINE (XX FM3,KMAXy14492,3.0)

0195 . CALL PAXIS(XPOS1,0.5,'DIST (M) X',~10,AXLTH1,0.0,0.0,10.0,1.0)
0196 : CALL PAXIS{XPQS1,0.5,*DiST (M) Y',~10,10.0,90.0,-1.0,0.2,1.0)
0197 CALL PLTOFS(0.0,10.04~1.0,0.2,XPDS1,0.5)

0198 CALL PLINE(X,Y,JMAX,1,0,0,1.0)

0199 L CALL PAXIS(XP0S2,0.5,'DIST (M) X' ,=1G,AXLTHY,0.0,0.0,10.0,1.0)
0200 CALL PAXIS(XP0S2,0.5,'DIST (M) 7' ,~10,10,0,90.0,0.0,0.1,1.0)
0201 : CALL PLTOFS{0.0,10.0,0.0,0.1,XP052,0.5)

0202 CALL PLINE(X4Z4JMAX41,0,0,1.0)

0203 CALL PLTEND .

‘0204 sSTOP

0205 END

TOTAL MEMORY REQUIREMENTS 020CAE BYTES

#% GLOBAL TIME LIMIT EXCEEDED AT AQ50S504




FORTRAN IV G COMPILER MAIN 05-21=72 17:29.56 PAGE 0003
0111 C5(I)=C5(1)/(SM2%SM3)
0112 60 C6(1)=C6(I)/(SM2%SM3)
0113 WRITE(4,3) (I4ALUT),A2(1)5A3(1),Ch(1),C2(1)+C3(1)4Cal(I),C5(1),Co(I)
1,I=1,0L)
0114 SFM1=0.
0i15 SFM2=0.
0116 SFM3=0.
0117 SKFM1=0.
0118 SKFM2=0.
0119 SKFM3=0.
0120 FKMAX=FLOAT (KMAX)
0121 DO 500 I=1,KMAX
0122 SFM1=SFMI+FM1(I)
0123 SFM2=SFM2+FM2( 1)
0124 500 SFM3=SFM3+FM3(1)
0125 SFM1=SFM1/FKNFAX
0126 SFMZ=SFNZ/FKMAX
0127 SFM3=SFM3/FKMAX
0128 - DO 501 T1=1,KMAX
| 0129 SKFM1=SKFML+( (FMI(T)}~SFM1)#%3)
| 0130 SKFM2=SKFM2+( (FM2( [ )=SFM2)%%3)
0131 501 SKFM3=SKFM3+((FM3(I)=SFM3)%%3)
° 0132 SKFML=SKFM1/(FKMAX* (SM1%%32))
2 0133 SKEM2=SKFM2/ (FKMAX*(SM2%%3) )
E 0134 . SKFM2=SKFM3/(FKMAX#{SM3%x3))
= 0135 WRITE(4,8)
D 0136 WRITE(4,9) SFM1,SFM2,SFM3
-8 0137 WRITE(4,9) SM1,5M2,5M3
8 0138 WRITFE(4,9) SKFM1,SKFM2,SKFIM3
0139 DO 70 K=1,KMAX
0140 7C  XX(K)=FLOAT(K)=*DDT
0141 KMAXY =KMAX~1
0142 FMMX=1.0
0143 DO 200 1=1,KMAX1
0144 102 IF(FM1(I)~FMMX)100,100,3101
0145 101 FMMX=2.%FMMX
0146 GO TO 102
0147 100 CONTINUE
0148 105 IF(FMZ(1)=-FMMX)103,103,104
0149 104 FMMX=2 .*%FMMX
0150 GO TO 105
0151 103 CONTINUE -
0152 108 IF(FM3(1)=FMMX)1C6,106,107
0153 107  FMMX=2,%FMMX
0154 Go To ics
0155 106 CONTINUE
0156 200 CONTINUE
0157 DO 210 I=1,KMAX
0158 FML(T)=FML(1)/FMMX
0159 FM2(T1)=FM2(1)/FMMX
0160 210 FM3(1)=FM3(1)/FMMX
0161 T=0.
0162 DO 300 I=1,JMAX
. 0164 YOI =AY#THSIN( 2. %PI*FY*T)




FORTRAN IV C COMPILER _ MAIN . 05-21-73 17:29.56 PAGE 006z

0056 IF(Z(1)=0.1)13,11,12
0057 11 2(11=0.1
0058 12 CONTINUE
0059 10 T=T+DELT
0060 JMAXL =JMAX=1
0061 DO 20 I=1,JAX1
0062 O ODXX(I)=X(T+31=X(1)
0063 DYY(I)=Y(I+1)=Y(I)
0064 DIZ(I)=Z(1+1)=2(1)
0065 . DS(I)=SQRT (DXX (1) #=2+4DYY (1) %*24D2Z( 1 )%%2)
0066 20 CONTINUE
0067 DS (JMAX)=DS(JMAXL)
0068 DO 30 I=1,JMAX
0069 X1(I)=X(T1)=XM1
0070 X2 (1) =X{I)=XM2
0071 YL(I)=Y{1)~YM1
0072 Y2(1)=Y(1)=YM2
0073 X3(1)1=X(1)-XM3
0074 30 Y3(I)=Y(1)-YM3
0075 . DO 40 I=1,JMAX
0076 RLI(I)=SQRT (XL (I)#%24YL(1)%#247(1)*%2)
0077 R2(T)I=SORT(X2( 1) 5%2+Y2( 1) %%242(1)%%2)
| 0078 R3(1)=SQRT(X3(1)#x24Y3(1)%%2+7(1)%%2)
3 0079 SINFIL(I)=Z(1)/R1(1)
- E 0080 SINFI2(1)=Z(1)/R2(1)
3 0081 SINFI3(1)=2(1)/R3(1)
B 0082 RLI(I)=RY(1)*
8 0083 R2 (1)=R2 (1 %2
S 0084 P3(1)=R3(])%%2
0085 FLD1=FLD1+ (RHO*SINFIL(I1*DS(I))/(2.0%PI*EPSLON*RI (1))
0086 FLO2=FLD2+ (RHO#SINFI2(1)*DS(I))/(2.0*PI*EPSLON*R2(1))
0087 . FLD3=FLD3+ (RHOXSINFI3(1)#DS(1))/(2.0%PI*EPSLON#R3(1))
0088 40 CONTINUE
0089 FML(II)=FLD1
0090 FM2(11)=FLD2
0091 FM3(11)=FLD3
0092 I1=11+1
0093 DT=DT+DDT
0094 o IF(KMAX=T1)50,51,51
0095 50 WRITE(4,2) (FM1(I),FM2(1),FM3(I),1=1,KMAX)
0096 L=KMAX/2
: 0097 CALUAUTO(FML yKMAX y Ly AL ) .
0098 CALL AUTOUFMZ,KMAXyL,A2)
0099 CALL AUTO(FM3,KMAX,L,A3)
0100 CALL CROSS(FM1,FM2,KMAX,L,C1,C2)
0101 CALL CROSSI(FM1,FM3,KMAX,L,C3,C4)
0102 CALL CRCSS (FMZ,FM3,KMAXyL,C5,C6)
0103 SM1=SQRT(A1(1))
0104 SM2=SQRT(AZ(1))
0105 SM3=SQRT(A3(}1))
0106 DO 60 I=1,L
0107 CL(I)=C1(I)/(SML*SM2)
0108 C2(1)=C2(1)/(SML¥SM2)
o10@ C2TY-C3lI)/reMresna)
u o110 C4(1)=C4(1)/(SML*SM3)



Dataset Limited

FORTRAN IV G COMPILER

Cc00l
0002
0003
0004
0005
0006
0007
0008
0009
0010
0011
0012
0013
0014
0015
00156
0617
ools8
0019
0020
0021
0022
0023
0024
0025
‘0026
0027
0028
0029
0030
co31
0032
0033
0034
0035
0036
Q037
0C38

0039’

0049
0041
0042
6043
0044
0045
0046
0047
0048
0049
0050
0051
0052
0053
nnsa
0055

51

frad

(o le JEN N e JRT, RV UV RUN

DIMENSION
DIMENSION
DIMENSICN
DIMENSION
DIMENSION
DIMENSION
DTMENSION
DIMENSICON

MAIN i 05=21-73 17:29.56 PAGE 000}

X{1000),Y(1000),2(1000),DXXx(100C),DYY(100C),DZ2(1000}
DS(1000),Xi1(1000),X2(1000),YX(2000),Y2(1000),FML(1000)
FMZ(1000),SINFIL(1000),SINFIZ(1000),R1(1GC0O),R2(1000)
A1(1000),A2(1000),C1i(1000),C2(1000)
X3(1000),Y2(1000),FM3(Z00C),SINFI3(1000),R3(2000)
A3(10001,C3(1000),C4%(31000),C5(1000),C6(1000)

XX(1000)

RUN(4)

FORMAT('ITRIAL®")

WRITE(4,1)

FORMAT(3E15.3)

FORMAT (14,

3E15.3,6F10.3)

FORPMAT{8E15.3)
FORPMAT(&F10.3)
FORMAT (4A4)

FORMATI('1

FORMAT('1

OSC.PLUME")
MEAN,SD, SKEW MILLS")

FORMAT(3E15.3)

WRITE(4,7)

READ(5,6)
READ(5,5)
READ(5,5)
READ(5,5)

WRITE(445)
WRITE(4,45)
WRITE(4,5)

RUN
RR14yRRE2,RRZ,ALFAL ,ALFA2,ALFA3
AY AZ FYFZ,yUysH

BCT DXy TMAX . XMAX,BETA
RR1,RR24yRR3,ALFALI,ALFAZ2,ALFA3
AYyAZyFYFZ,,UyH

DDT DXy TMAXy XMAX,BETA

CURR=0.C00001
EPSLON=8,85E=12

PI=3.14
DELT=DX/U

JMAX=TFIX{XMAX/DX)
KMAX=TFIX{TMAX/DGT)

RPHO=CURR/U

ALFAYL=ALFAL*PI/180.0
ALFA2=ALFA2*P1/180.0
ALFA3=ALFA3=PI/180.0
BETA=BETA®PI/180.
XM1=RR1*COS(ALFALl)
YML=RRi=SIN(ALFAY)
XM2=RR2*COS(ALFA2)
YM2=RR2*SIN(ALFA2)

XM3=RR3%COS(ALFA3)

YM3=RR3*SIN(ALFA3)

IT=1
DT=0.0
FLGiI=0.C
FLD2=0.0
FLD3=0.0
7=0.0

DO 10 I=1,

X(T)=UxT

JMAX

YII)=AY*THSIN(2.0*%PI*FYx(T+DT))
IDASH=X{TI)*TAN(BETA)

T TN et AT TRIED ALNTLE 7
[ LR T P T B O A Y e T B T |

- e —n
tTWY

Z(I)=2{1)+2DASF

O0SCPLM PROG




FORTRAN IV G COMPILER

0001 11
0002 12
nnnN3
0004
0005
0006
cQ07
0008
0gQo0e
0010
0011
0012
0013
0014 104
0015
0016 101
0017 102
0018
0019
0020
0021
0022
0023
0024
0025
Q026
0027
0028
0029 -
© 0030
© 0031
0032
0033 103
0034 100
0035
0036
0037

MAIN 05=22=73 22:23,05

FORMAT(BA4)

FORMAT(F10.3)

DIMENSTON NATIME(2)

DIMENSION XP(50),YP(50),ZP(50)
REAL*8 TT

XPOS=

0.5

IMAX=40

IMIN=

IMAX=-20

READ(2,11) DATIME

caLL
CALL
CaLL

PLTXMX(160.)
pSYfiB(’..O,l0.0,“Q-.’-,DATINE 1000,32)
PSYMB(]..0,9.09‘0-11'DPH76' 70-095)

PEAD(3,12) D

READ(3) TyMMy(XPUJ),,YPUJ)9ZP(Jd)yJ=3, M)
IF(I=-IMIN)103,103,101
TF(IMAX-1)100,102,102

CONTINUE

T=DT*FLOATI(I)

XPOS1=XPDS+0.5

MMM =jNM=-1

TT=T
CALL
CALL
CALL
CALL
CaLL
CALL
CALL
CALL
CALL

XPOS=

PAXIS(XPOSy2.5,*'X (M)'",~-5,5.0,0.0,0.0,70.0,1.0)
PAXIS{XPOS,0.5,'Y (M}?*,5,4.0,90.0,1040,~5.0,1.0)
PLTOFS(0.0+10.0,0.0,=5.0,XP0S,2.5)
PLINE(XP,YPyMMM,1,1,0,1.0)

PAXIS({XPOS43.54y'X (M)?'4y=5,5.0,0G.C,0.0,70.0,1.0)
PAXIS({XPOSs54541'2 (M) ' 4544,0,4°0.0+40.0+5.0,41.0)
PFNMBR(XPOS1,9.5,0.1,77,0.0,'F10.2 *',06.0)
PLTOFS(0.0410.040.0+5.0,XP0%45.5) '
PLINE(XPyZPyMMM,y1,1,0,%1.0)

XPOS+6.5

IFCIMAX-1)100,100,103
GO 70 104
CONTINUE

CALL
STOP
END

PLTEND

TOTAL MEMORY REQUIREMENTS 000786 BYTES

EXECUTION TERMINATED

PAGE 0001

PLM POSN PROG




FORTRAN IV G LEVEL

0001
0002
0003
0004
0005
0006
0007
0oo8
coo9
0010
0011
0012
0013
0014
0015
0016
0017
0018
0019
0020

oozl

0022

0023

0024
0025
002é&

0027

0028
Q029
0030
c031
0032
0033
0034
0035

0036°

00327
0028
0039
0040
0041
0042
0043
0044
0045
0046

0047
0048
0049
0050
€051

0052

6053
0054

0055

00586
0057

60

70

80

g9

101

104
200
201

210
211

3143

-l

20 MAIN . DATE =

FORMAT(4F15,.7)
FORMAT(T2,4F3i5.7)
FORMAT{TIFA.1.10ETY ,2)
FORMAT(8FB.3,4E12.3)
FORMAT(2F15.5,1F15.4,4F15.1)
READ(5,1)SH,CURR
READ(5,1)R,Z2,BETA
READ(5,1)GKY,GKZ,U
READ(5,1)SP,BP,QMIN
WRITE(6,2)SH,CURR
WRITC(U'I)R1221BETA
WRITE(641)GKY,GKZ,U
WRITE(5,41)SP,8P,QMIN -
PI=3.14159 :
EPSLON=8.854E~12 -

' R=-1C'0.

£X1=0.0
EX2=0.0

EY1=0.0

EY2=0.0

EZ71=0.0

EZ2=0.0

P=5p

DP=10.

BETRAD=BETA*PI1/180.0

DIFANG=2.0%(SQRT ((9.21%GKY )/ (U%(P+(DP/Z.)))))
DIFRAD=DIFANG*PI/180.0
DALFA=DIFRAD/10.0

SALFA=-CLFRAD/2.0

BALFA=+DIFRAD/2.0
HZ=SQRT((G.21%GKZ*(P+(DP/2.)))/U)
DZ1=H2/5.0 -
DVOL=P#DP#DALFA%DZL

ALFA=SALFA

AZT1==8.2104% ((ALFA®%2)/ (DIFRAD*%2))
AZI=EXP(AZI). .
I1=SH=H7

BZ1=SH+HZ+(D21/10.0)

CONTINUE

1F{21)100,100,101

£=0.0

ELLO=21-SH

ELLO==2.3026%( (ELLO**2) / (HZ%%2) )
CHI1=(AZI*(EXP(ELLO)))I/KZ
CHIl=(CHIL*4,6052%CURR) /(PI*U%P*DIFRAD)

22/34/08

PLM PROG

QSQD=(P%COS{ALFA)=T COS(BLTRAD!)**d+(P*STN(ALCA)-R*QIN(%ETRAD))

14(721-22)%%*

Q=SQRT(QSQD)
IF(Q~-QMINIG8,1C4,104
SINFI=(21~22)/GC
IF{1.0+SINFY1)2C0,201,201
SINFI=-1.0

GO 10 211

CONTINUE

IF(1. O-SINF')2‘09211,411
SINFI=+1.0

CONTINUE
‘FI=ARSIN(SINFI)

FACE 0001



FORTRAN IV G LEVEL

cos8
0059
onaANn

0061

0062 .

00632
0064
0065
0066
0067
0068
0069

10070
0071
0072
0073

0074

0075
0076
0077
0078
0079
0080
0081
0082
0083
0084
0085
0086
0087
0088
0089
0090
0091

0092

‘0093

0094
0095
0096

0097

0098
0099
100
0101
0102
-0103

0104

0105
0106
0107
0108
0109
0110
0111
0ilz2
0113
0llea

300

301

310
311

600
501

800

- 801

g8

401

" 410

411

20 ' : MAIN © DATE =

COSFI=CGS(FI)
COSTHE=(P=COS(ALFA)=R*COS(BETRAD) )/ (Q*COSFI)
TE(1 .N+CASTHENRND ;201,201

COSTHE==1.0

GO TO 311

CONTINUE

IF(1.0=-COSTHE)310,311,311

COSTHE=+i.0

CONTINUE a

“THE=ARCGS(COSTHE) -

SINTHE=SIN(THE)

ELFLDL==(CHI1*DVOL) /(&, O*PI*EP¢|ON*GSQD).
EX1=EXL+ELFLC1%*CCSTHE*COSFI
EZ1=EZ1+ELFLCL*SINFI
VECT=P*SIN(ALFA)=R*SIN(BETRAD) = -
IF(VECT)&600,600,601 :
ELFLD1==ELFLD] -

EY1=EYL+ELFLD1* S INTHE#COSF I
IF(VECT)800,200,801

ELFLDl==ELFLD1

CONTINUE .

CHIl==CHI}

I1==171

A=A+1.5

1F(2.0-A)100,100,102

11=721+D17113 .

IF(B7‘-Z’)10%,103,9°

71=0. :

BZ1= HZ SH-Z1+(CZ1/10. C)
"IF(BZ1)111,115,115

A=0.0

ELHI=Z1+SH S
ELHI==2.3026% ({ELHI**2) /{HZ%%2))
CHI2=(AZI*(EXP(ELHIY))/HZ

CHI2=(CHI2%4 ,6052%CURR)/ (PI3U*P*DIFRAD)

0SOD=(P=x CDQ(ALFﬁ)-R*CDS(BFlﬂAC))* 2+(P*SIN(ALFA)-Q*SIN(B

A+(Z1-22)%%2

.IF(Q‘QMIN)Ilﬁollé 116
SINFI=(21=-122)/0 :
IF{L1. O+SINFI)4CQ 401, 401
SINFI==1.0

- GO TO &1

CONTINUE .
IF(1.0-SINFI)4104+411,411
SINFI=+1.0

CONTINUF

FI=ARSIN(SINFI)
COSFI=COS(FI)

COSTHE= (P*CGS (ALFA)=R* COS(BFTRbE))/(Q*CDSFI)

IF(1.0+COSTHE15006,5C1, 503
COSTHE==-1.0

GO 710 511

CONTINUE
IF(1.0-COSTHE)510,511, 511
COSTHE=+1.0

CONTINUE
THE=ARCCS(COSTEKE)
SINTHE=SIN(THE)

73

3

4

=
-~

22/34/0¢

TRAD) )%%2
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0115
0116
o117
0118
0119
0120
0121
0122
0123
0124
0125
0126
0127
0128
0129
0130
0131
0132
0133
0134
0135
0136
0137
0138
0129
0140
0141
0142
0143
0144
0145
0146
0147
0148
0149
0150
0151
0152
0153
0154
0155
0156
0157
0158
0159
0160
0161
0162
0163

700
701
260

901
114

120
1100

1101 -
"1102

130
140
141

150
1000

1001
1010

1011

2000

20 MAIN DATE

ELFLD2==(CHIZ*CVOL) /{4.0%PI*EPSLON%GSOD)
EX2=EX2+ELFLD2%COSTHE*COSFI |

F712=E724EL FLOC2%SINET
VECT=P*SIN(ALFA)=R*SIN(BETRAD)

1F(VECT) 700,700,701

ELFLD2==ELFLD2
EY2=EY24ELFLD2#SINTHE*COSF1

"TF(VECT)®00,900,901

ELFLD2==ELFLD2
CONTINUE

CHIZ2==CHIZ

11=-11

A=A+1.5

IF(2. 0—A):13,110,11¢

71=121+0171
GO TO 110

ALFA=ALFA+DALFA
IF(BALFA+(DALFA/10. 0)=ALFA)?39 80,80
EX=EXL+EX2

EY=EYL1+EY2

EZ=EZ1+E12

P=P+DP

IF(BP+(CP/10. 0)-0)120,120 70
IF(R)1100,1100, 1101

PLUDIM=0.
GO TO 1102
PLUDIM=SORT((9.21%GKZ%R)/U}
CONTINUE

WRITE(6,45) GKY,GKZ,PLUDIM,R,EZI;EZZ,EZ
12=12+1. : '
IF(0.5-22)13C,£0,60

12=0.0 -
R=P~+20.

IF(80.=-R)140,60,¢0

IF{200.-R)150,141,141
R=R+10.

GO Ta &0 :
1F(R-26C.)100C,10G60,1001
R=300. '
GG TO 60

R=R+190.
1F(R~1000.)1010,1010, 1011
CONTINUE

GO TO &0

GKY=GKY*10.

GKZ=GKZ*10.
IF(l’O.-GKY)ZOOO 50450
STOP

END

7314

22/34/09
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FORTRAN

0001
nnn2
0003
0004
0005
00Ce
0007
0008
0009
0010
0011
0012
0013
0014
0015
0016
0017
0018
0019
pozo
0021
0022
0023
0024
0025
G026
0027
0028
0o2¢9
0030
0031
0032
0033
0034
0035
0036
0037
0038
0039
0040
0041
0042
0043
0044
0045
0046
0047
0048
0049
0050
0051
0052
0053
0054
0055

IV G COMPILER

O~ J DB e

11
12
13
14
15
16

100

101

102

103

104

105

106

MAIN 05-19-73 12:30.12 PAGE 0001

FORMAT(1F1GC.2)

ENPMAT ( SOMFANS . MTIL S HL,AU.NTY)
FORMATI(7EL15.3)
FORMAT('CSD,MILLS,U,DU,DBT")
FORMAT ("OSKEW, MILLS,U,DU,DT")

FOPMAT (IS,

3F15.5)

FORMAT(1215)
FORMAT('LFURTHER STATISTICAL ANALYSIS SERIES 1)

WRITE (6,8)

FORMAT ("1POWER SPECTRUM MILLS®)
FORMAT('1POWER SPECTRUM U,DU,DT")

FORMAT (15,

4E15.3)

FORMAT(IS5,3E15.3)
FORMAT('OKURTOSIS MILLS,U,DU,DT")

FORMAT ('}

COHERENCE FUNCTION MILLS')

FORMAT(I5,6E15.3)

FORMAT('1
DIMENSIGN
DIMENSION
DIMENSION
DIMENSICON
DIMENSIGN
DIMENS 10N
DIMENSTGN
DIMENSIGN
DIMENSION
DIMENS 10N
READ(5,1)
READ(5,1)
J=0

PHASE ANGLE MILLS') .
R1(100),R2(100),R3(100),R4(100)+R5(100),R6(100)
R7(100),R8(100),R9(100),R10(100),R11(100),R12(100)
PS1(1001,PS2(100),PS3(100),PS4&(100),PS5(1001,PS6(100)
€S1(100),€S2(100),CS3(100),C54(1C0),CS5(100),CS6(100)
FM1(1000),FM2(1000),FM3(1000),FM4(1000)
U(1000),DU(1000),DT(1000)
G1(100),62(100),63(100),G4(100),G5(50),66(50),67(50)
XX1(100),XX2(100)

PWFML(1000) ,PWFH2(1000) ,PWFM3 (10060} ,PWFNM4{1000)
PWU(1000),PWDU(1000) ,PWDT (1000)

FF

RUNT IM

READ(5,6)14A,48,C

J=J+1

GO TDO(101,102,1C03,104,105,106,107,108,109,110,111),1

Al=A
B1=8
C1=C
GO TO 160
A2=A
B2=8
C2=C
GO TO 100
A3=A
B3=8
€3=C
GO 70 100
A4g=A
B4=8
C4=C
GO 7O 100
A5=A
B5=8
€5=C
GO 70 100
Ab6=A
B6=8

SUPPROG

\QS!
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FORTRAN IV G COMPILER

0056
nn&7
0058
oese
0060
0061
0062
0063
0064
0065
0066
0067
0068
0069
0070
0071
0072
0073
0074
0075
0076
0077
0078
0079
008G
008}
0082
0683
0084
0085
0086
0087
0088
0089
0090
0091
0092
00e3
0094
00925
0096
0097
Qo098
0099
0100
0101
0162
0102
0104
0105
010¢6
0107
p1o8
0109
0110

107

108

1Cso

11C

111

126
120

C6=C
G0 TN
AT=A
B7=8
C7=C
GO TO
AB=A
B8=8B
c8=C
GO TO
AG=A
B9=8
€9=C
GO TO
A10=A
B10=8B
C10=C
GO TO
All=A
Bi1=B
Cll=C

IF(J-111126,120,126

STOP

100

100

100

100

100

CONTINUE

J=1000
K=500
NFND=0

MAIN

05-16-73

12:30.12

FEAD(S,y7IMyI14I11,11041S,18916517,15914,13,12

1F(M=9909)131,132,131

MEND=NFND+1

COMP=703./FLCGAT(M)
U(K)=(A)H=FLOAT(I1)Y+B1)*Cl

FM1(J=1)=(A2*%FLOAT{I2)+B2)=*C2
FM2(J=1)={A3%FLOAT(I3)}+B3)*C3
FM3(J=-1)=(A4*FLOAT(14)+B4)*C4
FMa(J=1)=(A5*%FLOAT(I5)+B5)*C5

DUIK)=(A&*FLOGATII6)+B&)*C6
DT(K)=(AT=FLOAT(IT7)+B7)%C7

FM1(J)=(A8*%FLOAT(I8)+B8)*(C8
FM2(J)=(AQXFLOAT(IG)+B3)*CS
FM3(J)=(A10*%FLCAT(I10)+B10)*CLlO
FM&4{J)=(AlI*FLOAT(I11)+B11)%Cl1
U(KI=U(K)*=COMP

FML{J=1)=FM1(J=1)%CCMP
FM2(J=~1)=FM2 (J=1)%CCMP
FM2(J=1)=FM3(J=1)%COMP
FM4(J=1)=FMa(J=1)%CCMP
DU(K)=DU(K)*COMP
DT{K)=DT(K)*COMP
FM1(J)=FNML(J)*COMP

FM2 (JY=FM2 (J)¥CCMP
FM3(J)=FM3{J)*COMP
FM4{J)=FM&4 (J)*CCMP

J=J“2
K=K=}

PAGE 0002
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v osia ez

FORTRAN IV C COMPILER MAIN

0111
niz
0113
0114
0115
0116
0117
0118
0119
0120
012}
0122
0123
0124
0125
‘0126
0127
0128
0129
0i30
0131
0132
0133
0134
0135
0i3e
0137
0138
0139
0140
0141
0142
0143
0144
0145
0146
0147
0148
0149
0150
0151
0152
0153
0154
0155
0156
0157
0158
0159
0160
0161
0162
01e2
0164
0165

j=s
in
RS ]

140

141

150

GG TO 130
J=14+2

K=K+1
NM=2%NFND

DO 140 JUN=1,NM
FMLI(OJN)=FM1(J)
FM2 (JUN)=FM2(J)
FM3{JUN)Y=FM3(J)
FM& (JUNY=FMa& L))
J=J+1

DO 141 KN=1,NFND

UlKN)=U(K)
DU(KN)=DU(K)
DT{KN)=DT (K)
K=K+1
FNM=FLOAT (NM)

FNFND=FLOAT(NFND)

SM1=0.0
SM2=0.0
SM3=0.0
SM4=0.0
SM5=0.0
SM6=0.0
SM7=0.0
SSP1=0.0
$SD2=0.0
SSD3=0.0
SSD4=0.0
SSD5=0.G
SSD6=0.0
SSD7=0.0
SSK1=0.0
SSK2=0.0
SSK3=0.0
SSK4=0.0
SSK5=0.0
SSK6=0.0
SSK7=0.0

DO 150 J=1,NM
SM1=SM1+FMI(J)
SM2=SM2+FM2( J)
SM3=SM3+FM3{J)
SM4=SM&+EM4(J)
SM1=SM1/FNM
SM2=SM2 /FNM
SM3=SM3/FNM
SM4=SM4 /FNM

DO 151 J=1,NFND

SM5=SM5+U( J)

SM6=SM6+DU (J)
SM7=SM7+DT (J)
SM5=SM5/FNFND
SM&=SM6/FNFND
SM7=SM7/FNFND
DO 160 J=1,NM

05-139=-73

12:30.12

PAGE 0003
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FORTRAN IV G COMPILER MATIN

0166
0YR7
D168
0166
0170
0171
0172
0173
0174
0175
017¢
0177
0178
0179
0180
0isl
ci82
0183
0184
0185
0186
0187
o188
0189
0140

- 0191

0192
. 6193
0194
0195
0196
0lo7
0198
0i9e
0200
0201
0202
0203
0204
0205
0206
0207
0208
Q2009
0210
0211
0212
0213
0214
0215
0216
0217
0218
0219
0220

160

161

170

171

180

18l

SSD1=SSD1+(FMI (J)=SM1)*%2
SEMN2=QSN24 (FM2( 1}m SN2 ) 2k
SSD3=SSD3+(FM2Z (J)~SM3 ) #%2
SSD4=S5SD4+(FMa (J)=SM4 ) %%2
SSDI=SQRT(SSDL/FNM)
SSD2=SQRT(SSD2/FNM)
SSD3=SQRT(SSD3/FNM)
SSD4=SQRT(SSD4/FNM)

DO 161 J=1,NFND
SSD5=SSD5+(U(J)=SM5)%%2
SSD6=SSD6+(DU(J)=SME ) %%2
SSD7=SSD7+(DT(J)=SM7) %%
SSD5=SQRT(SSD5/FNFND)

- SSD6=SQRT(SSDE/FNFEND)

SSDT7=SQRT{SSD7/FNFNC)

DO 170 J=1,NM
SSK1=SSKI+(FM1(J)=SM])**
SSK2=SSKZ2+(FM2(J)=SN2) %3
SSK3=SSK3+ (FM3(J)=SM3)%%3
SSK4=SSK&+(FM4 (J)~SM4) *%3
SSK1=SSK1/(FNM#*{SSD1*x%3))
SSK2=SSK2/ (FNM*(SSD2*%*3))
SSK3=SSK3/ (FNM=*(SSD3%*x%3})
SSK4=SSK4/ (FNM*(5SD4#%%3))
DO 17% J=1,NFND
SSK5=SSK5+(U(J)=SM5) **
SSK6=SSK&+(DBU(J)=SME) =%32
SSKT7=SSK7+(DT(JY=SMT}**3

05=-16-72

SSK5=SSK5/ (FNFND*(SSD5%%3))
SSK6=SSK6/ (FNFND*(SSD6%%3))
SSKT7=SSK7/{FNFNE*(SSDT7%*%3))

SK1=0.0

SK2=0.0

SK3=0.0

SK4=0.0

SK5=0.0

SKé=0.0

SK7=0.0

DO 180 J=1,NM
SK1=SK1+(FM1(J)=SML)**4
SK2=SK2+(FM2(J)=-SM2 )**4
SK3=SK3+(FM3(J)=-SM3)*x*4
SK&=SK&+ (FM4(J)=~SM4 ) ¥4
SK1=SK1/(FNM*(5SD1%%*41})
SKZ=SK2/(FNMx{SSD2%*#*4) )
SK3=SK2/(FNM* (SSD3%x4))
SK4=SK4 /(FNM* ( SSD4**4) )
DO 181 J=1,NFND
SK5=SK5+(U(J)=~SM5)**
SK&6=SK&E+(DUL J)=SMb) *%4
SKT=SK7+(DT{J)=SMT) #*4
SK5=SK5/(FNFND*{SSD5%*%4))
SK6=SK6/(FNFND*(SSDe=%*4))
SK7=SKT/(FNFND*(SSD7%%4))
WRITE(6,2)

12:30.12

PAGE 0004
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FORTRAN IV G COMPILER MAIN 05-19-73 12:30.12 PAGE 0005

0221
Nn222
0223
0224
0225
0226
0227
0228
0229
0230
0231
0232
0233
0234
0235
0236
0237
0238
0239
0240
0241
0242
0243
0244
C245
0246
0247
0248
0249
0250
0251
0252
0253
0254
0255
D256
0257
0258
0259
0260
0261
0262
0263
0264
0265
0266
G267
0268
0269
0270
0271
0272
0273
0274
0275

300

302

w
o
[FY)

WRITE(5y3) SM1,SM2,SNM3,SM4,SM5,SME,SMT
WRITF(A.4L)

WRITE(6,43) SSD1,SSD2,SSC3,5504,55D5,S5D6,SSD7
WRITE(645)

WRITE(643) SSKL,SSK2,SSK3,S5SK4,S55K5,S5SK6,SSK7
WRITE(6,13)

WRITE(643) SK1,SK2,SK2,SK4,SK5,5K&,SK7
L=NM/10

LS=L/2

DO 300 K=2,NM

PWFML (K)=FMI (K)=FF%FM1(K=1)
PWFM2{K)=FM2(K)=FF%FM2(K=1)

PWFM3 (K )=FM3(K)=FF%FM3{K=1)

PWFM4 (K )=FM4 (K)=FF*FM4 (K=1)

DO 301 K=2,NFND

PWU(K)=U(K)=FF2U(K=1)
PWDU(K)=DU(K)=FF*DU(K=1)
PWOT(K)=DT(K)=FF%DT (K=1)

DO 302 K=2,NM

FM1({K)=PWFM1(K)

FM2(K)=PWFM2(K)

FM3(K)=PWFM3(K)

FM4 (K)=PWFM& (K)

DO 303 K=2,NFND

UIK)=PWU(K)

DU(K)=PWDU(K)

DT (K)=PUWDT (K)

CALL AUTO(FMY,NM,L,R1)

CALL AUTO(FM24NMyL+R2)

CALL AUTO(FM3,NM,L,R2)

CALL AUTO{(FM4,NM,L,R4)

CALL AUTO(U,NFND,LS,R5)

CALL AUTCU(DU,NFND,LS,R6)

CALL AUTO(DT,NFND,LS,RT7)
DDT=(RUNTIM*60.}/FNM
DELF=1./(2.%FLCAT(L-1)%DDT)

CALL ASPECT(DELF,L,R1,G1)

CALL ASPECT(DELF,L,sR2,G2)

CALL ASPECT(DELF,L4R3,G3)

CALL ASPECT(DELF,L+R4,G4)

CALL ASPECT(DELF,LS+R5,G5)

CALL ASPECT(DELF+LS+RO.+GS)

CALL ASPECT{(DELF,LS4R7,4GT)
WRITE(6,9)

WRITE(6411 ) {K,GL(K)4G2(K),G3{K),G4(K),K=1,L)
WRITE(6,10)
WRITE(H,12)(KyG5(K) yGE6IK) 4GT(K)4K=1,LS)
CALL CROSS(FM1,FMZ2,NM,L,RYR2)
CALL CRCSS(FMI,FM3,NMyL4R3,R4)
CALL CRCSS(FM1,FM&4,NM,L,R5,R6)
CALL CRGOSS(FM2,FM3,NM,L,R7,R8)
CALL CRCGSS(FM2,FM4,NM,L+R9,R10)
CAaLL CROSS(FM31FM4,NM,L,RII9R12)
CALL XSPECT(DELF,L,R1,R2,CS1,PS1)
CALL XSPECT(DELF,L,R3,R4,L52,PS52)
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FORTRAN IV C COMPILER MATN

0276
na717
0278
0279
0280
0281
0282
0283
0284
0285
0286
0287
0288
028¢

©02¢0

0291
0292
0293
0294
0295
0296
0297
0298
0299
0300
0301
D302
0303
0304
0305
0306
0307
0308
0309
0310
0311
0312
0313
0314
0315
0316
0317
0318
0319
0320
0321
0322
0323
0324
0325
0326
0327

© 0328

032¢
0330

400

202
201
205
204
207
206
208
200

222
221
224
223
225
220

CALL XSPECT(DELF+LsR5,R64CS3,PS3)

CALL YSPECTIDELE L 87 08 CCx,

CALL XSPECT(DELF,L,P9,R10,CS5,PS5)
CALL XSPECT(DELF,L,R11,R12,CS6,PSE)

DO 400 K=1,L

05-16-72

CS1{(K)=CS1L(K)/(GL1{K)*G2(K))
CS2(K)=CS2(K)/(G1(K)*G3(K))
CS3(KI=CS3(K}/(GLIK)I*G&(K))
CS4(K)=CS4(K)/(G2(K)I*G3(K))
CS5({KI=CS5(K)/(G2(K)*G4(K))
CS6(KI=CS6(K)/(G3(K)*G&(K))

WRITE(6y14)

12:20.12 PAGE 0006

WRITE(6,15) (KyCS1(K),CS2(K),CS3(K),CS&(K),CS5(K),CS6(K) K=1,L)

WRITE(6,16)

—_— e—

WRITE(6,15)(K;PSl(K)yPSZ(K),PS3(K),PS4(K$,PSS(ki,PSé(K),K=1,L)

Al1=0.

A2=0.

A3=0.

A4=0,

A5=0.

A6=0

AT=0

DO 200 K=1,L
IFIGL{K)~A))201,201,202
A1=G1l(K)
IF(G2(K)=A2)204,204,205
AZ2=G2(K)
IF(G3(K)=-A3)20¢,206,207
A3=G3(K)
IF(G&4(K)-A4)20C,200,208
A4=G4(K)

CONTINUE

DO 210 K=1,L
GL(K)=G1l(K)/A1
G2(K)=G2(K}/A2
G3(K)=G3(K)/A3
G4(K)=G4(K)/r4

DO 220 K=1,LS
IF(G5(K)=A5)221,221,222
AS5S=GS51({K)
[FIG6(K)=AE)223,223,224
A6=G6(K)
IF(G7(K)=-AT)220,220,225
AT=G7(K)

CONTINUE

DO 211 K=1,LS
G5(K)=G5(K) /A5
G6(K)=Go6{K)/ A6
GT{K)=GT(K)/AT

DO 230 K=1,L
XXYL(K)}=DFLF#FLCAT(K)

DO 231 K=1,LS

XX2 (KY=DELF%FLGAT(K)
CALL PLTXMX(120.)

CALL PAXIS(G.5,0.59*FREQUENCY

(HZ)'1"1417-010-090-09000591-O)
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FORTRAN IV G COMPILFR

0331
0332
0333
0334
0335
0326
0337
0338
0339
0340
0341
N342
0343
0344
0345
0346
0347
03248
0349
0350
.0351
0352
0353
0354
0355
0256
0357
0358
0359
0360
0361
0362
0363
03¢&4
0365
0366
0367
0368
0369
0370
0371
0372
0373
0374
0275
0276
0377
0378
0379
0380
0381
0382
0383
0384
0385

CALL
catlt
CALL
CALL
CALL
CALL
CALL
caLL
CAaLL
catt
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CaLL
CALL
CALL

CALL

CALL
CALL
CaLL
CALL
CALL
CAaLL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CAatL
CALL
CALL
CALL
CALL
CALL

CALL

CALL
CALL
CALL
caLL
CatLL
CALL
CatL
catL
CALL
CAaLL

MAIN 05-19-73 12:3C.12

PAGE 0007

PAXIS(O. 5,0 5,'RELATIVE PSD*,12,4.0,90.0,0.040.25,1.0)

PSYMRI(1 . 0.=0.1 . NPHT7A N, INNESH . O _N.1R)

PLTOFS(O o,o 05,0.0,0.25,0.5,0.5)
PLINE(XXZ'GI,L 11 15'0,1 00)

PAXIS(Q4595.59 "FREQUENCY (HZ)'4=14,7.0,0.040.0,40.05,1,0)
PAXIS{04545.5)"RELATIVE PSD'41244.04+90.040.040.2541.0)
PLTOFS(0.040.0540.0+,0.2540.545.5)
PLINE(XXI’GZ,L11951111-0) :
PAXIS(10.0,0.5,"'FREQUENCY (HZ)'y=14,7.040.C40.0,0.05+1.0)
PAXIS(10.0+0.5'RELATIVE PSD'"41214.G+5G.Cy0.090.25,1.0)

PLTDFS(O00,0005,0.0,0.25110.0’0.5)
PLINE(XX3,G3,L41,5,2,1.0)

PAXIS(10.0¢45.5,'FREQUENCY (HZ)'4=14,7.0,6.090.0+0.05,1.0)
PAXIS(10.045.5,"RELATIVE PSD'+12,4.0+90.040.0,0.25,1.0) .

PLTOFS{0.0,0.05,0.0,0.25410.045.5)
PLINE(XX1,G4+Ly1,5,2,1.0)
PAXIS(20.040.5,"FREQUENCY (HZ)',=14,7.0,0.0,
PAXIS({20.040.5y'RELATIVE PSD'41244.0490.0,0.
PLTOFS(0.0+0.0540.0,0.25420.0,0.5)
PLINE(XX2yG54LS91+5+4,1.0)

vy0.05,1.0)

«25,1.0)

PAXIS(20.0y5.5'FREQUENCY (HZ)?'y=14,7.C,0.0,0.0,0.05,1.0)
PAXIS(20.0,5.54 "RELATIVE PSD',12 4,0990.,0,0.0,0.25,1.0)

PLTOFS{0.040.0540.040.25,20.045.5)
PLINE(XX2.66,L5,1,515,1.0)
PLINE(XX243G74LS9149546491.0)

PAXIS(30.090.5'FREQUENCY (HZ)',4~14,7.0,0.0,0.0,0.05,1.0)
PAXIS(30.0,0.54"COHERENCY SPECTRUM',18,4.0,90.0,0.0,0.25,1.0)

PLTDFS(OoOy'O-OSyO-0,0-25930-010-5)
PLINE({XX1,CS1,L,1,5,0,1.0)

PAXIS(30.045.59*FREQUENCY (HZ)?',4y-14,7.0,0.040.0,0.05,1.0)
PAX1S(30.0,45.5,'COHERENCY SPECTRUM',18,4,.,C,90.0,0.0,0.25,1.0)

PLTDFS(00010-05’0-010.25’30-01505)
PLINE(XX1,CS25sL+1,+5,1,1.0)

PAXIS(40.,0,0.5,'FREQUENCY (HZ)?',4~14,7.0,0.0,0.0,0.05,1.0)
PAXIS(40.0,0.5,'COHERENCY SPECTRUM'4y18,4.0,90.0,0.0,0.25,1.0)

PLTOFS{0.0,0.05,(.040.2544C.0,0.5)
PLINE(XXY,CS3,L,1,5,2,1.0)

PAXIS(40.0y5.59'FREQUENCY (HZ)',4~14,7.0,0.0,0.0,0.05,1.0)
PAXIS(4C.0y5.5,"COHERENCY SPECTRUM',18,4.0,90.0,0.0,0.25,1.0)

PLTOFS(0.040.0540.0+90.25940.0,5.5)
PLINE(XXL,CS4,L+1,543,1.0)

PAXIS(50.,040.5,'FREQUENCY (HZ)'"y~14,7.0,0.C,0.0,
PAXIS(5C.0,0.5,4'COHERENCY SPECTRUM',18+4.0,50.0,

PLTOFS(0.040.05,0.0+40.25450.0,0.5)
PLINE(XXIsCS5,L,1,5,4,1.0)

«05,41.0)
+040.25,+1.0)

PAXIS(50.0,5.5,'FREQUENCY (HZ)'4y~14,7,0,0.0,0.0,0.05,1.0)
PAXIS(50.045¢5,'"COHERENCY SPECTRUM',i8+4.0,90.0,0.0,0.25,1.0)

PLTOFS(0.0+0.05430.0y0.25450.0:5.5)
PLINE(XX1,CS6,L4+1,545,1.0)

PAXIS(60.092.5,? FREQUENCY (HZ)',=14,7.0,0.040.0,0.05,1.0)
PAXIS(60.040.59"PHASE SPECTRUM' 4y14+4.0,90.0,-180.0,90.0,1.0)

PLTDFS(0-010-0590.0,90.0'60.092-5)
PLINE(XXY,PS1,L,1,5,0,1.0)

PAXIS(60404745,*FREQUENCY (HZ)?!,~14,7.(,0.C40.,0,0.05,1.0)
PAXIS(60.0y5.5,'PHASE SPECTRUM',+14,4,0,90.0,-180.0,90.0,1.0)

o .



Dataset Limited

FORTRAN IV G COMPILER

0386
n2a7
0388
0389
03¢0
0391
03g2
0393
0394
0395
0396
0397
0398

0299

0400
0401
0402
0403
0404
0405
0406

CALL

e

caLL

cALL

CALL
sTOP
END

MAIN 05-19-73 12:30.12 PAGE Q008

PLTOFS(0.040.0540.0,20.0,60.047.5)
DLIMELYYY . .DE2 .4 ;1 8.1 ,1._0)

PAXIS{7C.0,2.5y'FREQUENCY (HZ)'4=-14,7.0,0.0,0.040.05,1.01)
PAXIS(70.0,0.5,"'PHASE SPECTRUM',14,44.0,90.0,-180,.0,50.0,1.0)
PLTOFS(0.0,0.05+40.0420.,0,70.042.5)
PLINE(XX1,+PS23yL41,5,2,1.0) .
PAXIS(70.047.5,'FREQUENCY (HZ)',-14,7.C,0.C,0.0,0.05,1.0)
PAXIS{70.045.5,'PHASE SPECTRUM',14,4,.0,90.0,-180.0,90.0,1.0)
PLTOFS(0.040.0540.,0950.0,70.0,47.5)}
PLINE(XX14PS&,0L41,45,3,1.0)

PAXIS(80.042.5,"FREQUENCY (HZ)'",4-14,7.0,0.0,0.0,0.05,1.0)
PAXIS(80.040.54"PHASE SPECTRUM',14,4.0,90.0,-180.0,490.0,41.0)

PLINE(XX1,PS5,4L,y14544,41.0) . __ .
PAXIS(BO.0y7.5,"FREQUENCY (HZ}',~14,7.0,0.0,0.0,0.05,1.0)
PAXIS(80.045.5,'PHASE SPECTRUM',14,4.C,50.0G,4-180.0,50.0,1.0)
PLTOFS(0.0,0.0540.0,90.0,80.0,47.5)

PLINE(XX1 yPS6yL1345¢591.0)

PLTEND

TOTAL MEMCRY REQUIREMENTS 013BSE BYTES



Dataset Limited

FORTRAN IV G COMPILER ASPECT 05=19-73 12:32.12

0001
con2
coo3
0004
0005
0006
0007
0008
0009
00l0
0011l
o012
0013
0014
‘0015
0016
0017
0018
0019
0020
c0z1
0022
0023
0024
0025
0026
0027
0028
0oz2e

1

01

100

40

10

20

SUBROUTINE ASPECT(DELF,L,R,G)

DIMENSTON Clino),00100)

DIMENSION GG(100)

PI=3,142

SGMA=0.

M=L~-1

XM=FLOAT(M)

DO 20 K=1,L

KK=K=1
KKK=2+KK=IFIX{2.*FLOAT(ITFIX(0.5%FLCAT(KK))))
DO 10 J=2,M

THETA=(PI/XM)*FLCAT ((J=1)*KK)
IF(THETA=2.%P1)69,99,1G60
THETA=THETA-2.%P]

GO 70 101

AA=R () }*COS(THETA)

SGMA=SGMA+AA
BRKT=R{1)+2.%SGMA+( (=1, )**KKK)*R (L)
GIK)=BRKT/ (XM*DELF)

SGMA=0.

CONTINUE

GG(2)=0.5%G(1)+0.5*%G(2)
GGIL)=0.5%G(L=1)+0.5%G(L)

DO 30 K=2,4M
GGIK}=0.25%G(K=1}+0.5%G(K)+0.25%G(K+1)
DO 40 K=1,L

G(K}=GG(K)

RETURN

END

TOTAL MEMCRY REQUIREMENTS 00063A BYTES

PAGE 0001



Dataset Limited

FORTPAN IV G COMPILER XSPECT C5-~16-73 12:32.16

0001
0002
0003
0004
0005
0006
o007
0008
0009
0010
0011
06012
0013
0014
0015
0016
0017
oo1e
001¢<
0020
0021
0022
0023
0024
0025
0026
goz27
0028
002s
0020
0031
0032
0033
0034
0035
0035
oc37
00328
0039
0040
0041
004z
0043
0044
0045
0046
0047

101
100

g9

10

20

30

50

40

SUBROUTINE XSPECT(DELF4L,sRsSsGXY,PHIXY)
DIMENSION R({100),S(100),4(100),B8(100)
DIMENSION C(100),0(100),GXY(100),PHIXY(10D)
DIMENSIGON CC(100),0Q(100)

PI=32.142

SGMA=0.

SGMB=0.

M=L~-1

XM=FLOAT(M)

DO 5 I=1,L

A(I)=(R{IV+S(I))/2.

B{I)=(R(I)=S(I))/2.

DO 20 K=1,L

KK=K=1
KKK=24+KK=TFIX{(2.¥FLOAT{IFIX{0.5*%FLCAT(KK})})
DO 10 J=2.M

THETA=(PI/XM)*FLOAT ((J~1)*KK)
IF(THETA-2.%P1)99,99,100
THETA=THETA=2.%P]

GO TO 101

CONTINUE

AA=A(JI%COS(THETA)
BB=B(J)*SIN(THETA)

SGMA=SGMA+AA

SGMB=SGMB+BB
BRKT=A(1)+2 %SGMA+( (=1, ) %¥%KKK)*A (L)
C{K)=BRKT/ (XM*DELF)
Q{K)=2.%SGMB/ ({ XM*DELF)

SGMA=0.

SGMB=0.

CONTINUE °

CC(L)=0.5%C(1L)+0.5%C(2)
CCIL)I=0.5%C(L=1)+0.5%C(L)
QQ(1)=0.5%Q(1)+0.5%Q(2)
QO(L)=0.5%Q(L=1)+0.5%0Q(L)

DO 30 K=2,M
CC(K)=0.25%C{K=1)40.5%C(K)+0.25%C(K+1)
00(K)=0.25%Q(K=1)+40.5%Q(K)+0.,25%Q(K+1)
DO 50 K=1,L

C(K)=CC(K)

QIK)=QQ(K) : — - - -
DO 40 I=1,L

GXY(I)=C(I)#%x2+4Q(])*%2
PHIXY(I)=ATAN(Q(I)/C(T))
PHIXY(I)=PHIXY(I)*360./6.284
RETURN

END

TOTAL MEMORY REQUIREMENTS OO0OFBA BYTES

EXECUTION TERMINATED

PAGE 0001



FORTRAN IV C COMPILER

0001
0002
0003
0004
0005
0006
0007
0008
0009
oolo0
0011
0012
0013
0014
0015
0016

0017

0018
oole
0020
0021
0022
0022
0024
0025
0026
0027
0028
o029
0030
0021
0032
0033
0034
0035
0036
0037
0038
0039
0040
0041
0042
0042
0044
0045
0046
0047
0048
0049
0050
0051
0052
0053
0054

~ -

[VAVES o]

FORMAT(IS,

MAIN 05=23-73 $4:31.03 PAGE 0001

3F15.5)

FORMAT(12I5)
FORMAT('OACTUAL VALUES*)

FORMAT (14,
FORMAT (1]

4Fg-113F7-2’4F901)
MEANS,STD.DEV.AND COEFF.VAR')

FORMAT(F10.2,4F10.1,2F10.2,4Fi0.1)
FORMAT('ORI")

FORMAT(1F11.3)

FORMAT('0ST?)
FORMAT(*1AUTOCGV,FM1,FM2,FM3,FM4")

FORMAT(I4,

4£15.3)

FORMAT(*1AUTCCOV,U,0U,CT")
FORMAT("1AUTO=-DERIVED STD DEV!')
FORMAT(*1XCOR,FMI/FM2,FML/FM3,FML/FM4?)
FORMAT(14,6E15.3)

FORMAT (*1XCOR,FM2/FM3,FN2/FM4 ,FMI/FM4')
FORMAT (*1XCOR,FML/U,FM1/DU,FM1/DT")
FORMAT(*1XCOR,FM2/U,FM2/DU,FM2/DT ")
FORMAT (*IXCCR,FM2/U,FM3/DU,FM3/DT")
FORMAT (*1XCOR,FM& /U, FM4 /DU, FM& /DT ")
FORMAT(*1XCOR,U/DU,L/DT,DU/DT")

FORMAT (14,

3E15.3)

FORMAT(*IAUTOLENGTH')
FGRMAT(7F10.2)
FORMAT(11F10.3)
FORMAT{*RUNTIM")
FORMAT(LF10.1)
FORMATI(4A4)

FORMATI(IY)

FORMAT('"1DATA ANALYSIS')

DIMENSION
DIMENSION
DIMENSICN
DIMENSICN
DIMENS TGN
DIMENSIGN
DIMENSION
DIMENSICN
DIMENSION
DIMENS ION
DIMENSIGN
DIMENSIGN
DIMENSICN
DIMENSICN
DIMENS ION
DIMENSIGON
DIMENSION
DIMENSION
DIMENSIGN
DIMENSIGN
DIMENSION
DIMENSIGN
DIMENSICN

DATIME(4)
FM1 (1000),FM2(1000),FM3 (1000} ,FM&(1000)
U(1000),BU(1000),GT(10C0)
R1{200),R2(200),R3(200),R&(200) ,R5(200),R6(200),R7(200)
R101(200),R102(200),R1C3(200),R104(200),R105(2CC)
R106(200),R107(200),R108(200),R106(200),R110(200)
R111(200),R112(200)
R200(200},R201(200),R202(200),R203(200),R204(200)
R205(200)
R210(200),R211(200),R212(200),R212(200),R214(200)
R215(200) ,
R220(200),R221(200),R222(200),R223(280),R224(200)
R225(200)
R230(200),R231(200),R232(200)4R233(200),R234(200)
R235(200)
R300(200),R201(200),R302(200),R303(200),R3G4(200)
R305(200)
FMSL1(1000),FMS2(1000),FVMS3(1000),FMS4(1000)
X1(200),X2(200)

XX1(1000) yXX2(1000),XX3(1000),%X4(1000)
XX5(1000) 4 XX6(1000),XX7(2000)
R102R(200),R104R(200),RP104F (200)
R1CE8R(200),RI1OR(200),R112R(200)

WRITE(4,60)

RPEAL(5,51)

CATIME

DATA PROG




FORTRAN IV G

0056
0057
0o5e-
005¢
0060
0061
0052
0062
0064
0065
0066
0067
0068
0069
0070
0071
0072
0073
0074
0075
0076
o077
0078
0079
0080
0081
0082
0083
oc84
0085
0086
co87
0088
o089
00990
0091
0092
0093
0094
0095
0096
0097
oo9e
0099
o100
0101
nio2
0103
0104
0105
0106
0107
0108
0109
110

COMPILER MAIN

100

101

102

103

104

105

106

107

109

1113

WRITEI(4,51) DATINME
READ(5,50) RUNTIM
WRITF (4 .49)
WRITE(4,50) RUNTIM
RUNTIM=€60,0%RUNTIM
REAG(5,583) IDT
WRITE(4,9)

J=0
READ(5,6)1,A,48,C
J=J+1i

05=23-73

pad

4:31.03

GO0 70(101,102,iC2,104,105,106,107,1C8,109,11C,111),1

Al=A

B1=8B

Cl=C

GO TO 100
A2=A

B2=8

c2=C

GO TO. 100
A3=A

B3=R

C3=C

GO TO 1¢O
Ad=A

B4=8

C4=C

GO TO 100
AS=A

B5=8

C5=C

GG TO 100
A&=A

B6=8

c6=C

GO TO 100
A7=A

B7=8

C7=C

GO TO 100
A8=A

B8=R

€8=C

GO TO 100
A9=A
B9=R

c9=cC

GO TO 100
A10=A
B10=8
€C10=C

GO TO 1CO
All=A
Bl11=8
C11=C

IF(J-11)126,41204126

PAGE 0002



FORTR AN

0111l
ol:i2z
0113
0ils4
0115
011¢
0117
cl1s8
6119
0120
0121
0122
0123
0124
0125
0126
0127
o128
0129
0130
0131
0132
0133
0134
0135
0136
0137
0138
0139
0140
0141
0142
0143
0144
0145
Cl46
0147
0148
0l49
0150
0151
0152
0153
0154
0155

0156

0157
0158
0159
0160
0161
0162
0163
0164
0165

IV ¢ COMPILER MAIN 05=23=173

126
120

601

600
602

140

141

fomct
£
w
(=]
[ ]

(]
o

STOP

CONTINUE

J=999

K=500

NFND=0
READ(S,7IM,11,12,13,14,15,16,17,18,15,1310,111
IF(M=999G6)131,132,131
NFND=NFND+1}
COMP=T703.0/FLCAT(M)
UCK)=(AYXFLOAT(T1)+RY) *C1
U{K)=U(K)%COMP
DUIK)=(A6XFLCAT{I6)+B&)*Ce
DU(CK)=DU(K)%COMP
1F(1-1DTY¥600,601,600
DT(K)=(AT*FLOAT(IT)+B7)*C7

GO T0O &02
DTUIK)Y==(AT7*FLGAT(I7V1+B7)*C7T
CONTINUE

DT(KY=DT(K)*COMP
FML(J)=(A2*FLCAT{TI12)+B2)*C2
FM1(J)=FM1 (J)*CCMP
EMI(J+1)=(ABXFLOAT(I5)+R8)*C2
FMI(J+1 ) =FMY1 (J+]1 )%CCMP
FM2(J)={A3%FLOAT(I10)1+B2)*C3
FM2(J)=FM2(J}*CCN;P
FM2(J+1)=(A0%FLOAT({I4)+BS)*CQ
FM2(J+1)1=FM2(J+]1)%CCMP
FM3(J)=(ALFFLOATITI9)+R4)I*C4
FM3(J)=FM3(J)*COMP
FM3(J+1)=(ALO0*FLOAT(I3)+B1C)*CI0
FM3(J+1)=FM3(J+)1)*CCMP
FM&(J)=(AS*FLCAT(I8)+B5)*C5
FM&a(J)=FMa (J)*COMP
FM4({J+1)=(ALI*FLOAT(12)+B11)*C1]
FMa{J+1)=FMa(J+1)2CCMP

J=J=2

K=K=1

GO TO 130

J=J+2

K=K+1

NM=2%NFND

L=NM/10 . _
LS=L/2

DO 140 JN=1,NM

FMI(JUNI=FMI (D)

FM2 (UJN)Y=FM2(J)

FM3({JN)=FM2(J)

FM4(UN)=FM4(J)

J=J+1

DO 141 KN=1,NFND

U{KN)=U(K)

DU(KN)=0U(K)

DT(KN)=BT(K)

K=K+1

D1=8.0

PAGE 0003




FORTRAN IV C COMPILER MAIN 05=23=72 14:3]1.03

0166
0167
0168
0169
0170
0171
0172
0173
0174
017¢
0176
0177
0178
0179
0180
0181
0182
0183
0l84
0185
0186
0187
o188
0186%
0290
0191
0192
0193
0194
0195
0196
0197
0198
0199
0200
0201
0202
0203
0204
n205
020¢
0207
0208
0209
0210
0211
0212
0213
C214
0215

0216
0217
0218

~ . -

X

701
702

703
706

705
708

107
700

801
802

803
804

805
800

149

150

D1=D1/2.0

D2=C1%2C0.0

D2=D02/10.0

D3=C2%200.0

D3=D3/10.0

D4=C3%200.0

D4=D4/10.0

D5=C4%200.0

D5=D5/10.0

D6=3.5

D6=06/2.0

D7=3.5

B7=D7/2.0

NMA=NM=1

NFNDA=NFND-1

DO 700 1=2,NMA
02=((FMI(I=-1)+FM1(I1+1))/2.0)=FMYI(T)
IF{D2-Q2)701,7C2,702
FMLI(I)=(FM1({I=-3)4FM1(I+1)) /2.0
CONTINUE
03=((FM2(I=1)+FM2(1+1))/2.0)=FM2(1)
IF(D3-Q3)703,7G4,704
FM2(I)=(FM2(I-1)+FM2(1+1))/2.0
CONTINUE
Q4=({FM3(I=-1)+FM3(I+1))/2.0)=-FM3(1)
IF(D4-Q4)7C5,7C6,70¢&
FM3(I)=(FM3(I=-1)+FM3(1+1))/2.0
CONTINUE
05=((FM4(T=1)+FM&4(I1+1))/2.0)=FM& (1)
IF(D5=-05)7C7,7C00,700
FM4(I)=(FM4(I~1)+FM4(T41))/2.0
CONTINUE

DO 800 1=2,NFNCA
QI={(U(I=1)1+Ul1+1))/2.0)=U(])
IF(D1-01)801,802,802
UCI)=(U(I=-1)+U(T+1))/72.0

CONTINUE
G6=((DU(I-1)1+DU(1+41))/2.0)=-DU(I)
IF(D6~Q6)803,804,804
DUCI)=(DU(I=1)+DU(I+1))/2.0
. CONTINUE
Q7=((DT(I=1)+DT(I+1))/2.0)=0T (1) -
IF(D7-Q7)805,8GG,800
DT(I)=(0T(I-1)+4DT(I+1))/2.0
CONTINUE

FNM=FLOAT{NM)

FNFND=FLOAT{NFND)

J=1

K=1

PACE 0004

WRITE(4,10) KyFMLI(JIV,FM2(J),FM3(J)FMa(J),U(K),DU(K},DT(K),FMLl(J+1

1)yFM2(J+1) yFM3{J+1) FM4(J+1]1)
IF(K=NFND)150,151,1°51

J=J+2

K.=K+1

GU TO 149




FORTRAN IV C COMPILER

0220
0221
0222
0223
0224
0225
0226

0227

0228
0229
0230
0231
0232

0233 .

0234
0235
0236
0237
0238
0239
0240
0241
0242
0243
0244
0245
0246
0247
0248
0249
0250
D251
0252
0253
. 0254
0255
0256
0257
0258
0259
0260
0261
0262
0263
0264
0265
0266
0267
0268
0269
0270
0271
0272
0273
0274

151

160

161

170

171

MAIN 05=23=73
SML=0.
SM2=0.
SM3=0.
SM4=0.0
SM5=0.0

SM6=0.0

SM7=0.0

SM8=0.0

SM9=0.0
SM10=0.0
SM11=0.0

DO 160 J=1,NM
SM2=SM24FM1(J)
SM3=SM3+FM2(J)
SM&=SM4+FM3(J)
SM5=SM5+FM4( J)
DO 161 K=1,NFND
SM1=SM1+U(K)
SME=SME&+DU (K )
SM7=SMT7+DT (K)
SMY=SM1/FNFND
SM2=SM2/FNM
SM3=SM3/FNM
SM4=SM4 /FNM
SM5=SM5/FNM
SM&=SM&/FNFND
SMT7=SM7/FENFND
WRITE(4,11)

0
0
0

14:21.03

WRITE(4,12) $M1,SM2,SM3,SM4,SME,SM6,5M7,5ME8,5MG,

VARL=0.0

VARZ2=0.0

VAR3=0.0

VAR4=0.0

VARS=0.GC

VAR6=0.0

VAR7=0.0

VAR8=0.C

VARG=0.0

VAR10=0,0

VAR1I1=0.0

DO 170 J=1,yNM
VARZ=VARZ2+ (FMY (J)1=SM2 ) %*2
VAR3=VARZ+ (FM2(J)=SM3)*¥=x2
VAR4=VAR4+ (FMI(J)=SNGY%%2
VARS=VARS+ (FM4( J)=SNVE) %%x2
DO 172 K=1,NFND
VARI=VAR]I+(U(K)}=SM]1)**2
VAR6=VARG6+(DU(K)~SM&) *%%x2

VAR7=VART+({DT(K)=SM7)%%2

SDI=SQRT(VAR1/FNFNC)
SD2=SQRT(VARZ2/FNM)
SD3=SQRT(VAR2/FNM)
SD4=SQRT(VAR4/FNM)
SD5=SNRT(VARS/FNM)
SDéfSQRT(VARé[FNFND)

PAGE 0005




FORTRAN

0275
0276
0277
0278
0279
0280
0281
0282
0283
0284
0285
0286
0287
0288
0289
0290
0221
0292
0293
0294
0295
0296
0297
0298
0299
0300
0301
0302
0303
0304
0305
0306
0307
0308
0309
0310
0311
0312
0313
0314
0315
03ié
0317
0318
0319
0320
0321
0322
0323
0324
0325
0326
0327
0328
VEPAY

)

IV C COMPILER MAIN 05=-23=-73 14:

ED7=SQRT(VART7/FNFND)

WRITE(4,412) SD1,SD2,SD3,SD%4,505,506,SD7
CV1=SD1/SM1

CvV2=5D2/5SM2

CV3=SD2/SM3

CV4=SD4/SM4

CV5=SD5/SM5

CV6=SD6/5SM6b

CV7=SD7/SM7

WRITE(4,40) CV1,CV2,CV3,CV4,CV5,CVa,CVT
6=9.8]

T=285.0

DELZ=7.0

GAMMA=0.01

DELU=SM&/DEL?

DELU=DELU%*2

DELT=-SM7/DELZ
RI=(G*(DELT+GAMMA))/(T*DELU)
WRITE(4,13)

WRITE(4,14) RI

ST=RUNTIM/ FNFND

ST=ST7/2.0

WRITE(4,15)

WRITE(&4,14) ST

CALL AUTO(FMI4NM,L,R2)

CALL AUTD(FM24,NM,L4R3)

CALL AUTO(FM3,NM,L,R4)

CALL AUTO(FM44NM,yL,P5)

CALL AUTO(U,NFND,LS,RY)

CALL AUTO(DU,NFNC,LS,R6)
CALL AUTO(DT,NFND,LS,R7)
SMAI=SQRT(RL(1))
SMA2=SQRT(R2(1}))
SMA3=SQRT(R3(1))
SMA4=SQRT (R4 (1))
SMA5=SQRT(R5(1))
SMA6=SQRTI(R&(1))
SMA7=SQRT(RT7(1))

WRITE(4,16)
WRITE(4,17)(I4R2(I)4R2(1)4yR4(I),R5(I),I=1,L)
WRITE(4,18) :
WRITE(4,32)(I,RI(I)RE(T),R7(T),I=1,LS) -
WRITE(4,20)

WRITE(4,12) SMAZ2,SMA3,SMA4,SMAS,SMAL ,SMA6,SNVAT

RR1=R1(1)
RR2=R2(1)
RR3=R3(1)
RR&=R4 (1)
RR5=R5{1)
RRE=RE(1)
RR7=R7(1)

DO 180 I=1,L
R2(11=R2(1)/RR2
R3(1)=P2(1)/RR3
R4(1)1=R4(1)/PR4

PAGE 0006
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0330
0331
0332
0333
0334
0335
0336
0337
0338
0339
0340
0341
0342
0342
0344
0345
03246
0347
0248
0349
0350
0351
0352
0353
0354
0355

0356
0357

0358
0359
0360
0361
0362
0363
0364
0365
D365
0367
0368
0369
0370
0371
0372
0373
0374
0375
0376
0377
0378
0379
0380
0381
0382

180

181

190

200

R5(1)
DD 18
R1(I)
R&(1)
R7(1)
CALL
CALL
CALL
CALL
CALL
CALL

MAIN 05-23-73

=RS{I1)/RRS5

1 I=1,LS

=R1{I})/RR1

=R&6(1)/RR6

=R7(I}/RRY
CRGSS(FM1,FM2,AM,L,R101,R102)
CROSS({FMY,FM3,NM,L,R103,R104)
CROSS(FM],FM4 yNM,L,R105,R106)
CROSS(FM2,FM“3,NM,L,R107,R1G2)
CRGSS(FMZvFM4vNM1LyR109,9110)

DO 190 I=1,L

RIO1(I)=RIOL(I)/(SMpA2%SMA3)
R102(1)=R102(1)/(SMA2=SMA3)
R103(I)=R1032(I1)/(SMA2%SMAL)
R104(1)=R104(1)/{SMA2%SMAL)
R105(I)=R105(1)/(SMA2%SMAS)
RLO6(T)=R1I06(TI)/(SMA2%=SMAS)
R107(1)=R107(1)/(SMA3%XSMAL)
R108(1)=R108(I)/(SMA3%SMA4)
R109(I)=R109(1)/(SMA3%:SMAS)
R110(I)=RYI1C(I)/(SMA3%SMAS)
RI1L(I)=RI1I1(I)/(SMA4*SMAS)
RI12(1)=R112(1)/(SMA4%xSMAS)

WRITE

(4,22)

w

PAGE 0GOTY

WRITE£4'23)(IYR101(I)leOZ(I),R103(I),R104(I)leOS(i),RlOb(I),I=1,

ke «

1L)

WRITE(4,24)

WRITE(4,23)(1,R107(1),RICBILII,RICG(I),R

1L)
J=1

MNM=NM--1
DO 2CG0 JN=1,MNM,2

FMS1{
FMS2(
F4S3(
FMS4(
J=J+1
CALL
CALL
CALL
caLL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
CALL
DO 21
R200 (

J)=(FMI(JN)+FML(JUN+L) ) /2.0
J)=(FM2 (UN)+FM2(JN+1))/2.0
JI=(FMI(UNI+FM2(JN+1)1/2.0
JY=(FM4& (UNY+FM4 (UN+1)) /2.0

CRGSS(FMSY1,UsNFND,LSsR200,R201}
CROSS(FMS1,DUNFND,LS,R202,R203)
CROSS({FMS1,DT,NFND,LSyR204,5205)

CROSS{FMS2,U,NFND,LS,R210,R211) =

CROSS(FMS2,0U,NFND,LS,R212,R213)
CRCSS(FMS2,CT,NFND,LS,R214,R215)
CRCSS(FMS3,U,NFND,LSsR220,4R221)
CRBSS{(FMS3,DU,NFND,LSsR222,R223)
CROSS(FMS3,DT,NFND,LS,R224,R225)
CROSS(FMS4,UyNFND,LS,R230,R231)
CRCSS(FMS4,0U,NFND,LS,R232,R233)
CROSS(FMS4,DT,NFND,LSyR234,R235)
CROSS(U,DUyNFND,LS,yR20C,R301)
CRESS(USDT,NFND,LS,R302,R303)
CRCSS(CU,CT,NFND,LS,R304,R305)

0 J=1.18

JY=R200(J)/(SMAZ=SMAL)

1
kR

n
w

{1),R

.
1

1

Pt

(

I

JoR11Z2(T )y I=1,
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0383
0384
0385
0386
0387
0388
0389
0390
0391
0392
0393
0394
0395
0396
0397
0398
0399
0400
0401
0402
0403
0404
0405
0406
0407
0408
04009
0410
0411
0412
0413

0414
0415

0416
0417

0418
0419

0420
0421

0422
0422
0424
0425
0426
0427
0428
0429
0430
0431
0432

210

P201(J)=R201(J)/(SMA2%SNMAL)
R202(J)=R202(J)/(SMAZ%SMAL)
R203(J)=R203(J)/{SMA2%SMAL)
R204(J)=R204(J)/ (SMA2%SMAT)
R205(J.)1=R205(J)/{(SMA2%SMAT)
R210(J)=R210(J}/(SMA3*SMAL)
R211{(JV1=R211(J)/(SMA3%SMAL)
R212(J)=R212(J)/(SMAZ*SMAGL)
R213(J)=R213(J)/(SMA3=SMAL)
P214(J)=R214(J)/(SMA2%XSMAT)
R215(J)=R215(J)/(SMA3%SMAT)
R220(J)=R220(J)/(SMALXSMAYL)
R221(J)=R221(J)/(SMAG*SMAL)
R222(J)=R222(J)/(SMA4GXSMAG)
R223(J)=R223(J)/(SMA4*SMAE)
R224(J)=R224(J)/(SMA4L%SMAT)
R225(J)=R225(J)/(SMA4%SMAT)
P230(J)=R230(J)/(SMA5%SMAL)
R231(J)=R231{(J)/(SMAS%SNMAL)
R232(J)=R232(J)/(SMAS®SMAGL)
R233(J)=R233(J)/(SMASXSMAL)
R234(J)=R234(J)/(SMAS®SMAT)
R235(J)=R235(J)/{SMA5%SMA7)
R300(J)=R300(J)/(SMAL%SMASL)
R301(J)=R301(J)/(SMALI%SMAL)
R302(J)=R302(J)/(SMAL%SMAT)
R303{J)=R303(J)/(SMAL*SMAT)
R304(J)=R304(J)/(SMAEXSMAT)
R305(J)=R305(J)/(SMAEL#XSMAT)
WRITE(4,26)

14:33.03

PAGE 0008

WRITE(4,23)(1,R200(T1),R201(1),R202(1)4R203(1)4R204(1),4R205(1)y1=1,

iLs)

WRITE(4,27)

WRITE(4,23)(1,R210(T),R212(1),R212(1)4R213(1),R214(1),4R215(1)yI=1,

iLs)

WRITE(4,28)

WRITE(4,23)(1,R220(1),R221(1),R222(1),R223(1)1,R224(1),R225(1),1=1,

1L 8)

WRITE(4,29)

WRITE(4,23)(1,R230(T1),R231(1),R232(1),R233(1),R234(1),4R235(1),1=1,

1LS)

WRITE(4,30)

WRITE(4,23)(IpR300(I)yRBOl(I)yRBOZ(I319303(T),R304(I),R305(I),I=11

1LS)

AL1=0.0
ALZ2=0.0
AL3=0.0

.0
.0

AL10=0.0
AL11=0.0
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0433
0434
0435
0436
0437
0438
0439
0440
0441
0442
0443
0444
0445
0446
0447
0448
0449
0450
0451
0452
0453
0454
0455
0456

0457

0458
0459
0460
0461
0462
0463
0464
0465
0466
0467
0468
0469
0470
0471
0472
0473
0474
0475
0476
0477
0478
0479
0480
0481
0482
0483
0484
0485
0486
0487

220

221

400

401
411
402
403
404
405

901
200

903
302

905
904

906
410

911
310

913
912

914
420

500

501

DO 220 I=1,L
AL2=AL2+(R2(TI}*ST)
AL3=AL3+(R3(1)*ST)
AL4=AL4+(R4{I)*ST)
ALS=ALS+{R5(I)*ST)

DO 221 I=1,LS
AL1=AL1+(R1(I)%2.0%ST)
ALS=AL6+(R6(1)*2.0%ST)
ALT=AL7+(RT7(I)%2.0%ST)
WRITE(4,433)

WRITE(&,34) AL2,AL3,AL4,AL
VMAX1=2G0.0%C2
VMAX2=200,0%C2
VMAX3=200.0%C4
VMAX4=200,0%C5
TF(VMAX1-VMAX2)400,400,401
VMAXF=VMAX2

GO TO 411

VMAXF=VMAX]
IF{VMAXF=VMAX3)402,402,403
VMAXF=VMAX 3
IF(VMAXF-VMAX41404,404,405
VMAXF=VMAX4

CONTINUE

VMAXF=VMAXF%1.20

DO 410 J=1,NM

EMI(J)=FML (J)/VMAXF
IF(FM1(J)=1.€)SC0,SG0,901
FM1(J)=1.0

FM2(J)=FM2(J) /VMAXF
IF(FM2(J)=~1.C)S02,5C2,903
FM2(J)=1.0
FM3(J)=FM3(J)/VMAXF
IF(FM3(J)=-1.0)S04,504,505
FM3(J)=1.0

FM4(J)=FM&(J) /VMAXF
IF(FM4(J)=1.0)410,410,906
FM4(J)=1.0

CONTINUE

DO 420 J=1,NFND
UlJdr)=utJd)ss.o
IF(U(Y)=-1.0)61C,610,911
utJr=1.0

DULJ)I=DU(J)/3.5
IF(DU(J)-1.0)912,512,913
DU(J)=1.0

DT(J)=DT(J)/3.5
TF{DT(J)-1.0)420,420,914
DT(J)=1.0

CONTINUE

DO 500 J=1,L
XL(J)=FLOAT(J=1)*ST

DO 501 J=1,LS

X2 {J)=FLOAT(J=1)%5T=22.n
DO 502 J=1,NM

[@]
(&)
1
o
L)
'
-
w

14:31.03

S5yAL1,ALG,ALT

PAGE 0009
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0488
0489
0490
a9l
0492
0493
0494
0495
0496
0497
0498
0499
0500
0501
0502
0503
0504
0505
0506
0507
0508
0509
0510
0511
0512
0513
0514
0515
0516
0517
0518
0519
0520
0521
0522
0523
0524
0525
0526
0527
0528
0529
0530
0531
0532
0533
0534
0535
0536
0537
0538
053¢
0540
0541
0542

502

503

611
610

XX1(J)=FLOAT(J=1)=*ST

XX2(J)=FLDAT(J=1)=*ST+(S5T7/6.0)

XX3(J)=FLOAT(J=1}=xS8T+(<T/2 M

XX4(J)=FLOAT(J=1)%ST+(S57/2.0)

DO 503 J=1,NFNC

XXS5(J)=FLOAT(J=1)%2,0%ST+(ST*0.667)
XX6(A)=FLOAT(§-1,*Z.O*ST*(ST*O.833)
XXT(CJ)=FLOAT(J=1)*2.0%ST+(ST*1.833)

XTEST=X1(L)

XTEST=XTEST/10.0

XTEST=FLOAT(IFIX{XTEST))

XTEST=XTEST*10.0

XMIN==(XTEST+10.0)

AXLTHLI=(XTEST/10.0)+1.0

AXLTH2={XX4(NM)/20.0)+1.0 -
AXLTH3=2.0%AXLTH]

XPOS2=2.0%AXLTH1I+1.040.5

XPOS3=3,.0%¥AXLTH1+2.0+40.5

XPOS4=XPOS2=-AXLTH1

M=L

DO 504 J=1,L

RiIQ2R(M)=R1L02(J)

R1LO04R (M)=R104(J)

R106R(M)=R106(J)

R108R{M)=R1C8(J}

R1IOR{M)=R110(J)

R11Z2R(M)=R112(J)

M=M-1

D3 610 J=1,NFND

IF(DT(J))I61Y,£€10,61C

DT(J)==0DT(J)

CDNT?NUE

CALL PLTXMX(160.0)

CALL PAXIS(0.540.5,*TIME (SEC)'4-10,AXLTH1,0.C0,0.0,10.0,1.0)
CALL PAXIS(0.540.5y'AUTGCORRELATICN® b15,10.0,90.0,4=1.0,0.2+1.0)
CALL.PSYMB(I-0’1-01-0011'DPH76 C.D.JCNES‘.0.0;ES) . ﬂ
CALL PSYMB(3.041.04-0.3,DATIMEL0.0,15) :
CALL PLTDFS{0.Cy10.Cy=1.0,4C.2+0.5,0.5)

CALL PLINE{(X14P24L,1,44,041.0)

CALL PLINE({X14R3,L,144,1,1.0)

CALL PLINE(X1sR4,4L,144,2,1.0)

CALL PLINE(X1,R5,L4144,3,1.0)

CALL PLINE(X2,4R14LS+1,3,4,1.0)

CALL PLINE(X24R64LSy1+3+5,1.0)

CALL PLINE(X24R74LS+14246,1.0C)

CALL PAXIS(XPOS4,0.5,'TIME (SEC)"y=10s2AXLTHE3,0.0,XMIN,10.0,1.0)
CALL PAXIS(XP0S2,0.5,'CROSSCCORFPELATICN'y16,10.0,90.04-1.0,0.2,1.0)
XPOS4=XFDS2=X1(L)/1C.0O

CALL PLTDFS(0.0110-07'1-070.2,XPO$490-5)

CALL PLINE(X1,R102R,L41+4,0,1.0)

CALL PLINE(X1,RI0&4R,L,144,1,1.0)

CALL PLINE(X1,R106R,Ly144+241.0)

CALL PLINE(X1,R1I08RyLy14443,1.0)

CALL PLINE(X14R110R,Ls19444,1.0)

CALL PLINE(XYyRAL2R,L,41+4+5,1.0)
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0543 CALL PLTOFS{0+0+10.09y=1.040.24XP0S240.5)

0544 CALL PLINE(X1,4R101,L,1,44,0,1.0)

N548 CALL DLYMErVY G102 1 1,4,7,8.0)

0546 CALL PLINE(X1+R105,Ly14442+1.0)

0547 CALL PLINE(X1,yR107+Ly144,3,1.0)

0548 CALL‘PLINE(XI;PIOQ,L,I'4,491.0)

0549 CALL PLINE(X1I,R111,L,4144+5,1.C)

0550 CALQ.PAXIS(XPOS390.5,'TIME (SEC) " y=1CyAXLTHZ2,0.0,40.0
0551 CALL PAXIS(XP0OS2,0.5,'ARB UNITS',9,10.(6,90.0,0.0,0.1
0552 CALL PLTOFS(0.0,420.040.0,0.1,%XP0S3,0.5)

0553 CALL PLINE(XX1,FMY4sNM,y144,0,1.0)

0554 CALL PLINE(XXZ2,FM2yNMy1,4,1,1.0)

0555 CALL PLINE(XX3y)FM3,NMy1,44,2,1.0)

0556 CALL PLINE(XXA,FNQ,NM,I141311-0)

0557 CALL PLINE(XX5,DTsNFNDy143,6,1.0)

0558 CALL PLINE(XX64DUyNFND1,42,5,1.0)

0559 : CALL PLINE{(XX74+UyNFND,1,3,4,1.0)

0560 CALL PLTEND

0561 . sSTOP

0562 END

TOTAL MEMORY REQUIREMENTS 020662 BYTES
"DPRO" DCGES NOT EXIST.

' 2
sl
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0001
0002
0003
0004
0005
0006
0007
0008
0009
0010
00i1l
0012
0013
004
0015
0016
0017
0018
0019
0020
0021
0022
0022
0024
0025
0026
0027
0028
0c2¢e
0030
0031
0032
0033
0034
00325
0036
0037
0038
0039
0040
0041
0042
0043
0044
0045
Q046

0047
D048
0049
nose
0051
0052
0052
0054
0055
0056
0057

50
.60

70

80

101

102

20 MATN DATE = 73141

FORMAT(4F15.7)
FORMAT(T2,4F15.7)
FORMAT(1F6.1,10E11.3)

+ FORMAT(8FB8.3,4E12.3)

FORMAT(2F15.541F15.4,4F15.1)
READ(5,1)SH,CURR
READ(5,1)1R,Z2,BETA
READ(5 41 )GKYGKZ,U)
FREAD(5,1)SP,BP,OMIN L
WRITE(6,2)SH,CURR
WRITE(4,1)R,Z2,BETA
WRITE(H,L)GKY,GKZ,yU
WRITE(6,1)SP,BP,QMIN

PI=3.1415¢9

EPSLON=8.854E-12

R=-100.

EX1=0.0

EX2=0.0

EY1=0.0

FY2=0.0

EZ1=0.0

EZ2=0.0

p=SP

DP=10.

BETRAD=BETA*PI/180.0
DIFANG=2.0%(SQRT({(9.21*GKY )}/ (U*x(P+(DP/2.))1)))
DIFRAD=DIFANG*PI/180.0
DALFA=DIFRAD/1G.0
SALFA==DIFRAD/2.0
BALFA=+DIFRAD/2.0
HZ=SQRT{{(9.21%GKZ*{P+(DP/2.)))/U)
DZ1=HZ7/5.0

DVOL=PxDP*xDALFA*DZ1

ALFA=SALFA
AZ2l==0,2104%((ALFA**2)/(DIFRAD*%%2))
AZI=EXP(AZI)

L1=SH=-HLZ

BZ1=SH+HZ+{(DZ1/10.0)

CONTINUE

1IF(21)100,100,101

A=0.0

ELLO=Z21-~SH

ELLO==2.3026%{ (ELLO=*%2) /{HZ%%x2))
CHI1=(AZTx{(EXP(ELLO)))/HLZ
CHI1=(CHI1%*4.6052*%CURR)/(PI#U*P*DIFRAD)

23724720

PLN PROG

QSQD=(P*CNS(ALFA)=R*COS(BETRAD) ) *%2+ (P*SIN(ALFA)~R%SIN{(BETRAD) )**2

i+(21-122)%%2

0=SQRT(QSQD)

TF(Q-OMIN) 98,104,104 \
SINFI=(21-221/0Q
IF(L.0+SINFI1200,201,201
SINF1=-1.0

Gn TN 211

CONTINUE
IF(1.0-SINF1)210,211,211
SINFI=+1.0

CONTINUE

FI=ARSIN(SINFI)

PAGE 0001
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0058
D059
006Q
006l
0062
0062
0064
0065
0066
0067
n068
006¢
0070
0071
0072
0073
0074
0075
0076
0077
oo7e
0o7e
0080
0081
0082
0083
0084
0085
0086
0087
0088
0089
0090
0091
o092
0093

0094
0095
0096
0027
0098
0099
0100
0101
0102
0103
0104
0105
0106
0107
0lro08
0109
0110
0111
0112
0113
0114

LEVEL

600
601

800

801%
98

1i2

400
401

430
411

20 : MAIN DATE = 73141

COSFI=COSI(FI)
COSTHE=(P*COS{ALFA)=R*COS(RETRAD) )/ {Q*CQOSFI)
IF(1.0+COSTHE)}300,301,301
COSTHE==-1.0

GO TN 311

CONTINUE
IF(1.0-COSTHE)310,311, 311}
COSTHE=+1.0

CONTINUE

THE=ARCGS(COSTHE)
SINTHE=STIN(THE)
ELFLDI==~(CHI1*DVOL)/(4.0%PI*EPSLON*CSQD)
EXI=EXI+ELFLD2 =COSTHEXCOSFI
EZ1=E21+ELFLDY*SINFI
VECT=P*SIN(ALFA)=R*SIN(BETRAD)
IF(VECT)600,600,5601
ELFLD1==-ELFLD1
EYY=EY1+ELFLDI®SINTHE*CQOSFI
ITF(VECT)B00,800,801
ELFLD1=-ELFLDI1

CONTINUF

CHiIl=-CHI1

11==-171

A=A+1.5

IF(2.0-A)100,100,102

21=21+D21

[F(821-21)103,103,99

Z1=0.0

BZ1=HZ=SH=71+(D21/%10.0)
IF(BZ1)111,115,115

A=0.0

ELHI=71+SH

ELHI==2.3026%( (ELHIX*%2Z)/(HZI*%2))
CHI2=(AZI%(EXP(ELHI)))/HZ
CHI2=(CHI2*4.6052%CURR) /{PI*U*P*DIFRAD)

23/24/20

QSOD=(P*COS(ALFA)=R*COS{BETRAD) ) **2+(P*SIN(ALFA)=R*SIN(BETRAD) )**2

1+(21=72)%=%2
IF(Q-QMINY)1l4,116,116
SINFI=(721=-22)/Q
IF(1.0+SINFI)400,401,40}%
SINFI==1.0

GO TO 411

CONTINUE
IF(1.0-SINFI)410,411,411
SINFI=+1.0

CONTINUE

FI=ARSIN(SINFI)
COSFI=COS(FI)
COSTHE=(P=COS{ALFA)=R*COS(BETRAD))/(Q*CNSET)
1F(1.0+COSTHE)YS500,501,501
COSTHE==1.0

G0 10 511

CONTINUE
IF(1.0~-COSTHE)S510,512,511
COSTHE=+1.0

CONTINUE
THE=ARCGS(COSTHE)
SINTHE=SIN(THE)

PAGE 0002
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0il5
011é
nivze
0il8
019
0120
0121
o122
01232
0124
0125
0126
0127
0128
o129
0130
0131
0l32
0133
0l34
0135
0136
0137
0138
0139
0140
0141
0142
0143
0144

0145 .

0146
0147
0148
0149
0150
0151
0152

0153

0154
0155
0156
0157
0158
0159
0160
0161
01¢&2
0163

700
701

200

201
114

113
111
119

120
1100

Put pua
fed gt
N

(o Ne)

130
140
141

150
1000

1001
1010

1011

12000

20 MATN DATE = 73141

ELFLD2==(CHIZ2*DVOL) /(4. 0%PI*EPSLON*QSCD)
EX2=EX2+ELFLD2*%COSTHE=COSF 1
CI2=UI2 LT LD2x5INF]
VECT=PxSINIALFA)=RXSIN(BETRAD)
IF(VECT)700,700,701
ELFLDZ2==-ELFLD2
EY2=EY2+ELFLD2*SINTHE*=COSFI
IF(VECT)900,200,2901
ELFLD2==ELFLD2

CONTINUE

CHIZ2==CHI2

I1==171

A=A+1.5

IF(2.0-A)113,1132,112
11=71+D21

GO TO 110

ALFA=ALFA+DALFA
IF(BALFA+(DALFA/10.0)~ALFA)119,80,80
EX=EX1+EX2

EY=EY1+EY2

EZ=EL1+EZ2

p=pP+DP
IF(BP+(DP/10.0)-P)120,120,70
IF(R)1100,1100,1101
PLUDTM=Q.

GO 7O 1i02
PLUDIM=SQRT((9.,21%GKZ%R)/U)
CONTINUE

WRITE(6,5) GKY, GKZ,PLUDIMyR,EZ1,E22,EZ
12=72+1.

1IF{0.9~-22)130,€0,60

12=0.0

R=R+20.

IF(80.-R)140,60,860
IF(200.-R) 150,141,141
R=R+10.

GO TO &0
IF(R=290.)1000,1000,1001
R=300.

GO TO 560

R=R+190. ,
IF(R=-1000.)1010,1010,1011
CONTINUE

GO TO 60

GKY=GKY#*]10.

GKZ=GKz*10.
IF(110.-GKY)2000,50,50

STQP .

END

23/24/20

PAGE 0003
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FORTRAN IV G COMPILER

0001
0002
0003
0004
0005
0006
0007
0008
0009
0010
0011
0012
0013

0014

0015
0016
0017
0018
0019
0020
0021
0022
0023
0024
0025
0026
0027
0028
0029
0030
0031
0032
0033
0034
0035
0036
0037
0038

0039

0040
0041
0042
0043
0044
0045
0046
0047
0048
0049
0050
G051
0052
0053
0054

nnecr
(S

51

-t

[NoJo o B B o IRV, I SR VAR (V)

DIMENS ION
DIMENSION
DIMENSION
DIMENSIGON
DIMENSION
DIMENSION
DIMENSION
DIMENSION

MAIN 05-22-73 18:29,10 PAGE 0001

¥(1000),Y(1000),Z(1000) ,DXX(10060),DYY(1000),02Z(1000)
DS (1000).,X1(1600),X2(1000),Y1(1000),Y2(1000),FML{1000)
FM2(1000),SINFI1(1000),SINFIZ(1000),R1{1000),R2(1000)
A1(1000);AZ(100C),C1(1000),C2(1000).

X3(1600),Y3(1000) ,FM3(1000),SINFI3(1000)+R3(1000]}
A3(1000),C3(1000),C4(1000),C5(2000),C&(1000)

XX(1G00) o

RUN(4) '

FORMAT('1TRIAL)

WRITE(4,1)

FORMAT (3E15.3)

FORMAT(1&,

3E15.3,6F10.3)

FORMAT(8E15.3)
FORMAT (6F10.3)
FORMAT(4A4)

FORMATI('1

FORMAT (']

OSC.PLUME"')
MEAN,SDy SKEW MILLS?)

FORMAT(3E15.3)

WRITE(4,7)

READ(5,6)
READ(5,5)
READ(5,5)
READ(5,5)

WRITE(4,5)
WRITE(4,5)
WRITE(4,5)

RUN

RRLIyRR2yRR3,ALFAL JALFA2,ALFA3

AY AZ,FY FZyU,H

DDT,OX, TMAXyXMAX,BETA :
RR14+RRZ2,RR3,ALFAL,ALFA2,ALFA3
AY AZ,FY4FZyUyH

DDT 4DX,y TMAX ¢ XMAX 4yBETA

CURR=0.000001
EPSLON=8.85E~12

PI=3.14
DELT=DX/U

JMAX=IFIX{ XMAX/DX)
KMAX=TFIX(TMAX/DDT)

RPHC=CURR/U

ALFAL=ALFAL1%P1/180.0
ALFA2=ALFA2%P1/180.0
ALFA3=ALFA3*P1/180.0
BETAZBETA*PI/180.
XM1=RR1*COS(ALFAL)
YM1=RR1*SIN(ALFAL)
XM2=RR2%COS (ALFA2)
YM2=RR2*SIN(ALFA2)

XM3=RR3*COS(ALFAZ) T B

YM3=RR3*SIN(ALFA3)

I11=1
DT=0.0C
FLD1=0.0
FLDZ2=0.0
FLD3=0.0
T=0.0

DO 10 I=1,JMAX

X{I)=U=T

Y{T)=AY*T*SIN(2.0%P1%*FYX(T+DT))
IDASH=X(I}*TAN(BETA)
ZOT)=H+AZHTRSIM(2,0%PTHF72{T40T) )
L{I)=Z(I)+ZDASH

0S¢ PLMPROG




Dataset Limited

FORTRAN IV G COMPILER MAIN

05=22-73

15:29.10

(2.0%PI*EPSLON=*RY

(1))
(2.0%PI*EPSLONXR2(1))
(2.0%PI#EPSLOGN%R3(I))

0056 IF(Z(1)-0.1)13,1%,12

0057 11 z2(1)=0.1 '

0058 12 CONTINUE

0059 10 T=T+DELT

0060 JMAXL=JMAX=-1

0061 DO 20 I=1,JMAX1

0062 DXX(I)=X(T+1)=X(1)

0063 DYY(I)=Y(I+1)=Y(I)

0064 DZZ{IN=Z(T+1)=2(1)

0065 DS{T)=SQRT(DXX(I)**2+DYY(I)**2+DZZ(1)=%%2)
0066 20 CONTINUE

0067 DS (JMAX)=DS(JIMAXT)

0068 DO 30 T=1,JMAX

0069 XI(I)=X(I)=XM]1

0070 X2(1)=X(T1)=-XM2

0071 Yi(Ill=yY(I)=YM1

0072 Y2(I)=Y({I)=YM2

0073 X3{I)=X(1)=-XM3

0074 30 Y3(I)=Y(I)=YM3

0075 ' DO 40 I=1,JMAX

0076 RICIN=SQRT(XI(I)**x2+YL(I)**x2+472(1)*%2)
0077 R2(T)=SQRT(X2(I)#*%2+Y2(I)x%2+7()%x*2)
0078 R3(LIN=SORT(X3(T)1%k%24Y3 (1) *%x2+72(])#*%2)
0079 SINFIT(I)=2(1)/RYI(TI)

0080 SINFIZ(I)¥=2(1)/R2(I)

0081 SINFIZ(I)=Z(I)/R3(1)

0082 R1I(I)=RLI(I)%*2

0083 R2(T)=R2(T )=*%2

0084 R3(II=R3(T)=x2

0085 FLDYI=FLDY+(RHOXSINFIL(I)%DS(1))/
0086 FLD2=FLD2+ (RHO®=SINFI2(I*DS(I))/
0087 FLD3=FLD3+(RHOXSINFI3(I)1*DS(T1)}/
0088 : 40 CONTINUE

0089 FM1(II)=FLD1

0090 FM2(11)=FLD2

0091 FM3(II)=FLD3

0092 [1=11+1

0093 DT=CT+DOT

0094 TF{KMAX-IT1150,51,51

0095 ' 50 WRITE(4,2)(FML(I),FM2(I),FM3(I),I=1,KMAX)
0096 L=KMAX /2

0097 CALL AUTO(FM1,KMAX,L,AL)

0098 CALL AUTO(FMZ2,KMAX,»L,A2)

0099 CALL AUTO(FMZ,KMAX,L,A3)

0100 CALL CRCSS(FM1,FM24KMAX,L,C1,C2)
0101 CALL CROSS (FM1 yFM3,KMAX,L,L3,C4%)
0102 CALL CROSS{FM2,FM3,KMAX,L,C5,C8)
0103 SMI=SORT(AL(L))
0104 SM2=SQRT(AZ2(1))

0105 SM3=SQRT(A3(1))

0106 DO 60 I=1,L

0107 Ci(IN=Ci(I)/(SML*SM2)

n1nAe C20TY=C2(T)/(SMI%8M2)

0109 C3(I)=C3(1)/(SM1*5SM3)

0110 C4ll)=C4(1)/(SM1I%SM3)

PAGE 0002
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FORTRAN IV G COMPILER MAIN 05=22=73 15:29,10 _ PAGE 0003

0111
0112
0113

0114
0115
0116

o117 .

0118
0119
0120
0121
0122
0123
0124
0125
0126
cla7
0128
0129
0130
0131
0i32
0133
0134
0135
0136
0137
0138
0139
0140
0141
0142
0143
0144
0145
0146
0147
0148
0149
0150
0151
0152
0153
0154
0155
0156

0157.

0i58
0159
0160
.0161
0162
0163
0ls64

6G

500

70

102
i0l

100
i05
104

103
108
107

106
200

210

C5(I)=C5(1})Y/(SM2%KSM3)
Co(I)=Ce(I)/(SM2%SM3)
WRITE(4,3)(1, Ai([)yAz(I),AB(I),Ci(I)1C¢(I).CB(I) C4{I) C5(1),CHI(T)
1,I=1,L)

SFM“ .

SFMZ=0.

SFM3=0,

SKFMi=0.

SKFM2=Q.

SKFM3 =0,

FKMAX=FLOAT(KMAX)

DO 500 I=1,KMAX
SFMI=SFMI+FM1(1)
SFM2=SFM2+FM2(1)
SFM3=SFNM3+FM3( 1)
SFM1=SFMI/FKMAX
SFM2=SFM2/FKMAX
SFM3=SFM3/FKMAX

DO 501 I=1,KMAX
SKFMI=SKFMI+( (FML(I)=SFMI)=x%x3)
SKFM2=SKFM2+( (FM2(I)~SFM2)%x%3)
SKFM3=SKFM3+({FM3(I)}=SFM3)%%x3)
SKFMI=SKFM1/ (FKMAX=(SM1%x3))
SKFM2=SKFM2/{FKMAX%:{SM24%3) )
SKFM3= SKFWB/(FKMAX*(SMj**B))
WRITE(4,8)

WRITE(4,9) SFM1,SFM2,SFM3
WRITE(4,9) SML,SM2,S5M3
WRITE(4,9) SKFMI,SKFM2,SKFM3
DO 70 K=1,KMAX
XX(K)Y=FLOAT(K)*DDT
KMAX1=KMAX-1

FMMX=1.0

DO 200 I=1,KMAXL
IF(FH1(I)-FMMX)100,100,101
FMMX=2 « *FMMX

GO 70O 102

CONTINUE
IF(FMZ(I)=-FMMX)103,103,104
FMMX=2,*FMMX

GO TO 105

CONTINUE T
IF(FM3(I)=FMMX)1064,10&,107
FMMX=2 « ¥FMMX

GO TO 108

CONTINUE

CONTINUE

DO 210 I=1,KMAX
FML(I)=FMI(T)/FMMX
FM2{T)=FM2 (1) /FMMX
FM3{I)=FM3(1)/FMMX

T=0.

DO 300 I=1,JMAX

X(T)=U=%T

Y{I)=AY*THSIN(Z .*PI*FY%T)




Dataset Limited

FORTRAN 1V G

0165
0166
0167
0168
0169
0170

0171

L d 2

0172
0173
0174
0175
0176

0L77.

0178
0179
0180
0181
0182
0183
0184
0185
0186
0187
0188
0189
0190
0191
0192
0193
0194
0195
0196
0197
0198
0199
0200
0201
0202
0203
0204
0205

COMPILER MAIN 05-22=73 15:29.10 PAGE 0O0C4

IDASH=X(I)=TAN(BETA)

Z{I)=H+ (AZ=T=SIN(2.,%PI%FZ%*T))

I(1)=2(1)+2DASH

IF(Z(I)=-0,11301,300,300

Z([)=Ool

T=T+4DELT

DO 3210 I=1,JMAX

IF(AY)4C0,400,401

Y(I)=0.0

GO T0 402

Y(I)=Y(I)/ (AYXTMAX)

CONTINUE

IF(BETA)600,60C,601 .

ZCT)=Z{IY/ (H+(AZ2%TMAX))

GO 70 210

ZIIY=ZCIV/ {H+{AZ=TMAX)+(XTJMAX)=TAN(BETAY}))

CONTINUE .

AXLTH=TMAX /2.0

AXLTHL=XMAX/10.

XPOSi=AXLTH+3,

XPOS2=AXLTH+AXLTHL+6.

CALL PLTXMX{100.)

CALL PAXIS(0.540.543'TIME (SEC)?'4~10,AXLTH,0.0,0.042.0,1.0)
CALL PAXIS{0.540.59"ARB UNITS'y9,10.0450.0+0.040.2,1.0)
CALL PSYMB(1.0,1.0,~0.1,'DPH 76 C.D.JONES'"y0.0,18)

CALL PSYMR(1.042.09y~0.1,RUN,0.0,15)

CALL PLTOFS(0.042.040.040.140.540.5)

CALL PLINE{(XX,FM1,KMAX,1+y4,Cy1.0)

CALL PLINE (XX FM2,KMAX,1,&,1,1.0)

CALL PLINC(XXFM3,KMAXy144,251.0)

CaLL PAXIS(XPDS1I,0.5,'DIST (M) X' ,=10,AXLLTHL,0.0+40.0,70.0,3.0)
CALL PAXIS{XPOS1,40.5,'DIST (M) Y',~10,i0.0,90.0,~1.0,0.2+1.0)
CAaLL PLTOFS(0.Cy10.0,4~1.0,0.2,XP0SY,40.5)

CALL PLINE(X,Y,JMAX,1,0,0,1.0)

CALL PAXIS(XPDS2,0.5,'DIST (M) X',-10,AXLTHY,0.0,0.0,10.0,%1.0)
CALL PAXIS(XP0NS240.5,'DIST (M) Z2',~10,10.0,50.0,0.0,0.1,1.0)
CAaLL PLTOFS(0.0,10.0,0.0,0.1,X%XPCGS2,0.5)

CALL PLINE(X,ZyJMAX1,0,0,1.0).

CALL PLTEND

STQP

END

GLOBAL TIME LIMIT EXCEEDED AT 905099B2
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]

-

FCRTRAN IV C COMPILEP NAIR Cé=C4a=77

12:42,.25
0001 i1 FCRNAT(EA4)
0002 12 FCEVMAT(FI10.3)
0002 CIMENSICN CATIFE(S)
0004 . DIVMENSICN XE(BC),YP{50),ZF(%0)
Q008 REAL=R TT
0Cce XPCS=C.E
007 . IMAX=4C
noce IMIN=TINMAX=2C
-.BCQ¢ REAC(2,%7) CATIME
DoicC CALL PLTXMX(1éC.}
00i1i CaLL FSYMB(1.C4y.0C.04~0.14CATINE,C.C,32)
0012 CALL FSYMB(1.C+S.Cy=N.3,'CFFTE',C.0,E)
0013 REAC(Z,12) [T
0014 104 REACI(3) T4W¥a(XEB(J)yYPUUJYLZF(J)ed=2 M)
0015 IF(I=INMIN)YZCZ2,1C2,1C
001¢ 101 IF(IMpAX=-T)1CC,1C2,102
0017 102 CCNTINLE
noxre T=CT=FLCAT(I)
00s XPCS1=XFCS+C.5
002¢ MMMzt V=]
0021 TT=1
Q022 CALL FAXIS(XPCS,y2.5,4'X (N)'y=515-C;CﬁC1O-quC“C11-C)
nnz2 CALL FAXISU{XFCS,yCa54'Y (MY',E,4.04,6C.CyiC.CHy=F.Cy1.0)
Qn24 CALL PLTCFS(C.C,yy3C.CyCe0,=5.0,XFCE,2.5)
gcz2¢ CALL FLINF(XF,YP MMM, 1 ,3,(41.0)
002¢ CALL PAXIS({XPCS,4E.5,4'X (M)'"y=8,5.(4,0.040.C470.C,5.0)
0027 CALL FAXIS(XFOS¢5.54'2 (M)'",5,4,(0,5C.0,C.Cs5.C,1.0)
002 €& CALL FRAMBRR{XPCS1+9.590.29TT4CC,'FI1C.2 %*',0.C)
Qc2¢ CaLL PLICFSI0.0,70.C,C.CyR.0,XPLS,E.8)
on3g CALL FLINE(XP, 2P #MM,1,14Cy1.C)
00721 XPCS=XFCS+€.5
0032 TF{IMAX=T)21CC,1CC,102
0032 ic3 GC TN iC4
0034 100 CCNTINLE
00385 CAaLL FLTIENLC
QCc3e STCP
0037 ENC

TOTAL MEMCRY RECUIREMENTS OCC7EE BYTES

EXECUTICN TERNMINATEC

FACE 0001

PLMPOSN PROG
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FORTRAN IV G COMPILFR XSPECT

0001
0002
0003
nans
0005
D006
0007
0008
0009
0C1l0
6011
00L2
0013
0014
0015
00ie
007
0018
0019
0020
0021
0022
00232
0024
0025
00256
0027
0628
002¢
0030
0031
0032
0033
0034
0C35
0036
0037
0038
00369
0040
0041
N042
0043
0044
0045
004¢
0047

101
100

10

30

50

40

05-21~73 - 15748.37

SUBROUTINE XSPECT(DELFyLyRyS,GXY,PHIXY)
DIMENSION R(100),5(100)5A(100),B(100)
DIMENSION C(1C0),Q(100),GXY(100),PHIXY(100)
SIMENSICN CLUIUUY.RULI00)

PI=3.,142

SGMA=0,

SGMB=O .

M=L-1

XM=FLOAT (M)

DO 5 I=1,L

A(IY=(RITY+S(T)) /2.
B{I)=(R(I)=S(I))/2.

DU 20 K=17L

KK=K=1
KKK=2+KK=TFIX (2 *FLGAT{IFIX(0.5%FLOAT(KK))})
DO 10 J=21|'"l -
THETA=(PI/XM)*FLGAT((J=1)%KK)
IF{THETA=2 .%P1)99,99,100

THETA=THET A=2.%P]

GO 70 101

CONTINUE

AA=A{J)*COS{THETA)

BB=B(J)*SIN(THETA)

SGMA=SGMA+AA

SGMB=SGMR+RB
BRKT=A(1)+2 . %#SGMA+( (=1, ) %EKKKI*A (L)
CIK)=BRKT/ (XM*DELF)
Q(K)=2.,%SGMB /( XMXDELF)

SGMA=0.

SGMP):Oo

CONTINUE

CC(1)=0.5%C(1)+0.5%C(2)
CCIL)=0.5%C{L=1)+0.5%C(L)
BQ(1)=0.5%Q(1)+0.5%0(2)
DO(L)=0.5%Q(L~1)+0.5%Q(L)

DO 30 K=2,M
CCUK}=0.25%C(K=1)140.5%0(K)+0.25%C(K+1)
QQ(K)=0.25%Q(K=1)140.5%¥Q(K)+0.25%Q(K+1)
DO 50 K=1,L :
C(K)=CCI(K)
QIK)=QG(K)

DO 40 1=1,L
GXY(I)=ClT)%%2+4Q(T )

2
PHIXY(I)=ATAN(Q(I)/C(I})
PHIXY(1)=PHIXY(I1%3¢60./6.284
RETURN :

END

TOTAL MEMCRY REQUIREMENTS OOOFB8A BYTES

EXECUTION TERMINATED

PAGE 0001
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FORTRAN IV G COMPILER ASPECT

0001

30

40

20

05-21=-73 15

SUBRDUTINE ASPECTI(DELF,LyR,G)
DIMENSION G(106),R(100)
CIFENDIGN Gotiuy)

PI1=3,142

SGMA=0.

M=L=-1

XM=FLOAT (M)

PO 20 K=1,L

KK=K=1
KKK=2+KK=TFIX{(2.#FLCAT(IFIX(0.5%FLOAT(KK))))
DO 10 J=2,M

THETA=(PI/XM)*FLOAT((J=1)%KK)
IF(THETA=2 .*P1)99,99,100
THETA=THETA=2.%*P]1

GO 70 101 -
AA=R (J)*CDS(THETA)

SGMA=SGMA+AA
BRKT=R(1)+2.%SGMA+( (=] . )**KKK)*R (L)
G(K)=BRKT/ (XM*DELF)

SGMA=0.

CONTINUE

GG(1)1=0.5%G{(1)+0.5%C(2)
GGIL)=0.5%G(L=1)1+0.5%G(L)

DO 30 K=2.M
GGIK)I=0.25*%G(K=1)+0.5%G(K)+0.25%CG(K+1)
DO 40 K=i,L

G(K)=GG(K)
RETURN
END

TOTAL MEMCRY REQUIREMENTS 00063A BYTES

48,12

PAGE 0001
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FORTRAN IV G COMPILER

0386
0387
usdd
0389
0390
0391
0392
0393
0394
0395
03¢es
0397
0398
0399
0400
0401
0402
0403
0404
0405
0406

CALL
CALL
CALL
catt
caLL
CallL
CaLL
CALL
CAaLL
CALL
CALL
CAaLL
CALL
CALL
CALL
CALL
caLL
CALL
CALL
STOP
END

MAIN 05=21-73

t‘ﬂ
n
-
~
L]

™
o

PAGE 00CS8

PLTOFS(0.0,0.0540.C0990.0460.0,7.5)
PLINE(XX},PS2,Ly1,5,1,1.0) ’

I"AX]S(?L‘oUVZ-S"FREQUENCY (HZ)' 1'2497.010-0,0-010-0511-0)
PAXIS(7C.040.5,'PHASE SPECTRUM',14,4.Q390.09‘180.0190.071-0,
PLTCFS{C.040.0540.C9y50.G+70.0,2.5)
PLINE(XX1,4PS3yLy14542,1.0)

PAXIS(70.047.5,'FREQUENCY (HZ)',y~14,7.040.0,0.0,0.05,1.0)
PAXTIS({70.095.5,'PHASE SPECTRUM? y14+4.09S0.04~180.0,9G.0,1.0)
PLTOFS(0.04y0.0540.0,20.0,70.0,7.5)
PLINE(XX19PS4,0L414593,1.0)

PAXIS(80.042.5,'FREQUENCY (HZ)'4-14,7.040.0,0.0,0.05,1.0)
PAXIS(8C.040.54'PHASE SPECTRUM' ,1%,4,0,60.0,4-180.0,90.0,+1.0)
PLTOFS(0.040.0540.6420.,0,+80.042.5)
PLINE(XX14PS5,L914544,1.0)

PAXIS(80.,0,7.5, "FREQUENCY (HZ)',-14,7.C,yC.0,0.0,0.05,1.0)
PAXIS(80.0,5.5,'PHASE SPECTRUM',14,44.0,90.0,-180.0,90.0,1.0)
PLTOFS(C.0,0.05,0.0490.0,80.8,7.5)
PLINE(XXIyPS6yLy14545,1.0)

PLTEND

TOTAL MEMGRY REQUIREMENTS O13BSE BYTES
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FORTRAN IV C COMPILER

0331
0332
0333

niay,
03325
0336
0337
0328
0339
0340
0341
0342
0343
0344
0345
0346
0347
0348
0349
0350
N351
0352
0353
0354
0355
0356
0357
0358
0259
0360
0361
0362
0363
0364
0365
0366
0367
0368
0269
0370
0371
0372
0373
Q374
0375
0376
0377
0378
D379
0380
0281
0382
0283
0384
0385

CALL
CaLL
CALL
CALL
CALL
cattL
calt

caLL
CALL

CALL
CAaLL
CALL
CALL
CALL
CALL
CaLL
CALL
CALL
CALL
CALL
CALL
CALL
caLL
CALL
CALL
CALL
CaLL
CALL
catlL
CALL
CALL
CALL
CALL
CALL
CALL
CaLL
CALL
CALL
CALL
CALL
CALL
caLL
CaLL
CALL
CatLL
CALL
CALL
CALL
CALL
CaLL
CALL
CALL
CALL
CALL
CALL
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PAXIS(0.5,0.5y *RELATIVE PSD*,12,4.0,5C.0,0.0,0.25,1.0)
PSYMB(1.0,1.04~0.1,'DPH76 C.D.JONES'y0.0,15)
PLTDFS(O0010005'0.070-2590¢5|O.‘;‘

PLINE(XXE G1lyL+145,0,1.0)
PAXIS(O.S,S.S?'FREQUENCY (HZ)'1“1417.0|0-01
PAXIS(G.545.5,"RELATIVE PSD',12,4.0,290.0,0.
PLTOFS(0.0,0.0540.040.2540.545.51)
PLINE(XX19G2sL +1+454141.0)
PAXIS(10.040.5,'FREQUENCY (HZ)'"4=14,7.C40.040.0,0.05,1.0)
PAXTIS(10.0,0.5,"FELATIVE PSD"y12,4.0,9C.0+0.0,0.25,1.0)
PLTOFS(0.040.05,0.0,0.25,10.0,0.5)
PLINE(XX14G3,Ly145,2,1.0)

PAXIS(10.045.5,'FREQUENCY (HZ)'4y=14,7.0,0.040.0,0.05,1.0)
PAXIS(10.Cy5.54'RELATIVE PSD'412+94.0+90.040.040.25,1.0)
PLTOFSI{0.0,0.05,0.0,0.254%0.0,+5.5)
PLINE{XX1,64,L,1+5932,1.0)
PAXIS(20.0,0.5y*'FREQUENCY (HZ)'"4~14,7.0,C
PAXIS(20.090.5y'RELATIVE PSD?",12,44,0,90.
PLTOFS(0.0+0.05,0.040.25,20.0,0.51
PLINE(XX2+G59LSy24+5494,+1.0)
PAXIS(20.045.5,'"FREQUENCY (HZ)',=14,7.L,C.0,0.0,0.05,1.0)
PAXTIS(20.045.5,'RELATIVE PSD'",12,4.0,90.040.04,0.25,1.0)
PLTOFS(Q.(4y0.0540.040.25420.04+5.5)

PLINE(XX24G6+LS119545,1.0)

PLINE(XX2:G73LSy195:642.0) ) :
PAXIS{30.0y0e5y'"FREQUENCY (HZ) "' 4y=164+7.04Co0y0.040.05,1.0)
PAXIS(30.0,0.5,'COHERENCY SPECTRUM' 4,18,4.0,90.0+0.0,0.25,1.0)
PLTOFS(0.040.054040,0.25+30.0,0.5%)

PLINE(XX1,LS1,L,1+5,0,1.0)

PAXIS(30.0,5.5y'FREQUENCY (HZ}'y-14,7.040.0,0.0,0.05,1.0)
PAXIS{(20.045.5,'COHERENCY SPECTRUM',18,4.0,90.0,40.0,0.25,1.0)
PLTOFS(0.040.05404G+0.25+30.0+5.5)

PLINE{XX1,CS24L+1+5+1,1.0)

PAXIS{40.0,0.5,'FREQUENCY (HZ)"',-14,7.0,40.0,0.0,0.05,1.0)
PAXIS(40.0,0.5,'COHERENCY SPECTRUM' ,1844.0,90.0,0.0,0.25,1.0)
PLTOFS{0.0,0.05,0.0,0.2%8,4GC.0,C.5) .
PLINE(XX1,CS3,L914542,1.0)

PAXIS(40.045.5,'FREQUENCY (HZ)',4~]4,7.0,0.0,0.0,0.05,1.0)
PAXIS(40.095.5,'COHERENCY SPECTRUM',18+44.0,90.040.040425,1.0)
PLTOFS(0.040.0540.040.25440.0495.5)

PLINE(XX14CS4,0L,1+5+,3,1.0)

PAXIS(50.040.5,'"FREQUENCY (HZ)'4-~14,7.0,0.0,0.0,0.05,1.0)
PAXIS(50.040.5y *COHERENCY SPECTRUM',1844.,0,S0.040.04+0.25,1.0)
PLTUFS(Oq910o0590-090-25950.010.5)
PLINE(XX1,CS54L,14544,1.0)
PAXIS{(50.0¢5.54'FREQUENCY (HZ)'4-14,7.0,0.040.0,0.05
PAXIS(50.0+5¢5,"' COHERENCY SPECTRUM'41844.0490.0,0.0,
PLTOFS{0.0+0.0540.090.25,50.0+5.5)
PLINE(XXY1,CS64L3145454+1.0) .
PAXIS(60.092.5,"'FREQUENCY (HZ)'4y~3i447.040.0+0.0,0.05,1.0)
PAXIS{60.0,0.5y'PHASE SPECTRUM® 414,44.0,90.0,-180.0950.0,1.0)
PLTOFS{0.0+s0.0540.C9y32C.0450.0,2.5])
PLINF(XX1,PS1,L+14+5,0,1.0)

PAXIS{(60.0s7.5y"'FREQUENCY (HZ)'4-14,7.C,0.0,40.0,0.05,1.0)
PAXIS(60.045.5,"PHASE SPECTRUM',414,4.0,90.0,-180.0,90.0,1.0)

05,1.0)

'y O,
25,1.0)

0070.0'
D,0.0’On
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FORTRAN IV C COMPILER MATN

0276
0277
0278
3279
0280
0281
0282
0283
0284
0285
0286
0287
0288
0289
0290
0291
0292
06233
0294
0295
0296
0297
0298
0299
0300
0301
0302
0303
0304
0305
0306
0307
G308
0309
0310
03211
0312
0313
0314
0315
0316
0317
0318
0319
0320
0321
0322
0323
0324
0325
0326
€327
6328
0329
0330

400

202
201

205

204
207
206
208
200

210

222
221
224
223
225
220

05-21-73  — 15

\n
L
£
£
. -
[§¢)
o

PAGE 0006

CALL XSPECT(DELF,L,RP5,R€,CS2,PS3)
CaLL XSPECT(DELF,L,R7,R8,CS4,PS4)
CALL XSPECT(DELF,L,R?,R10,CS5,PS5)
CALL XSPECT(DEL~,L4R11,R1Z,CS6,PS6)

DO 400 K=1,L
CSLI(K)=CSA(K)/(GL(K)I*G2(K))
CS2(K)=CS2(K)/{GL(KI®*G3(K))
CS3(K)I=CS3(K)/{(G1(K)*G4(K))
CS4(K)=CS4 (K /(G2{KI*G3(K))
CS5(KI=CS5{(K)/(G2(K)*G4(K))
CSH6(K)=CSE{K)I/{G3(KI*G4(K))
WRITE(®,14)

WRITE(6,15)(K,CSI(K),CS2(K),CS3(K),CS4(K),CS5(K),CSE(K) K=1,L)

WRITE(6,16)

wRITE(é'IS)(K,PSi(K)oPSZ(K),PSB(K)9P54(§)§PSS(K),PS&(K),K=1yL)

Al=0.

A2 =0.

A3=0.

A4=0.

AS=0.

h6=0

AT7=9

DO 2C0 K=1,L
IFIGLI(K)=A1)201,201,202
AL =Gl (K)
IF(G2(K)=A2)204,204,205
£2=6G2(K)
IF(G2(K)~A3)206,206,207
A3=G2(K)
IF({G4(K)=A4)20G,200,208
AL=G4(K)

CONTINUE

DO 210 K=1,L
GLIKI=G1(K)/AL
G2(K)=G2(K) /A2
G3(K)=G3(K)/A3
G4(K)=64(K)/AL

DO 220 K=1,LS
IFIG5(K)~-A5)221,221,222
A5=65(K)
IFIGLIK)=A8)223,223,224
A6=G5(K) -
IF(GT(K)=AT)22C,220,7225
AT=GT7(K)

CONTINUE

DO 21} K=1,LS
G5(K)=G5(K)/A5
Go{K)I=G6I(K) /AL
GT(K)=GT(K)/AT

DO 230 K=1,L
XXL(K)Y=DFLF#FLOAT(K)

DO 231 K=1,LS
XX2(K)=DELFEFLCATI(K)
CALL PLTXMX(120.)

CALL PAXTIS{0.5,0.5,'FREQUENCY

(HZ)'1“14,7.0,0.010.090-0591-0’
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FORTRAN IV G COMPILER MAIN 05=21-723 15:44,20

0221
0222
0223
0224
0225
0226
0227
0228
0229
0230
0231
0232
0233
0234
0235
0236
0237
0238
0239
0240
0241
D242
0243
0244
0245
0246
0247
0248
0249
0250
Nz51
0252
0253
0254
0255
0256
0257
0258
0259
0260
0261
0262
0263
0264
0265
0266
0267
0268
0269
0270
0271
0272
0273
027«
0275

300

301

302

(4%}
o
[S%]

WRITE(643) SMISM2,SM3,SM4,SM5,SMEy SMT
WRITE(S44)

WRITE(H43) SSD1,5SDZ,5503,8SSC4,S5C5,S5506&,SE8C7.

WRITE(6,5)
WRITE(643) SSKL,SSK2,SSK3,S55K4,SSK5 ySSK6 4 SSK7
WRITE(6,13)

WRITE(593) SKL,SK2,SK3,SK&,SK5,SKéSK?
L=NM/10

LS=L/2

DO 300 K=2,NM |

PWFML (K)=FML (K)=FF%FMI (K=1)
PWEM2(K)=FM2 (K )=FF*FM2(K=1)

PWFM3 (K)=FM3 (K)=FF#FM3 (K=~1)

PUEMG (K)=FM4 (K )=FF%FM4(K=1)

DO 301 K=2,NEND ] -
PWU(KI=U(K)=FF%U{K~1)
PWDU(K) =DU(K)=FF#*DU (K=1
PWOT (K)=DT (K)=FF=DT (K=}
DO 202 K=2,NM
FM1(K)=PWFML(K)

FMZ (K)=PWFM2 (K)
FM3(K)=PWFM3 (K )

)
)

FM4 (K} =PWFM4 (K)

DO 303 K=2,NFND

UIK)=PWUIK)

DU(K}=9WDU(K,

DT{K}=PWDT (K)

CALL AUTO(FMI yNM,LyRY1)

CALL AUTO(FMZ2,NM,L,R2)

CALL AUTO(FM3,NM,L,R3)

CALL AUTO(FM4,NM,L,yR&)

CALL AUTQO(U,NFND,LS,R5)

CALL AUTO(DU,NFND,LS,R56)

CALL AUTO{DT4yNFND,LS,RT)
ODT=(RUNTIM*60.,)/FNM
DELF=1./(2.%FLCAT(L=1)*DDT)

CALL ASPECTI(DELF,L,R1,CG1)

CALL ASPECTI(DELF,L4R2,G2)

CALL ASPECT(DELF,L+R3,G3)

CALL ASPECT(DELF,L yR4,G4)

CALL ASPECTIDELF,LS,R5,G5)

CALL ASPECT(DELF,LS,R&,G6)

CALL ASPECT(DELF.LSyR7,G7}
WRITE(&,9)

WRITE(H 12 )I(K,GLIK)G2(K),G3(K),Ga(K),K=1,L)
WRITE(6,10) .
WRITE(8,12)(KyGB(K)4GHIK) GT7(K),K=1,LS)
CALL CROSS(FM1,FM2,NM,L,R1,R2)
CALL CROSS(FM1,FM34NM,L4R3,R4)
CALL CROSS(FM1,FM&4,NMyL4R5,R6)
CALL CROSS(FM2,FM32,NM,L,R7,R8)
CALL CROSS(FM2FM4 NMyLE9,R10)
CALL CROSS(FM3,FM&G,NMyLR11,R12)
CALL XSPECT(DELF,L,R1,R2,CS1,PS1)
CALL XSPECT(DELFsL,.R3,R%4,CS82,PS52)

PAGE QQO05
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FORTRAN IV G COMPILER MAIN 05~21~-73

0166
0167
0168
0170
0171
0172
0173
0174
0175
0175
0177
0178
0179
0180
- (0181}
0182
0183
0184
0185
0186
0187
0188
0189
0190
o181
pioz2
0193
0ige
0195
0195
0197
0l98
0199
0200
0201
0202
0203
0204
0205
0206
0207
0208
0209
0210
0211
0212
0213
0214
0215
0216
0217
0218
0219
0220

(o]

)
C~

170

171

is8l

SSDY1=SSDI+(FM1(J)-SM1)*
S5D2=S502+ (FM2(J)=SM2)*
SSD3=SSD3+(FM3(J)=SM3)*
S5C4A-330¢r{Fmaidl=5ra) =
SSC1l=SQRT(SSDY1/FNM)
SSC2=SQRT{(SSD2/FNM)
SSD3=SQRT(SSD3/FNM)
SSD4=SQRT(SSC4&/FNM)

DO 161 J=1yNFNDO
SSD5=SSDS+(U(J)=SM5)*%x2
SSD6=5SD&+(DU(J)=SM6) **2
SSD7=SSD7+(DT(J)=SMT)*%2
SSD5=5QRT(SSDE/FNFND)
SSD6=SQRT(SSD6/FNFND)
SSD7=SQRT(SSD7/FNFND)

DD 170 J=1i,NM
SSKI1=SSK1+(FM1(J)=SMY)=*x%*3
SSK2=SSK2+(FM2(J)=5M2) %*3
SSK3=SSK3+(FM2(J)-SVMI)x%x3
SSK4=5SK&+ (FM4(J)=SM4&)=x3
SSKI=SSK1/ (FNM*(SSD1%*%*3))
SSK2=SSK2/ {FNME(SSD2%%*3))
SSK3=5SK3/ (FNM*(SSD3%*3) )
SSK&=SSK4/ (FNME(SSD4%*%3))
DO 171 J=1,NFND
SSK5=SSKS5+(U{(J)=SM5) %3
SSK6=SSKE+(DU(J)=-SME ) %%3
SSKT=SSKT7+(DT{J)-SMT)&%3
SSK5=S5K5/ (FNFND*(SSD5%%*3) )
SSK5=SSK&E/ {FNFND*(5SD6%%3) )
SSK7=SSKT7/(FNFND*{SSDT7=%%3})
SK1=0.0

*2
*2
2
J

*
x

© SK2=0.0

SK3=0.0

SK&=0.0

SK5=0.0

SK4=0.0

SK7=0.0

DO. 180 J=1,NM
SK1=SKL1+(FMY (J)~SML)*%4
SK2=SK2+(FM2 (J)~SM2) **x4
SK3=SK3+(FM3(J)~SM3 )*kxg
SK4=SK4+(FM4(J)=SM&)=x4
SK1=5K1/(FNM*x(SSD1l**4))
SK2=SK2/(FNM%(SSD2%%4))
SK3=SK3/(FNM*(S5D3:x%4))
SK4=SK4 /(FNM*(SSD4*%*4) )
DO 181 J=1,NFND
SK5=5K5+(U(J)=5M5) *=*x4
SK&=SKe+ (DU J)=SMb6) ==
SK7=SK7+(DT(J)-SM7) *=%4
SK5=SK5/(FNFND*(55D5%%4) )
SK6=SK&/ (FNFND*(SSDE%*4))
SKT=SK7/(FNFND=*(SS5D7%%*4))
WRITE(6,2)

15244520

PAGE 0004
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FORTRAN 1V G COMPILER MAIN 05=21-73
‘0111 GO TO 130

0112 132 J=J+2

nliz LA A

0ile NM=2%NFND

015 DO 140 JUN=1,NM
0116 FMYL{JUN)=FM1(J)
0117 FM2(JIN)Y=FM2(J)
0118 FM3LJINY=FM3(J)
Oll¢e Fria (INY=FMa (D)
0120 140 J=J+1

0izz ULKN)=U(K)
0123 DULKNI=DU(K)
0124 DT (KN)=0T(K)
0i25 143 K=K+1}

0126 FNM=FLOAT (NM)
0127 FNFND=FLOAT(NFND)
0128 S#1=0.0

0126 SM2=G6.0

¢130 SM2=0.0

01321 SM4=0.0

0132 SM5=0.0

0133 SM6=0.0

0134 SM7=0.0

0135 SSD1=0.0

01356 S5§D2=0.0

0137 SSD3=0.0

0138 $SD4=0.0

0139 S5D05=0.0

0140 $5D6=0.0

0141 SSD7=0.0

01s2 $8K1=0.0

0143 SSKz2=0.0

0144 S$SK3=0.0

0145 SSK&4=0.0

0146 SSK5=0.C

0147 SSK&=0.0

0148 SSK7=0.0

0149 DO 150 J=1,NM
0150 SMI=SMi+FM1 (J)
0151 SM2=SM2+FM2(J)
0152 SM3=SM3+FM3(J)
0153 150 SM4=SM4+FMa(J)
D154 SM1=SM1/FNM
0155 SM2=5M2/FNM
0156 SM3=SM3/FNM
0157 SM4=SM4 /FNM
0158 DO 15% J=1,NFND
0159 SM5=SM5+UU(J)
0160 SM&E=SMA+DUL )
0161 151 SM7=S5M7+DT(J)
0162 SM5=SM5/FNFND
0163 SMHE=SM&/FNFND
0164 SM7=SM7/FNFND
0165 DO 160 J=1 ,NM

PAGE 0003



FORTRAN IV C COMPILER MAIN 05-=231-72 15:44.20 PAGE 0002

0056 co=C
0057 GO TO 100
0058 107 AT7=A
0059 B7=8
0060 c7=C
006} GO TO 100
0062 108  AB8=A
0063 B8=B
0064 c8=C
0065 GO TO 100
0066 109  A9=A :
0067 B9=B
0068 Co=C
0069 GO TO 100
0075 110 A10=A _—
0071 B10=8
0072 cio=Cc .
0073 GO TO 160
0074 111 All=A
0075 . . ~ Bl1=8 .
0076 C11=C :
0077 IF(J-11)726,120,12
0078 126  STOP
B 0079 120  CONTINUE
E 0080 J=10C0
3 0081 K=500
B 0082 | NFND=0
3 0083 130 READ(5,7)M,11,111,110,19,18,16,17,15,14,13,12
3 0084 IF(M~9999)133,132,131
0085 131 NFND=NFND+1
0086 COMP=703./FLOATIM)
0087 U(K)=(AR=FLOAT (11)+B1)#C)
0088 FML(J=1)=(A2*FLOAT(12)+82)*C2
0089 FM2(J=1)=(A3%FLOAT(I3)+B3)%C3
0090 FM3(J=1)=(A4*FLOAT (14)+B4)%C4
0091 FM&4(J=1)=(AS*FLOAT(15)+B5)*C5
0092 DUIK)=(A6%FLCAT(16)+BE) *CE
0093 DT (K)=(AT*FLCAT(I7)+B7)%C7
0094 FM1(J)=(AB*FLOAT(I8)+BB)*CE
0095 FM2(J)=(AS®FLOAT(19)+B9)*CO
0096 FM3(J)=(ALO%FLCAT(110)+B191%C10
0057 FM&4(J)=(AL1*#FLOAT(I11)+B11)=C11
0098 ULK)=U(K)*COMP
0099 FML(J=1)=FML{J=1)*COMP
0100 FM2(J=1)=FM2(J~1)*COMP
0101 EM3 (J=1 ) =FM3 (J=1)*%COMP
0102 FM& (J=2 ) =F M4 (J=1)%CCMP
0103 DU(K)=DU(K)=COMP
0104 DT (K)=DT(K)*COMP
0105 FML{J)=FM1{J)*COMP
0106 FM2(J)=FM2 (J)*CCMP
0107 FM3(J)=FM3 (J)*CCMP
0108 FM4(J)=FM&4(J)*COMP
0109 J=J=2

| 0110 K=K=-1
|
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FORTRAN

0col
0002
0003
0004
6005
0006
ooe7
6008
0009
00io0
0011
0012
po12
G014
0015
0016
0017
0018
oo1l¢e
Qo20
0021
0022
0023
0024
0025
0026
0027
0028
0029
003¢C
0031
0032
o032
0034
00325
003&

0037

co3s

0039

0040

. 0041

0042
0043

0044

0045
0046
0047
0048
0049
0050
0051
0052
0053
0054

nNne

LW Y

IV G COMPILER

(2o BE NI IS B LT O

i00

101

102

103

104

105

106

MATN 05=21=73 15:44,20 PAGE 0001

FORMAT(1F10.2)

FORMAT ( *OMEANS,MILLS,U,DU,DT")

FORMAT(TELS.3)

FORMAT('QOSD,MILLS,U,DU,DT")

FORMAT (*OSKEW,¥»ILLS,U,0U,DT")

FORMAT(1IE,3F15,.5)

FORMAT(1215)

FORMAT('IFURTHER STATISTICAL ANALYSIS SERIES 1)

WRITE(6,8)

FORMAT('1POWER SPECTRUM MILLS')
FORMAT ('IPOWER SPECTRUM U,DU,DT!")
FORMAT(15,4E15.3)

FORMAT(I5,3E15.3)

FORMAT('OKURTOSIS MILLS,U,DU,DT")
FORMAT ('1 COHERENCE FUNCTION MILLS')
FORMAT(15,6E15.3)

FORMAT (']

DIMENSION
DIMENSION
DIMENSICN
DIMENSION
DIMENSION
DIMENSICN
DIMENSIGN
DIMENSICN
DIMENSICN
DIMENSICN

READ(5,2)
REAC(5,1)

J=0

PHASE ANGLE MILLS')
R1(100),R2(100),R3(100)+R4(100),R5(100),RE6(100)
R7(100),R8(100),R9({100),RI0(100),211(100),R12(100)
PS1(100),PS2(100),PS3(100),PS4(100),PS5(100),PS6(100)
CS1(100),CS52(%00)1,CS3(200),CS4(%00),C$5(100),CS&(100)
FM1(1000),FM2(1600),FM3(1000) yFM4(1600)
U(1000),DU(5.0006),07(1000)
GL(100),62(100),G3(100),64(1C0),65(50),656(50),67(50)
XX1(100),XX2(100) .

PWFM1 (1000}, PWFM2(1000) ,PWFM3 (1000}, PWFM4 (1000)
PWU(1000) ,PWDU(1000),PWDT (1000)

FF

RUNT IM

REAGC(5,6)1+4,8,C

J=J+1

GO T0(161,102,103,104,105,106,4107,1C8,309,210,112),1

AL=A
B1=8B
C1=C
GO TC
A2=A
B2=8
c2=C
GO TO
A3=A
B3=8
€3=C
GO TO
A4=A
B4=B
C4=C
GO 10
A5=A
B5=8
C5=C
GG TO
A=A
Bo=B

100

100

SUPPROG
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FORTRAN IV G COMPILER

0001
0002
0003
0004
0005
0006
0007
ooge
onoe
0010
0011
0012
0013
0014

0015

0016
0017
0018
0019
0020
0021
0022
on23
0024
0025
0025
0027
0028
00ee
0030
0031
0032
0033
0034

0035

0036
0037
003E&
0039
0040
0041
0042
0043
0044
0045
0046
0047
0048
00¢e9
0050
0051
0052
D053
0nse
0055

U3 N e

FORMAT (12,

MATIN 0&~21-73 16:01.44

3F10.5)

FORMAT (1215)
FORMAT(SF12.3) _ .

FORMAT('1

WRITE(6,45)

DATA ANALYSIS")

FORMAT(2F10.3)

FORMAT (*MFAN COMPCNENTS WRT EXPT FRAME')
FORMAT('COWNWIND VECTOR!') .

FORMAT (' TAU,USTARyUDSHBR, VDSHBRy WOSHBR )
FCRMAT(*1AUTGCOV UDASH,VLASH,WDASH®)

FORMAT(IS,3E12.3)

FORMAT(*1AUTOCOR UDASH,VDASH,WDASH'")
FORMAT(*1ELEV,AZI ,WSPD,ML yML yUDASH,VDASH,WDASH,IC/ML")
FORMAT (*1XCOR UV,UW,VW') '

FORMATL(IS,
'FORMAT(8A4)

6E12.3)

FORMAT(2F10.3)
FORMAT(*ODT')
FORMAT(3F15.2) ¢
FORMAT(4F10.1) '
FORMAT(4F15.1)

FORMAT (']
FORMAT(']

AUTOCOV FM+TFM')
XCOR FMY1/TFML,FM2/TFM2')

FORMAT(I5,4E15.3)

DIMENSIQON
DIMENSION
DIMENSICN
CIMENSION
DIMENSTON
DIMENSTON
DIMENSION
DIMENSICN
DIMENSION
DIMENSION
DIMENSIQON
DIMENS ION
DIMENSION
RHO=1.293
PI=3,142
$1.=0.
$2=0.
$3=0.
UW=0.
UDSHBR=0.
VDSHBR=0.

CURR=3.CE~

X(1001,Y(100),2(100)

XX1(1000) 4 XX201000),XX3(1000),XX4(1000),XX5(1000)
XX6(1000)

DATIME(8)
R1(100),R2(100),R3(100),R4(200),R5(100),R&(100)
R7(100),R8(100),R9(100)

VDASH(1000) yUWDASH(21000),XXX{100),YYY(100),2221100)
DCWNU(1000),CRASSU(L000),VERTU(1000),UDASH(1000)
E(1000),A(1000),U(1000),FMI(1000),FM2(1000),DU(500)
X1(100),X2(10C),Y¥1(3100),Y2(100)
SINFI1(100),SINFIZ2(3:00),TFMI(L100C),TFN2(1000)
FFMI(1000),FFMM2(2000),FTFMI(100C0Q),FTFM2(1N00)
XP(100),YP(100),ZP(200)

07

EPSLON=8.854E~12

READ(5,17)

DATIME

WRITE(6,17) DATIME
WRITE(8.17) DATIME

READ(5,18)

RUNTIM,H

WRITE(E4,18) RUNTIM,H

READ(5,21%)

RKRIsRRR2,ALFAL,ALFAZ

WRITE(A,71) ROFILRPR2,ALFAT.ALFA?
ALFAL=ALFAL*PI/180.
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0056
0057
0058
0059
0060
0061
0062
0063
00564
0065
006¢&
0067
0068
0GsS
0070
0071
0072
0072
0074
0075
0076
o077
0078
oG67¢
0080
0081
008z
0083
0084
0685
0086
oos7
0088
0089
090
0091
0092
0as3
0094
0095
0096
0097
0098
0099
0100
0101
0102
0103
0104
0105
€106
0107
cioe
0109

NS 1N
A AN v

132

140

ALFA2=ALFA2%PI/180.
XMI1=RRRL*:COS(ALFAL)
YML=PRR1:=SIN(ALFAl)
XM2=RRR2%*COS(ALFA2)
YM2=PRR2*SIN(ALFA2)
READ(5,1)11,A1,B1,C1
READ(5,1)12,A2,B2,C2
READ(5,1)13,A3,R3,C3
READ(5,21)164,A4,B¢4,C4
READ(5,1)15,A5,85,(C5
READ(S5,1)16,A6,86,C6

J=966

K=500

N=0
READ(5,2YM,11,12,13,14,15,16,17,18,1¢,110,111
IF(M=-9999)231,3532,131

N=N+1

COMP=703./FLCAT(M)
11=IFIX(FLOAT(11)%CCMP)
I12=1FIX(FLOAT(I2)%CGMP)
I3=IFIX(FLOAT{13)%CCMP)
I4=IFIX(FLOAT(I4)=CCMP)
IS=IFIX{FLOAT(I5)%COMP)
16=IFIX(FLCAT{I6)*COMP)
I7=1FIX{FLOAT(17)*COMP)
18=1FIX(FLOAT(I18)%CCMP)
TO=IFIX{FLOAT(IQ)*CCMP)
TLO=IFIX({FLOAT(I10)=CGMP)
TIY=IFIX(FLOAT(ILI)*COMP)
E(J)=(AY=FLCAT(IS)+B1)*C1
E(J+1)=(A1*FLOAT(I11)+B1l)*ClL
ALJ)=(A2%FLCAT(I4)+R2)*%C2
A{J+1)=(A2%FLOAT(I10)+BZ)%(2
FMI(J)=(AZXFLCAT(I3)+B3)*(3
FML(J+1)=(A3%FLOAT(I9)+R3)*(C3
FM2(J)=(A4*FLOAT(I12)484)%C4
FM2(J+1)=(A4*FLOAT(IB8)+BRL)*C4
U(J}=(AS*FLOAT(I1)+B5)%C5
U(J+1)=(AS*FLOAT(17)+B5)*C5
DUIK)Y=(AEXFLOAT(I6)+BA)*CH
J=J=2

K=K=1} -
GO TO 130

J=J+2

K=K+1

NN=2%N

DO 140 JN=1,NN

E(IN)=E(J)

A(JN)=A(J)

FMI{JN)=FM1(J)
FM2(JIN)I=FM2( J)

ULJINI=U(J)

J=J+1

DO 141 KN=1,N

DU KN)=CU(K)

PAGE 0002



Dataset Limited

O W

FORTRAN

0111
0112
0113
0114
0115
0116
0117
0118
0119
0120
0121
0122
0123
0124
0125

0126
0127
0128
0129
0130
0131
0132
0133
0134

0135 -

D13é
0137
0138
0129
0140
0141
0142
0143
0144
0145
0l46
0147
0148
0149
0150

0151
Cl52
0153
0154
0i55
0156
0157
0158
0159
0160
0161
0162
0163

N LI;

- o

IV G COMPILER MAIN 08=21-73 16:Cl.44 PAGE 0003
141 K=K+1
L=NN/10
FNN=FLOAT(NN)
TMAX=NN

160

170

200
201

lag

150

DO 160 J=1,NN
DOWNU(J)=U(J)*(COS{A(J)I%PT/180.))
CROSSULII=ULJI*ISIN(ALII*PI/180.))
VERPTULU)=U(JI*(SIN(E(JI*PI/180.))
S1=S1+DCWNU(J)

$2=S2+CROSSULY)

$3=S3+VERTU(J)

S1=S1/FNN

$2=S2/FNN

S$3=S3/FNN

WRITE(6,8)

WRITE(A,7) S$1,52,S3
UBAR=SQRT(S1#%2+S2%%2)
AVECT=(180./P1)%(ATAN(S2/S1))
WRITE(6,9)

WRITE(6,7) UBAR,AVECT

DO 170 J=1,NN
UDASH{J)=(U(JI)*(COS((A(J)=AVECT)*(PI1/180.))))=URAR
UDSHBR=UDSHBR+UDASH (J)
VDASH{JI=(U(I)*(SIN((A{J)—AVECT)®(PI/180.1)))
VDSHBR=VDSHBR+VDASH(J)
UWDASH{J)=UDASH{J)*VERTU(J)
UW=UW+UWDASH( J)

UWBAR=UW/FNN

UDSHBR=UDSHBR /FNN

VDSHBR=VDSHBFR/FNN

TAU=~RHO*UWBAR

IF(UWBAR)200,200,201

UWRBAP==UWBAR

USTAR=SQFT(UWBAR)

WRITE(&,10)

WRITE(6,+3) TAU,USTAR,UDSHBR,VDShPR,S3
WRITE(S,14)

J=1

K=1

WRITE(693) E(J)yA(I)YULJI) yFNMI(J) 4 FM2(J) 4 UDASE(J) s VDASH(J),VERTULJ)

1,DU(K)

J=J+1 -
WRITE(6,3) E(J),A(I) U(J),FMI(J)FM2(J) yUCASKHF(J),VBASH(J),VERTU(J)
J=J+1

K=K+1 ‘

IF(N=K}150,149,149

CONTINUE

CALL AUTO(UDASH,NN,L,RY)

CALL AUTO{(VERTU.NN,L,4R2)

CALL AUTO(VDASHsNN,sL,sR3)

WRITE(6,11)
WRITE(6'12)(J,R1(J),RB(J),PZ(J),J=1,L)
PR1=RL1(1)

RRZ=R2(1)

KR3=R3 (1)
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0165
0166
0167
0168
0169
0170
0,71
0172
0173
G174
0175
0176
0177
0178
0179
0180
0181

gige.

0183
0184
0185
0186
0187

0188

oiss
0190
019}
0192
01393
0194
0ies
cl19é
0197
0198
0199
0200
0201
06202
0203
0204
0205
0206
0207
0208
0209
0210
0211
0212
0213
N2i4
0215
021¢
0217

N7 0

N b

0219

18¢

300

508

502

501

sl0
511
503

600

602

\n
8
ro
[
i
-J
L

DO 180 J=1,L
R1(J)1=R1(J)/RR]

R2(J)=R2(J)/RR2

R3(J)=R3(J)/RR3

WRITE(6,413)

WRITE(64512) (JyR1(J)yR3(J),R2(J),J=1,4L)
CALL CROSS(UDASH,VDASHsNNyL R4 ,R5)
CALL CROSS(UDASHyVERTUsNN,L RE,RT)
CALL CRCSS(VDASH,VERTUsNN,L R8,RS)

DO 300 J=1,L

R4(J)=R&(J)/SQRT(RR1*RR 2)

RS (J)=R5(J)/SQRT (RRI%RR3)

R6 (J)=R6(J)/SORT (RRI*RR2)
R7(J)=R7(J)/SORT{RR1*RR2)
R8(J)=RE(J)/SQRT(RR2*RR3)
R9(J)=RS(J)/SQRT(RR2¥RR3)

CONTINUE

WRITE(6,15)

WRITE(6916) (JyR41J)yR5(J)RE(I),RT(J)4RE(J) SRS (I, J=1,L)
DT=(RUNTIM%£0.)/FNN

WRITE(6419)

WRITE(&,7) DT

WRITE(8,7) DT

Q=CURR%DT

1=1

T=DT=(FLOAT(I))

FLDL1=0.

FLDL2=0.

Ti=}

JI=1=-11+1

TF{JJ)5C0,500,501
XCII)=U(JJI*FLCAT(IT)*DT*COS(A(JJ)*PI/180.)
YOID)=X{IT )R (TAN(A(JII=(PI/180.)))
ZOID)=H+{X(IT)*(TANCE(JJ)I=(PI/i80.))))
IF(Z(11)-0.2)510,510,511

Z(11)=0.2

IF(X(II)=50.)5C3,503,500

II=11+%

GO 70 502

CONTINUE

MM=TI+1

DO 600 J=2,MM

XXX(J)=X{J=1)

YYY(J)=Y(J=-1)

2Z22(J)=20(J=-1)

X(1)=0.

Y{1i1=0.

Z(1)=H

DO 602 J=2 .MM

X{J)=XXX(J)

Y(JI=YYY(J)

ZI(J)1=2712(J)

DO 2000 J=1,MM

N AVJ I —mA VA

YP(J)=Y(J)
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0220
0221
0222
0223
0224
0225
0226
0227
0228
0229
0230
0231
0232
0233
0234
0235
0236
0237
0238
0239
0240
0241
0242
0243
0244
G245
0246
0247
0248
0249
0250
0251
0252
0253
0254
025%
025¢&
0257
0258
0259
0250
0261
0262
0263
0264
0265
0266
0267
0268
0269
c27¢
D271
0272
5&T5

0274

2000

2002
2001
2002
2004
2006
2005
2010

1000
1001
1002
1003

506

1100

1101

P(J)=2(J)

DO 2010 J=1,MM

IF(YP(J)-10.)2001,2C01,2002

YP(J)=10.

IF(YP{J)+10.)2003,2003,2004
IF(ZP(J)=-20,12005,2005,2006

IP(J4)=20.

CONTINUE

CONTINUE

WRITE(B) T,.MMy (XP(J)yYPLI),ZP(J)}yd=1,MHM)

DO 601 J=1,11

X1 (J) =X+ (X (J+11=X(J))/2.)=XM1
X2{Jd)=X1(J)+XMi-XM2

YOI =Y () +((Y(J+1)=Y(J))/2.)=YM]
Y2(J)=Y1(J)+YMI-YM2

RICJI=SQRTIXL(J)#*x24+YL(J) *%2+2(J)**2)
R2(J)=SQRT(X2(J)%¥24Y2(J)#%2+2(J)%%2)
SINFI1(J)=2(Jd)/RY(J)

SINFIZ2(J)=204)/R2(J)

RL{J)=R1 (J)#*2

R21J)=RZ2(J)%%2

IF(R1(J)=1.)1000,100C,1001

R1(J)=1.

TF(R2(4)-1.)1002,1002,1003

R2(J)=1.
FLOUL=FLDLL+(Q=SINFIL(J)) /(2. 2PI*EPSLON%RY(J))
FLOLZ=FLDL2+(Q%SINFIZ2(J))/(2.%#PI*EPSLOM*RZ2(J))
CONTINUE

TFMYL(I)=FLDOLY

TFM2(I1)=FLDLZ

I=1+1

IF(I-IMAX)508,508,5G9

CONTINUE

NNI1=NN-=1

DO 1100 J=2,NN1 '
FFMLI(J)=0.25%FM1(J=~1)+0.5%FMI(J)+0.25%FM1(J+1)
FFM2(J)=0.25%FM2(J=3)+40.5%FM2(J)+0.25%FM2(J+1)
FTFMI(J)=0.25%TFML (J=1)40.5%TFMI(J)+0.25%TFM1{J+1)
FTIFM2(J)=0.25%TFM2(J=1)+0.5%TFEM2(J)+0.25%TFM2(J+1)
CONTINUE -
DO 1101 J=2,NN1 -
FMI({J)=FFM1(J)

FM2(J)=FFEM2(J)

TEML(J)=FTFMI(J)

TEM2(J)=FTFM2(J)

CONTINUE

CALL AUTO(FMI, NN,L,R1)

CALL AUTO(TFMI, NN,yL,R2)

CALL AUTG{FM2,NN,L,R3)

CALL AUTO(TFMZ NNyL,R&)

WRITE(5,23)

WRITE(6425) (JyRLI(JISRZ1I}4R3I(J),RA1I),I=1,L)

(2R o B R B T ¥
AR A e

RR2=R2(1)
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0275
0276
0277
0278
0279
0280
0281
0282
0283
0284
0285
0286
0287
0288
0289
0290
0291
0292
0293
0294
0295
0296
0297
0298
0299
0300
0301
0302
0303
0304
0305

0306 .

0307
0308
0309
0310
0311
0312
0313
0314
0315
0316
0317
0318
0319
0320

- 0321

0322
0323
Q0324
0325
0326
0327
0328
VEPA]

700

710

MATIN 05=23-73 16:01.44 PAGE G006

RR3=R3(1)
RR4=R4(1}

CALL

CRCSS(FM1,TFMY 4 NN,L,R5,R6)

CALL CROSS(FM2,TFM2 yNN,L,R74K8)
DO 700 J=1,L
R5(J)=R5(J)/SQRT{RR1%RRZ)
R6(J)Y=RE(J)/SQART(RRI*RRZ)
R7(J)I=RT{J)I/SQRT(RR3*RR4)
RB(J)=RB(J)/SQRT(RR3*RR4)
CONTINUE

WRITE(6,24)

WRITE(64,25) (JyRS(J)4RE(JIZRTIJ)I,RBLI),J=1,L)
DO 710 L=1,NN
XXL(L)=(FLOAT(L=1))*DT
FMMX1=1. :

DO 711 I=1,NN
IF(FML(I)-FMMX1)800,800,801
FMMXL=FMMXI=*1,1

GO TO 802

CONT INUE
IF{TFML(I)-FMMX1)8032,803,804
FMMXL=FMMX1i%1,1 '
GO TO 805

CONTINUE

CONTINUE

FMMX2=1.

DO 712 I=1,NN
IF(FM2(1)=-FMMX2)500,900,501
FMMX2=FMMX2%1,1

GO TO 902

CONTINUE
[F(TFM2(1)=FMMX21603,903,904
FMMX2=FMMX2%1.1

GO 7O 205

CONTINUE

CONTINUE

DO 713 I=1,NN

FML(T)=FML1 (I)/FMMX]
TFMI(I)=TFMI(1)/FMMX]1
FM2(I)=FM2 (1) /FMMX2
TFMZ2(1)=TFM2(T1)/FMMX2
AXLTH=(FNN*DT)/10.0
XP0S=0.5
XPOS2=XPOS+AXLTH+2.0
XPOS3=XP0OS+0.5

CALL
CALL
CAaLL
CALL
CALL
CALL
CALL
CALL
CALL

CALL

PLTXMX{150.)

PAXIS{XPOS,y0.5,'TIME (SEC)*',y-10,AXLTH,0.C,40.0,10.0,1.0)
PAXIS(XPDS,0.5,'ARB UNITS',6,10.0,90.0,0.0,40.1,1.0)
PSYMB(XPOS3,1.0,-0.1,0ATIME,0.0,32)
PLTOFS{0.0,10.0,0.0,40.1,XPCS,0.5)
PLINE(XX14FM14NNyX44,0,7.0)

PLINE(XXY,TFM1 yNNy1y4,1,1.0)

PAXIS{XPOS240.5,'TIME (SEC)',4~10,AXLTH,0.0,0.0,10.0,1.0)
PAXIS(XPNS2,0.,5,*4ARR UNITS', G, 3iC.C.20.0.0.0.0.7.71.01)

PLTOFS(0.0410.0%0.0,C.1,XP0S2,0.5)
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03230
0331
0332
0233
0234

CALL
CALL
CALL
STOP
END

MAIN 08=-21-173

PLINE(XX1,FM24NNyiy4,2,1.0)
PLINE(XX1,TFM2yNNy1,4,3,1.0)
PLTEND .

TOTAL MEMGRY REQUIREMENTS O1BCE4 BYTES

EXECUTION TERMINATED

Dataset Limited

16:

Ci.a4
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